4 Cutting ring couplings
\*\ to ISO 8434-1/DIN 2353

' Aleqgris
conr%m




Couplings to ISO 8434-1/DIN 2353 i

Applications

Couplings to ISO 8434-1/DIN 2353

With more than 50 years experience in the manufacture
of hydraulic fittings, Legris offers a comprehensive
range of high quality DIN couplings. The Legris range
of products and services meets most high pressure
requirements, combining both mobile (transport, public
works, agricultural equipment) and stationary applica-
tions (automotive process, chemical industry, steel
industry) enabling Legris to have high profile customers
in many fields of activity.

The Legris approach to product design and manufac-
ture incorporates total quality control. This policy of
high quality results in product homologations that
comply with international standards (DIN 3859-3) and
certifications from the largest official organizations.

By actively listening to its customers, Legris offers
solutions that meet the end users’ requirements through
continuous product development and innovation.
Thus, the DiNova ring, launched in 2004, provides safe
connection and long lasting sealing on installations
resulting in clean equipment and safe working environ-
m ments. Furthermore, the Dinova connection technology
is protected by several international patents.

Principle
Couplings to ISO 8434-1/DIN 2353 comprise a body, a cutting ring and a tightening nut.

Body Cutting ring Nut Tube

AL 5 =

':r—LLJt




E%‘ Couplings to 1ISO 8434-1/DIN 2353

Principal advantages

A wide range of products offering solutions for all applications with :

- couplings with 24° sealing cone and O-ring : for guaranteed optimum sealing on high pressure
applications, allowing simple and repetitive assembly without loss of sealing performance since, if
necessary, the O-ring seal can be easily replaced.

- couplings with assembled cutting ring : for extreme conditions of use at high temperatures or with
aggressive fluids

- weld couplings : for the most severe hydraulic applications (whip-lash, excessive vibration...).

- 24°/37° bulkhead couplings : for a direct switch from cutting ring technology to 37° design.

DiNova ring

I T—

Standard ring

Body

?

Adaptor (—)

D " .

Hose end connector
— Flexible hose

|
q




Couplings to ISO 8434-1/DIN 2353 i

& S
Principal advantages

"Elbows and tees" solutions suitable for use in restricted space

e adjustable couplings : designed for medium and high pressures

e adjustable couplings with lock-nut : the best compromise for use in reduced
spaces and for resistance to low and medium pressures.

e banjos : characterized by their compactness.
m 3 models depending on the working pressure and pressure loss:

- standard pressure: Pb maxi = 250 bar
- high pressure : Pb maxi = 400 bar

- full flow : low pressure drop is guaranteed

Easy installation :
the method of installing the Legris DIN range is well suited for series production (using a pre crimping
machine), maintenance operations or individual unit assembly (direct manual installation).

Resistance to high nominal pressures :
DIN couplings are an optimized solution for different working pressures. 3 series of couplings (LL, L and S)
are offered :

- LL for low pressures (up to 100 bar) and 4 to 12 mm o.d. tube.
Example: lubrication, braking systems.
- L for medium pressures (up to 400 bar) and 6 to 42 mm o.d. tube.
Example: machine tools, agricultural equipment.
- S for high pressures (up to 630 bar) and 6 to 38 mm o.d. tube.
Example: hydraulic presses, public works equipment
In addition, three cutting ring designs are available, offering maximum performance dependant upon the
constraints of each specific installation.




Blegris Couplings to ISO 8434-1/DIN 2353

Cutting rings

The DiNova ring

Designed to ensure total safety and long lasting sealing, the DiNova cutting ring
guarantees clean equipment and safe working conditions. This solution reduces
maintenance operations and is designed for all mobile and stationary applications
when used with couplings series L and S.

e Metal/metal sealing reinforced by 2 PTFE seals : the geometry of the seal cavity
prevents distortion and guarantees resistance to vibration. Protection of the seal is
ensured throughout assembly - it will not compress until final crimping has been
achieved (Legris patent). The PTFE seal material allows repeated assembly
without any deterioration in performance over time. It is resistant to most
aggressive fluids and to a wide range of temperatures (-40°c to +200°c).

e Reliable and easy assembly : a mechanical stop clearly indicates the crimp
position and avoids the risk of insufficient tightening or over-tightening.

e Safe connection : three bites ensure more precise assembly and less tube
distortion, thus reinforcing the safety of connection, even in extreme conditions
of use. The DiNova ring guarantees resistance to strong vibrations, thanks to an
increased area of interface with the tube upon tightening and the seal position
within the assembly.

The double-bite cutting ring

The double-bite ring constitutes an excellent solution for numerous hydraulic
applications and can be used with coupling series L and S.

- Easy assembly and excellent sealing performance.
- The geometry of the ring prevents distortion of the tube, if overtightened.

- Thermal treatment guarantees resistance to vibrations and to shocks and
enables repeated assembly without replacing the cutting ring.

The single-bite cutting ring

The single-bite cutting ring is suitable for coupling series LL. Its low tightening
torque enables easy use and prevents distortion of the tube.




Couplings to ISO 8434-1/DIN 2353

the product offer
rings, nuts

8124 8224 8324

single-bite double-bite DiNova
% % %

male stud couplings

8010

Alegris
@

8211 8221 8201 8205
elastomer O-ring sealmg taper
seal seal bite
E EEl

tube-tube coupllngs
8206 8206 8202 8204 8204 8207 8216 8212
straight straight reducer equal elbows equal tees reducer tee equal crosses bulkhead straight bulkhead equal
couplings couplings couplings ’ couplings elbows
Cy Yy Yo Yol I
E E 4 2 8] O

adjustable couplings

with 24° sealing cone and O-ring with pre-assembled ring
8272 82170 8274 8273 8246 8247 8248
elbows 45° elbows tees run tees elbows tees run tees

6 O El

with threaded fitting, 24° cone and O-ring with threaded fitting, 24° cone and sealing edge
8272 8274 8273 8246 8247 8248

elbows tees run tees elbows tees run tees
2]%] (545 5

With O-ring and lock nut

8251 8255 8257

elbows tees run tees

/\i !i / ﬁ\'\if ‘

6 65

banjo couplings

8218 8228 8238 8229 8239

banjo high pressure  chock-free high pressure dou- chock-free double

couplings banjo couplings banjo couplings ble banjo couplings banjo couplings




HAllegris
@
the product offer

non adjustable couplings
8209 8299 8208

taper elbows parallel elbows tees

7 G

80 81
square head flange couplings
square

8625 8626

straight couplings elbows

< &

e

E Cs

butt weld couplings

8020 8231 8232
nipples straight elbows
couplings

~ §
9]

adaptors

with 24° sealing cone and O-ring
8501 8276 8566
adjustable male standpipe reducer
couplings reducers adaptors

Ty

Couplings to 1ISO 8434-1/DIN 2353

8203

run tees

BE

SAE 3000 psi
8621 8622

straight couplings elbows

)

8233

bulkhead straight
weld couplings

i

8506

adjustable
straight couplings

& @
5]

SAE 6000 psi
8623 8624

straight couplings elbows

& fp
7] 87|

with pre-assembled ring

8242 8241 8245 8240
ad]ustable male adjustable male adjustable male reducer
with seal with sealing bite taper adaptors

iis‘@%

24°/37° (DIN 3949)

8430 8431 8432 8434
nuts flare sleeves intermediate complete
cones adaptors
W 9 & Wy
106} 106} 106 107
(ISO 8434-1)/BSP 60°
8260 8261

stud adaptor with  stud adaptor
pre-assembled ring




Couplings to ISO 8434-1/DIN 2353

the product offer

M/F reducers/increasers and female thread adaptors

8075 8078 8079 8065 8068 8069
reducer with reducer with increaser with  reducer with reducer with increaser with
seal seal seal sealing bite sealing bite sealing bite
> 9 9 & S
w »' n n
standpipe couplings for pressure gauge connection

8234 8514 8244

standpipe adjustable stand- female thread

couplings pipe couplings  adaptors

'R,

plugs
8023 8022 8026 8025
plugs with plugs with plugs for plugs for
O-ring elastomer seal 24° cone tubes
E 120 121
component parts
8voo 8027 8Wo00 8wo1 8Wo2 8wWo3
lock nuts ferrules O-rings captive seals seal rings composite seals

Yy & O O O

Alegris
@

8214

female thread
adaptors




Blears ~ Couplings to ISO 8434-1/DIN 2353

Find easily the DIN product that you require

Body only

Assembled couplings
equipped with different rings

Product pictures and technical drawings

Bllegris

connectic

Raccords se

Product description Coudes orientables

BSP cylindrique
Type of thread joint élastomeére
ISO 1179-2

& &) & |
H corps bague bague :
Nominal pressure PN @D C o P A Bell code E FI*F2 F3 G L1 L2 L3 S'WZ
6 GI8 8072006 10 827200610 837200610 Z514/1-29/L6RD-DM 8 12 14 14 139 27 12 345 0,060 m

8 Gl/4 A72L00 13 §2720813  £372008 13 ZS14/1.29/L8RD.DM 12 14 19 17 189 29 14 315 0,080
400 10 G114 2072010 13 827201013 837201013 2S14/1-29/L10RD-DM 12 17 19 19 189 30 15 40 0,090
12 Gi8 807201217 827201217 837201210 7S14/1-29/L12RD-DM 12 19 22 22 219 32 17 42 0,130

Sel‘ies L 15_Gl2 S072L15 2 A5 21 837211521 7514/1-29/L15RD-DM 1419 27 27 269 36 21 46,5 0,230
315 18 G2 807201821 8Z72L1821 B372L1821 Z514/1-29/L18RD-DM 14 24 27 32 269 40 235 50 0290

2 G4 807202227 877212271 §3721227) 2514/1-29/L22RD-DM 16 27 32 36 319 44 275 55 0410

28 G1 3072026 34 827212834 B372L28 34 Z514/1-29/L28RD-DM 1836 41 41 399 47 305 59 0580

250 35 G1"1/4 8073547 6223543 BITAI5AT ZS14/1-20/L35RD-DM 20 41 60 50 499 56 345 685 0890

42 G112 807214249 B2IN4249 837214749 7514/1-29/142RD-DM 22 50 655 60 549 63 40 75 1230

6 Gl/4 8072506 13 8272506 13 8372304 13 Z514/1-29/S6RD-DM 12_14 19 17 188 31 16 40 009

8 G4 8072508 13 8272508 13 8372508 13 ZS14/1-29/SBRD-DM 1217 19 19 189 32 17 425 0,112

H 630 _10 G3/8 8072810 17 B272510 17 837261017 Z514/1-29/S10RD-DM 12 19 22 22 219 34 175 45 0,166

12 Gi8 8072812 17 827261217 837251217 ZS14/1-29/612RD-DM 12 22 22 24 219 38 215 48 0197

Series S 14 G2 207261421 627261421 231261421 2514/1-29/S14RD-DM 14 19 27 27 269 40 22 54 0290

16 G112 07251621 827261621 837261621 7514/1-29/S16RD-DM 14 24 27 30 269 43 245 55 0338
400-2 G3/4 807282027 827262027 §37252027 2S14/1-29/S20RD-DM 16 27 32 36 319 48 265 65 0545
%G1 807252534 827252534 837252534 7S14/1-29/S25RD-DM 18 36 41 46 399 54 30 73 0,098
30 G1"1/4 307253047 827253042 837253042 7S14/1-29/S30RD-DM 20 41 50 50 499 62 355 785 1397
315 3 G112 072538 49 772530 40 253049 7514/1-20/S38RD-DM 22 50 65 60 549 72 41 89 2,000

* @D 6 a 12 mm en acier profilé

o.d. Dimensions
of tube
Thread Bell part numbers Weight

Legris part numbers




Couplings to ISO 8434-1/DIN 2353

Cutting rings

Alegris
@

S 9

fZ)Dfm

L1
||

@Dfﬁ

L1

ool
L2

A
PN @D C s'"?i'.f;,b'te Bell code D“"Z';:""e Bellcode L1 D'r'i“n°g"a Bell code L2
4 Mex 8124E04 00 15-31/LL4 6§ 0001
5 M10x1 81240500 15-31/LL5 7 0001
6  MI0x1  8124E0600 15-31/LL6 7 0,001
LL 100 — o a8 00 1531018 7 0,001
10 M4 8124E1000 1531/LL10 7 0,001
12 M16x1_ 8124E1200 1531/LL12 75 0,002
6 Mi2x15 8224106 00 07-31/L6 95 0,002 8324L0600 06-36/L6 97 0002
8 M5 82240800 07-31/L8 10 0,003 8324L0800 06-36/L8 102 0003
400 10 M16x15 822411000 07-31/L10 105 0,004  8324L1000 0636/L10 10,6 0,004
12 M85 822411200 07-31/L12 105 0,005  8324L1200 0636/L12 106 0,004
L 15 M22x15 822411500 07-31/L15 105 0,006 8324L1500 0636/L15 108 0,006
315 18 26«15 822411800 07-31/L18 105 0,007 8324L1800 0636/L18 11,1 0,007
m 2 M3 822012200 07-31/L22 11 0009 83242200 0636/L22 123 0,010
28 M36x2 822412800 07-31/L28 11 0012 83242800 0636/L28 121 0,011
250 35 M52 822413500 07-31/35 135 0,021 832413500 06-36/L35 143 0,021
2 M52 822414200 07-31/L42 135 0,024 83244200 0636/L42 143 0,028
6 Mixi5 8224106 00 07-31/L6 95 0,002 8324L0600 06-36/L6 97 0,002
8 MI6x15 82240800 07-31/L8 10 00038  8324L08 00 06-36/L8 102 0,003
630 10 M85 822411000 07-31/L10 105 0,004  8324L1000 0636/L10 10,6 0,004
12 M20x15 822411200 07-31/L12 105 0005 83241200 0636/L12 106 0,04
S 14 M22x15 822451400 07-31/S14 105 0,006 832451400 06-36/S14 10,8 0,005
16 M24x15 822451600 07-31/S16 105 0,007 832451600 06-36/S16 11 0,06
400 2 M3 822452000 07-31/S20 13 0012 832452000 06-36/S20 136 0,012
% M6 822452500 07-31/S25 135 0016 832452500 06-36/S25 146 0,017
0 M 822453000 07-31/S30 135 0,020 832453000 06-36/S30 146 0,020
315 38 M52 822453800 07-31/S38 135 0,023 832453800 06-36/S38 __ 151 _ 0,028

The DiNova ring guarantees:

e reliable and easy assembly
e safe connection

e long lasting sealing for safe, clean equipment




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Nuts i
Q)DL c
‘<—>H |
PN @D c & Bell code F H
4 Msxi 8010E04 00 15-30/LL4 10 11 0,004
5  M10x1 8010E05 00 15-30/LL5 12 115 0,006
6  M10x1 8010E06 00 15-30/LL6 12 115 0,006
LL 100 8 M1 8010E08 00 15-30/LL8 14 12 0,007
10 M4x1 8010E10 00 15-30/LL10 17 125 0,011
12 Mi6x1 8010E12 00 15-30/LL12 19 13 0,012
6  M2x15  8010L06 00 15-30/L6 14 145 0,010
8  M14x15  8010L0800 15-30/L8 17 145 0,015
400 10  M16x15  8010L10 00 15-30/L10 19 155 0,018
12 M18x15 801001200 15-30/L12 22 155 0,024
L 15  M22x15  8010L1500 15-30/L15 27 17 0,041
31518 M26x15  8010L18 00 15-30/L18 32 18 0,058
22 M30x2 8010L22 00 15-30/L22 36 20 0,079
28 M36x2 8010L28 00 15-30/L28 4 21 0,089
250 35  M45x2 8010L35 00 15-30/L35 50 24 0,138
42  Ms52x2 8010L42 00 15-30/L42 60 24 0216
6  M14x15 8010506 00 15-30/S6 17 165 0,016
8  M16x15 801050800 15-30/S8 19 165 0,019
630 10  M18x15 801051000 15-30/S10 22 175 0,030
12 M20x15 801081200 15-30/S12 24 175 0,035
S 14 M22x15 801051400 15-30/S14 27 205 0,050
16 M24x15 8010516 00 15-30/S16 30 205 0,064
40020 M30x2 8010520 00 15-30/S20 36 24 0,100
25 M36x2 8010825 00 15-30/S25 46 27 0,199
30 Max2 8010830 00 15-30/S30 50 29 0,223
315 38  M52x2 8010838 00 15-30/S38 60 325 0310




Couplings to ISO 8434-1/DIN 2353

Male stud couplings

BSP parallel F2
elastomer seal Floo—
ISO 1179-2

L1

L2

A A A
PN 6D C ‘;‘:I‘I"‘,' "°“‘r’i':!;""° D'r'i“n°g"a Bell code E F1 F2 G L1 L2
6 G1/8 8011L06 10  8211L06 10  8311L06 10 ZS15-01/L6RD 8 14 14 139 23 85 0,025
6 G1/4 8011L06 13  8211L06 13  8311L06 13 ZS15-01/L6RD1/4" 12 19 14 189 245 10 0,040
8 G1/8 8011L08 10  8211L08 10 8311L08 10 ZS15-01/L8RD1/8" 8 14 17 139 245 95 0,033
8 Gl/4 8011L08 13 8211L08 13 8311L08 13 ZS15-01/L8RD 12 19 17 189 25 10 0,045
8 G3/8 8011L08 17 8211L08 17 8311L08 17 ZS15-01/L8RD3/8" 12 22 17 219 271 15 0,061
8 G172 8011008 21 8211L08 21 8311L08 21 ZS15-01/L8RD1/2" 14 27 17 269 26 12 0,070
10 G1/4 8011L10 13 8211L10 13 8311L10 13 ZS15-01/L10RD 12 19 19 189 26 11 0,047
400 10 G3/8 8011L1017 8211L1017 8311L1017 ZS15-01/L10RD3/8" 12 22 19 219 275 125 0,067
10 G1/2 8011L1021 8211L1021 8311L1021 2ZS15-01/L10RD1/2" 14 27 19 269 27513 0,094
12 Gl/4 801111213 8211L1213 8311L1213 ZS15-01/L12RD1/4" 12 19 22 189 255 11 0,057
12 G3/8 801111217 821111217 8311L1217 ZS15-01/L12RD 12 22 22 2119 27 125 0,069
12 G1/2 801111221 8211L1221 8311L1221 ZS15-01/L12RD1/2" 14 27 22 269 27513 0,106
L 12 G3/4 801111227 8211L1227 8311L1227 ZS15-01/L12RD3/4" 16 32 22 319 285 14 0,120
15 G3/8 8011L1517 8211L1517 8311L1517 ZS15-01/L15RD3/8" 12 22 27 219 285 135 0,097
m 15 G1/2 8011L1521 8211L1521 8311L1521 ZS15-01/L15RD 14 27 27 269 29 14 0115
15 G3/4 8011L15 27 8211L1527  8311L15 27 Z7S15-01/L15RD3/4" 1632 27 319 30 15 0,167
18 G1/2 8011L1821 8211L1821 8311L1821 ZS15-01/L18RD 14 27 32 269 31 145 0,129
18 G3/4 8011L1827 8211L1827 8311L1827 ZS15-01/L18RD3/4" 16 32 32 319 33 145 0,180
315 22 G1/2 801102221 821112221 8311L22 21 ZS15-01/L22RD1/2" 14 32 36 269 325 165 0,220
22 G3/4 801112227 8211L2227 8311L2227 ZS15-01/L22RD 1632 36 319 335165 0,176
22 G1 8011122 34 8211L22 34 8311L22 34 ZS15-01/L22RD1" 18 41 36 399 34 175 0,283
28 G3/4 8011028 27 8211L28 27 8311L28 27 ZS15-01/L28RD3/4" 16 41 41 319 34 175 0251
28 G1"1/4  8011L2834 8211L.2834 8311L28 34 ZS15-01/L28RD 18 41 41 399 34 175 0247
250 _28 G1"1/4  8011L2842 821112842 8311L2842 ZS15-01/L28RD1 1/4" 20 50 41 499 35 185 0,260
35 G1 8011L3534 8211L3534 8311L3534 ZS15-01/L35RD1" 18 50 50 399 39 175 0,400
35 G1"1/4  8011L3542 8211L3542 8311L3542 ZS15-01/L35RD 20 50 50 499 39 175 0,407
42 G1"1/2 801114249 821114249 8311142 49 7ZS15-01/L42RD 22 55 60 549 42 19 0,456
6 G1/4 8011506 13 8211506 13 8311506 13 ZS15-01/S6RD 12 19 17 189 28 13 0,050
8 G1/4 8011508 13 8211508 13 8311508 13 ZS15-01/S8RD 2 19 19 189 30 15 0,055
8 G3/8 8011508 17 8211508 17 8311508 17 ZS15-01/S8RD3/8" 1222 19 219 305 155 0,070
10 G1 8011510 13 8211510 13 8311510 13 ZS15-01/S10RD1/4" 1219 22 189 305 145 0,078
630 10 G3/8 801151017 821181017 831151017 ZS15-01/S10RD 12 22 2 219 31 15 0,082
10 G1/2 801151021 821181021 831151021 ZS15-01/S10RD1/2" 14 27 22 269 335 175 0,090
12 Gl/4 801151213 82111213 831151213 ZS15-01/S12RD1/4" 12 22 24 189 325 165 0,09
12 G3/8 801151217 821181217 8311S12 17 _ZS15-01/S12RD 12 22 24 219 33 17 0,095
12 G112 801151221 821181221 831151221 ZS15-01/S12RD1/2" 14 27 24 269 335 175 0,135
14 G1/2 801151421 821181421 831151421 ZS15-01/S14RD 14 27 27 269 37 19 0,148
S 16 G3/8 8011516 17 821181617 8311516 17 ZS15-01/S16RD3/8" 12 24 30 219 36518 0,146
16 G1/2 801151621 821151621 831151621 ZS15-01/S16RD 14 27 30 269 37 185 0,154
16 G3/4 801151627 82111627 831151627 ZS15-01/S16RD3/4" 16 32 30 319 39 205 0,22
20 G1/2 8011520 21 821152021 831152021 ZS15-01/S20RD1/2" 14 32 36 269 42 205 0,205
400 2 G3/4 8011520 27 8211520 27 8311520 27 ZS15-01/S20RD 1632 36 319 42 205 0,253
20 G1 8011520 34 8211520 34 8311520 34 7S15-01/S20RD1" 18 41 36 399 44 225 0270
25 G3/4 801152527 821152527 831152527 ZS15-01/S25RD3/4" 16 41 46 319 47 23 0378
25 G1 801152534 821152534 8311525 34 ZS15-01/S25RD 18 41 46 399 47 23 0465
30 G1 8011530 34 821153034 8311530 34 ZS15-01/S30RD1" 18 46 50 399 50 235 0583
30 G1"1/4 801153042 8211S3042 8311530 42 ZS15-01/S30RD 20 50 50 499 50 235 0,644
1 38 G1"1/4 801153842 821153842 831153842 ZS15-01/S38RD1 1/4" 20 55 60 499 57 26 0,880
315 38 G1"1/2 801153849 821153849 831153849 ZS15-01/S38RD 22 55 60 549 57 26 0,889




- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

L] @D
Male stud couplings pony
metric parallel F2
elastomer seal A ¥ H
ISO 9974-2
g
C
G .
A & &
PN G0 C m‘,’ "““‘r’i':!;""e D'r'i"n°g"a Bell code E F1 F2 G L1 L2
6 M10x1 _ 8011L0660 8211L0660 8311L06 60 ZS15-01/L6MD 8 14 14 139 23 85 0025
8 M10x1___ 8011L0860 8211L0860 8311L08 60 ZS15-01/L8MD10X1 8 14 17 139 24 95 0,040
8 Mi2x15 8011L0867 8211L0867 8311L0867 Z515-01/LSMD 1217 17 169 25 10 0,040
8 M1dx15 8011L08 71 8211L08 71 8311L08 71 ZS15-01/L8MD14X1,5 1219 17 189 25 10 0,048
8 Mi6x15  8011L0875 8211L0875 8311L08 75 Z515-01/L8MD16X1,5 1222 17 219 265 115 0,060
8 M18x15  8011L0878 8211L0878 8311L08 78 ZS15-01/L8MD18X1,5 1224 17 239 265 115 0070
10 _M12x15  8011L1067 8211L1067 8311L10 67 ZS15-01/L10MD12X1,5 1217 19 169 26 11 0,047
10 M14x15  8011L10 71 8211L1071 8311L1071 ZS15-01/L10MD 1219 19 189 26 11 0,047
400 10 MIG15  8011L1075 82111075 83111075 Z515-01/L1OMDIEX15 1222 19 219 275 125 0,066
10 M18x15  8011L1078 8211L1078 8311L1078 ZS15-01/L10MD18X1,5 12 24 19 239 275 125 0075
10 M22x15__ 8011L1082 8211L1082 83111082 Z515-01/L10MD22X1,5 1427 19 269 29 14 0,106
12 M14x15  8011L1271 8211L1271 83111271 ZS15-01/L12MD14X1,5 1219 22 189 27 125 0064
L 12 M16x15 801111275 8211L1275 83111275 Z515-01/L12MD 12 22 22 219 27 125 0063
12 M18x15  8011L1278 8211L1278 83111278 ZS15-01/L12MD18X1,5 12 24 22 239 27 125 0080
12 M22x15 801111282 8211L1282 83111282 ZS15-01/L12MD22X1,5 1427 22 269 285 14 0,110 m
15_M16x15__ 8011L1575 8211L1575_ 8311L15 75 ZS15-01/L15MD16X1,5 1224 27 219 29 135 0,090
15_M18x15 _ 8011L1578 8211L1578 8311L1578 ZS15-01/L15MD 1224 27 239 29 135 0,095
15_M22x15__ 8011L1582 8211L1582  8311L15 82 ZS15-01/L15MD22X1,5 1427 27 269 305 15 0,124
18_M18x15__ 8011L1878 82111878 8311L18 78 ZS15-01/L18MD18X1,5 1227 32 239 31 145 0,120
31518 M2x15 80111882 82111882 31111882 Z516-01/L18MD 1427 32 269 31 145 0,129
22 M22x15 80112282 821112282 831112282 Z515-01/L22MD22X1,5 14 32 36 269 33 165 0,170
22 M26x15 801112289 821112289 831112289 ZS15-01/L22MD 16 32 36 319 33 165 0,176
28 M33x2___ 80112891 821112891 8311L28 91 ZS15-01/L28MD 1841 41 399 34 175 0247
250 35 M42x2 801113596 821113596 831113596 ZS15-01/L35MD 20 50 50 499 39 175 0407
42 MA4sx2 801114293 821114298 831114298 Z515-01/L42MD 22 55 60 549 42 19 0,456
6 M12x15__ 8011506 67 8211506 67 8311506 67 ZS15-01/S6MD 1217 17 169 28 13 0,045
8 M14x15 801150871 821150871 8311508 71 ZS15-01/S8MD 1219 19 189 30 15 0055
630 10 M16x15 801151075 821151075 831151075 ZS15-01/S10MD 1222 22 219 31 15 0,082
12 M18x15 801151278 821151278 831151278 Z515-01/S12MD 12 24 24 239 33 17 0105
14_M20x15__ 801151480 8211514 80 8311514 80 _Z515-01/S14MD 1427 27 259 37 19 0,148
S 16_M22x15 801151682 821151682 831151682 Z515-01/S16MD 1427 30 269 37 185 0,154
4002 M22 801152086 821152086 831152086 ZS15-01/S20MD 1632 36 319 42 205 0253
25 M33x2 801152591 821152591 831152591 ZS15-01/S25MD 18 41 46 399 47 23 0465
30 Md42x2 8011530 96 821153096 8311530 96 ZS15-01/S30MD 20 50 50 499 50 235 0,644
315 38 M48x2 801153898 821153898 831153898 Z515-01/S38MD 22 55 60 549 57 26 0,889
Bell code ;
These part numbers are provided as a general guide j Be" COde

and correspond to double-bite ring models.

ZS 15-01/L6MD




Alegris
@

Male stud couplings
metric parallel

O-ring

ISO 6149

& & &
PN ©D C 'f):’l:’;' D"“:’i':!;"“e D'r'i"n°g"a Bell code E F1 F2 G oOrng L1 L2
6 M10X1  8021L06 60 8221L06 60 8321L06 60 ZS15-01/L6MO 85 14 14 138 81x1,6 23 85 0,025
8 M12X15 8021L08 67 8221L08 67 8321L08 67 ZS15-01/L8MO 1117 17 168 93x2,2 245 10 0,039
400 10 M14X15 8021L1071 8221L1071 8321L10 71  ZS15-01/L10MO 1119 19 188 11,3x2,2 255 11 0,046
12 M16X15 802111275 8221L1275 8321L1275 ZS15-01/L12MO 15 22 22 218 133x22 27 125 0,063
L 15 M18X15 8021L1578 8221L1578 8321L1578 ZS15-01/L15MO 125 24 27 238 153x2,2 285 135 0,095
31518 _M22X15 802111882 82211882 832111882 281501/L18MO 1327 32 268 19,3x2,2 305 145 0,129
22 M27X2* 802112286 8221L22 86 8321122 86 ZS15-01/L22MO 1632 36 318 236x29 325 165 0,176
28 M33X2 802112891 8221L2891 832128 91 ZS15-01/L28MO 16 41 41 408 296x2,9 34 175 0,247
250 35 M42X2  8021L3596 822113596 8321L3596 ZS15-01/L35MO 16 50 50 49,8 386x2,9 39 175 0407
42 M48X2 802114298 8221L4298 8321142 98 ZS15-01/L42MO 175 55 60 54,8 446x2,9 415 19 0456
6 M12X15 8021506 67 8221506 67 8321506 67 ZS15-01/S6MO 1117 17 168 93x22 275 13 0,045
8 M14X15 802150871 822150871 832150871 ZS15-01/S8MO 1119 19 188 11,3x2,2 295 15 0,055
m 630 10 M16X15 802181075 822151075 832151075 ZS15-01/S10MO 125 22 22 218 133x22 31 15 0,082
12 M18X15 802151278 822151278 832151278 ZS15-01/$12MO 14 24 24 238 153x22 33 17 0,105
S 14 M20X15 802151480 822151480 8321514 80 ZS15-01/$14MO 14 27 27 268 17,3%2,2 365 19 0,148
16 M22X15 802151682 822151682 832151682 ZS15-01/S16MO 15 27 30 268 193x2,2 36 185 0,154
40020 M21X2 802152086 822152086 832152086 2515-01/S20MO 185 32 36 31,8 236x29 42 205 0,253
25 M33X2 802152591 822152591 832152591 2815-01/S25MO 185 41 46 408 296x2,9 47 23 0465
30 M42X2 802153096 822153096 8321530 96 ZS15-01/S30MO 19 50 50 488 386x2,9 50 235 0,644
315 38 M48X2 802153898 822153898 832153898 ZS15-01/S38MO 215 55 60 548 446x29 565 26 0,889

* according to DIN 3852 part 3 = M26x1.5



.y, =
~ Couplings to ISO 8434-1/DIN 2353

HAlegris
@

Male stud couplings

UN/UNF
O-ring
1ISO 11926-2/3

A A A

PN ©D C Body  Doublerite  Dillova Bell code E F1 F2 G L1 L2 Oding
6 771620UNF 8021L06 103 822106 103 8321L06 103 ZS15:01/L6-7/16°20UNF 9 17 14 16 23 85 B892x183 0030
6 O/16"-18UNF 8021L06 105 822106 105 8321L06 105 ZS15-01/L6-9/16-18UNF 10 19 14 176 25 10 1189198 0037
8 7/1620UNF 8021L08 103 822108 103 8321L08 103 ZS1501/L87/16°20UNF 9 17 17 16 25 10  892x183 0032
8 1Z'20UNF 8021L08 104 8221L08 104 8321L08 104 ZS15:01/L8-1/220UNF 9 17 17 17 25 10 1052183 0035

©o

9/16".18UNF 8021L08 105 8221L08 105 8321L08 105 ZS15-01/L8-9/16"-18UNF 10 19 17 176 25 10  11,89x198 0,030

10 7/16"-20UNF 8021110 103 8221L10 103 8321L10 103 ZS815-01/L10-7/16"-20UNF 9 17 19 16 26 11  892x183 0,040

400 10 9/16".18UNF 8021L10 105 8221010 105 8321010105 ZS15-01/L10-9/16"18UNF 10 19 19 176 26 11  11,89x1,98 0,046

10 3/4"16UNF 8021L10 107 8221L10 107 8321L10107 ZS15-01/L10-3/4"16UNF 11 24 19 223 28 13  16,36x2,2 0,060

12 9/16"-18UNF 8021112105 8221L12105 8321L12105 ZS815-01/L12-9/16"18UNF 10 19 22 176 26 11  11,89x1,98 0,050

12 3/4"16UNF 8021112107 8221112107 8321112107 ZS15-01/L12-3/4"16UNF 11 24 22 223 28 13 16,36x22 0,070

12 7/8"14UNF 8021112108 8221L12108 8321012108 ZS815-01/L12-7/8"-14UNF 12,7 27 22 255 29 143 19,18x2,46 0,075

L 15 3/4"16UNF 8021115107 8221L15107 8321L15107 ZS815-01/L15-3/4"16UNF 11 24 27 223 29 14  1636x22 0,095
15 7/8"14UNF  8021L15 108 8221L15108 8321L15108 ZS815-01/L15-7/8"-14UNF 125 27 27 255 305 155 19,18x2,46 0,090

18 3/4"16UNF 8021118 107 8221L18 107 8321L18 107 ZS15-01/L18-3/4"16UNF 11 27 32 223 31 145 1636x22 0,125 m

18 7/8"14UNF 8021118 108 8221L18 108 8321018 108 ZS15-01/L18-7/8"-14UNF 12,7 27 32 255 31 148 19,18x2,46 0,132

315 22 7/8"14UNF 8021L22 108 8221L22108 8321L22108 ZS15-01/L22-7/8"-14UNF 127 32 36 255 33 168 19,18x246 0,172

22 11/16".12UN 8021L22 153 8221122 153 8321122 153 ZS15-01/L22-11/16"12UN_15 32 36 319 33 165 23,47x2,95 0,185

22 15/16".12UN 8021L22 157 8221122 157 8321122 157 ZS15-01/L22-15/16"12UN_15 41 36 382 34 175 29,74x2,95 0,235

28 11/16".12UN 8021L28 153 8221128 153 8321128 153 ZS15-01/L28-11/16"12UN 15 41 41 319 34 175 2347x2,95 0,242

28 15/16".12UN 8021L28 157 8221128 157 8321128 157 ZS15-01/L28-15/16™12UN_15 41 41 382 34 175 29,74x2,95 0,250

250 35 15/16"12UN 8021135 157 8221135 157 8321135157 ZS15-01/L35-15/16"12UN 15 46 50 382 39 175 29,74x2,95 0,362

35 15/8"12UN 8021135162 8221135162 8321135162 ZS15-01/L35-15/8"12UN 15 50 50 48 39 175 3747x3 0,400

42 15/8".12UN 8021142 162 8221L42 162 8321L42 162 7S15-01/L42-15/8"12UN 15 55 60 48 42 19 37,47x3 0,560

42 17/8"12UN 8021L42 166 8221L42 166 8321142 166 ZS15-01/L42-17/8"-12UN 15 17 60 55 42 19 43,69x3 0,600

6 7/16"-20UN 8021506 103 8221506 103 8321506 103 Z7S15-01/S6-7/16"-20UNF 9 17 17 16 30 15  892x1,83 0,047

8 7/16"20UNF 8021508 103 8221508 103 8321508 103 Z7S15-01/S8-7/16"-20UNF 9 17 19 16 30 15  892x1,83 0,050

630 10 9/16"18UNF 8021510 105 8221510 105 8321510105 ZS15-01/S10-9/16"-18UNF 10 19 22 176 31 145 11,98x198 0,065

12 9/16".18UNF 8021512105 8221512105 8321512105 ZS15-01/S12-9/16"-18UNF 10 22 24 176 31 145 11,98x198 0,080

14 3/4"16UNF 8021514 107 8221514 107 8321514 107 ZS815-01/S14-3/4"16UNF 11 24 27 223 34 16  16,36x2.2 0,123

16 7/8"-14UNF 8021516 108 8221516 108 8321516 108 ZS15-01/S16-7/8"-14UNF 12,7 27 30 255 37 188 19,18x2,46 0,150

S 20 7/8"-14UNF 8021520 108 8221520 108 8321520 108 ZS15-01/S20-7/8"-14UNF 127 32 36 255 42 20,8 19,18x2,46 0,230

20 11/16"12UN 8021520 153 8221520 153 8321520 153 ZS15-01/S20-11/16"12UN 15 32 36 319 42 205 2347x2,95 0,250

400 25 11/16"12UN 8021525 153 8221525 153 8321525 153 7S15-01/S25-11/16"12UN 15 36 46 319 47 23 2347x2,95 0400

25 15/16".12UN 8021525 157 8221525 157 8321525 157 ZS15-01/S25-15/16"12UN 15 41 46 382 47 23  29,74x2,95 0460

30 15/16".12UN 8021530 157 8221530 157 8321530 157 Z515-01/S30-15/16"-12UN 15 46 50 382 50 235 29,74x2,95 0,530

30 15/8"-12UN 8021530 162 8221530 162 8321530 162 ZS515-01/S30-15/8"-12UN 15 50 50 48 50 235  37,47x3 0,620

315 38 15/8"12UN 8021538 162 8221538 162 8321538 162 ZS515-01/S38-15/8"-12UN 15 55 60 48 57 26 37,47x3 0,852




Couplings to ISO 8434-1/DIN 2353 ﬂ |

BSP parallel
sealing bite
ISO 1179-4

Male stud couplings

Alegris
@

PN @0 C Body  Singlebite Doublerbite gl goge E Fl P2 G L1 L2
6 G1/8 8001E06 10  8101E06 10 15-01/LL6RB 8 14 12 14 20 8 0018

LL 100 8 G1/8 8001E08 10  8101E08 10 15-01/LLSRB 8 14 14 14 21 9 0020
6 G1/8 8001L06 10 8201L06 10 ZS15-01/L6RB 8 14 14 14 23 85 0,025

6 G4 8001L06 13 8201L06 13  ZS15-01/L6RB1/4" 12 19 14 18 25 10 0,040

6 G3/8 8001L06 17 8201L06 17 ZS15-01/L6RB3/8" 12 22 14 22 2 115 0,047

8 G1/8 8001L08 10 8201L08 10 ZS15-01/L8RB1/8" 8 14 17 14 245 95 0,034

8 G1/4 8001L08 13 8201L08 13  ZS15-01/L8RB 2 19 17 18 25 10 0,045

8 G3/8 8001L08 17 8201L08 17 ZS15-01/L8RB3/8" 1222 17 22 265 115 0,062

8 G1/2 8001L08 21 8201L08 21 ZS15-01/L8RB1/2" 4 27 17 26 28 13 0,09

10 G1/8 8001L10 10 8201L1010  ZS15-01/L10RB1/8" 8 17 19 14 26 11 0,040

10 G1/4 8001L10 13 8201L10 13  ZS15-01/L10RB 2 19 19 18 26 11 0,047

10 G3/8 8001L10 17 8201L10 17 ZS15-01/L10RB3/8" 1222 19 22 275 125 0,063

E 315 10 G1/2 8001L10 21 8201L1021 ZS15-01/L10RB1/2" 4 27 19 26 28 13 0,09
12 Gl/4 8001L12 13 8201L12 13  Z815-01/L12RB1/4" 2 19 22 18 26 11 0,060

12 G3/8 8001L12 17 8201L1217 ZS15-01/L12RB 1222 22 22 275 125 0,069

L 12 G2 8001L12 21 8201L1221 ZS15-01/L12RB1/2" 4 27 22 2 28 13 0,098
12 G3/4 8001L12 27 8201L12 27 7815-01/L12RB3/4" 1632 22 32 29 14 0,146

15 G1/4 8001L15 13 8201L15 13 ZS15-01/L15RB1/4" 1222 27 18 285 13 0,090

15 G3/8 8001L15 17 8201L15 17 ZS15-01/L15RB3/8" 12 22 27 22 29 135 0,100

15 G1/2 8001L15 21 8201L1521 ZS15-01/L15RB 14 27 27 26 295 14 0,115

15 G3/4 8001L15 27 8201L1527 ZS15-01/L15RB3/4" 16 32 27 32 305 15 0,167

18 G3/8 8001L18 17 8201L18 17 ZS15-01/L18RB3/8" 1227 32 22 305 14 0,120

18 G1/2 8001L18 21 8201L18 21 ZS15-01/L18RB 14 27 32 26 31 145 0,129

18 G3/4 8001L18 27 8201L18 27 ZS15-01/L18RB3/4" 16 32 32 32 31 145 0,190

22 G172 8001L22 21 8201L22 21 ZS15-01/L22RB1/2" 4 32 36 26 33 165 0,220

22 G3/4 8001L22 27 8201L22 27 7515-01/L22RB 16 32 36 32 33 165 0,176

2 G1 8001L22 34 8201L22 34 ZS15-01/L22RB1" 18 41 36 39 34 175 0,283

250 28 G3/4 8001L28 27 8201L28 27 ZS15-01/L28RB3/4" 16 41 41 32 34 175 0,251
28 G1 8001L28 34 8201L28 34 ZS15-01/L28RB 18 41 41 39 34 175 0247

35 G1 8001L35 34 8201L3534 Z815-01/L35RB1" 18 50 50 39 39 175 0340

35 G1"1/4  8001L35 42 8201L3542 Z515-01/L35RB 20 50 50 49 39 175 0407

42 G1"1/4  8001L42 42 8201L42 42 7S15-01/L42RB1 1/4" 20 55 60 49 42 19 0450

42 G1"2  8001L42 49 8201L4249 ZS15-01/L42RB 22 55 60 55 42 19 0456




- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

Male stud couplings

BSP parallel
sealing bite
ISO 1179-4

A

PN @D C Body  Double-bite gy ode E Fl P2 G L1 L2

6 G4 800150613 820150613 ZS15-01/S6RB 12 19 17 18 28 13 0,050

8 G4 800150813 820150813 ZS15-01/SSRB 12 19 19 18 30 15 0055

8 G3/8 800150817 820150817 ZS15-01/SSRB3/S" 1222 19 22 305 155 0070

10 G4 800151013 820151013 Z515-01/S10RB1/4" 1219 22 18 305 145 0070

10 G3/8 800151017 820151017 ZS15-01/S10RB 2 2 2 2 31 15 0082

op 630*_10_GUZ 80011021 820151021 ZS15-01/S1ORB/Z" 4 27 22 26 335 175 0110

12 G4 800151213 820151213 Z515-01/S12RB1/4" 1222 24 18 325 165 0090

12 G3/8 800151217 820151217 Z515-01/S12RB 2 2 24 2 33 17 0095

12 G2 800151221 820151221 Z515-01/S12RB1/2" 14 27 24 26 335 175 0125

12 G3/4__ 800151227 820151227 Z515-01/S12RB3/4" 16 32 24 32 355 195 0,130

14 G3/8 800151417 820151417 ZS15-01/S14RB3/8" 1222 27 22 365 185 0,140

S W G2 800151421 820151421 Z515-01/S14RB W 27 27 2 37 19 0148
16 G3/8 800151617 8201516 17 Z515-01/S16RB3/3" 224 % 2 %51 01| pey

16 G2 800151621 820151621 Z515-01/S16RB 14 27 30 26 37 185 0,154

16_G3/4 800151627 820151627 Z515-01/S16RB3/4" 1632 30 32 39 205 0223

20 G2 800152021 820152021 ZS15-01/S20RB1/2" 14 32 36 26 40 185 0205

400 20 G4 500152027 820152027 2515-01/S20RB 1632 36 32 42 205 053

20 GI 800152034 820152034 ZS15-01/S20RB1" 18 41 36 39 44 225 0260

2% G3/4 800152527 820152527 ZS15-01/S25RB3/4" 16 41 46 32 47 23 0358

% G 800152534 8201525 34 _7515-01/S25RB 1841 45 39 47 23 0465

30 GI 800153034 8201530 34 _ Z515-01/S30RB1" 18 46 50 39 50 235 0640

30 GI"1/4__ 800153042 820153042 ZS15-01/S30RB 20 50 50 49 50 235 0645

250 38 GI"/4__ 800153842 820153842 Z515-01/S38RB1 1/4" 20 55 60 49 57 2 0,880

38 GI"1/Z 800153849 820153849 ZS15-01/S33RB 2 55 60 5 57 26 0889

* Safety factor 3.



Couplings to ISO 8434-1/DIN 2353 ﬂ |

ISO 9974-3

Male stud couplings

metric parallel
sealing bite

Alegris
@

A
PN @0 C Body  Doublelite gl ooge E Fl P2 G L1 L2
6 MI0x1 __ 8001L0660 8201L0660 ZS15-01/L6NB 8§ 14 14 14 23 85 0025
8 M1215 80010867 8201L0867 ZS15-01/L8NB 2 177 17 177 2 10 0040
8 Max15 80010871 8201L0871 ZS15-01/L8MB14X15 12 19 17 19 25 10 0048
8 M16x15 80010875 8201L0875 ZS15-01/L8MBI6X15 12 22 17 21 265 15 0058
8 Misxi5 80010878 8201L0878 ZS15-01/L8MB18X15 12 24 17 23 265 15 0070
10 Mi2x15  8001L1067 8201L1067 ZS15-01/L10MB12X1,5 12 17 19 17 26 1 0047
10 Mi4x15  8001L1071 8201L1071 ZS15-01/L10MB 2 19 19 19 26 1 0047
10 Mi6x1,5  8001L1075 8201L1075 ZS15-01/L1OMBI6X1,5 12 22 19 21 275 125 0066
10 _Misx15  8001L1078 8201L1078 ZS15-01/L10MB18X1,5 12 286 19 23 275 125 0075
315 10 M22xi5  8001L1082 8201L1082  ZS15-01/L10MB22X1,5 W 27 19 27 29 14 0106
12 Miax15 80011271 82011271 ZS15-01/L12MB14X1,5 12 19 22 19 27 125 0,064
L 12 Mi6x15 80011275 82011275 ZS15-01/L12MB 12 2 2 21 21 125 0063
3| 12 M18x15  8001L1278 8201L1278 ZS15-01/L12MB18X15 12 20 22 23 27 125 0080
12 M22x15 80011282 82011282 ZS15-01/L12MB22X1,5 W 21 2 27 285 14 0110
15 Mi6x1,5  8001L1575 8201L1575 ZS15-01/L15MB16X1,5 12 20 27 21 29 135 0090
15 Misx15 80011578 8201L1578 ZS15-01/L15MB 12 24 27 23 29 135 0095
15 _M22x15_ 8001L1582 8201L1582  Z515-01/L15MB22X1,5 4 27 27 27 30 15 012
18_Misx15_ 8001L1878 8201L1878 ZS15-01/L18MBI8X1,5 12 27 32 23 31 145 0,120
18 M22x15 80011882 82011882 ZS15-01/L18MB W 27 32 27 31 145 0129
22 M22x15 800112282 82012282 2515-01/L22MB22X15 1 32 36 27 33 165 0170
22 M26x15 800112289 820112289 ZS15-01/L22MB 16 32 36 31 33 165 0176
5028 M3 800112891 820112891 ZS15-01/L28MB 18 41 41 39 34 175 0247
3 M2 80011359 82011359 ZS15-01/L35NB 20 50 50 49 39 175 0407
42 M4Bx2  8001L4298 8201L4298 ZS15-01/L42NB 2 5 60 5 42 19 0456
6 M12x15 800150667 820150667 ZS15-01/S6MB 2 17 17 17 28 13 005
8 M14x15 800150871 820150871 ZS15-01/S8MB 12 19 19 19 30 15 0055
10 Mi6x15 800151075 820151075 ZS15-01/S10MB 2 2 2 21 31 15 0082
PB630™ 15 W15 800151278 820151278 Z515-01/S12MB 12 24 24 23 33 17 0106
12 M22x15 800151282 820151282 ZS15-01/S12MB22X15 4 27 24 27 335 175 0,120
14 M20x15 800151480 820151480 ZS15-01/S14NB W 27 27 25 3 19 0,48
S 16_Misxi5_ 800151678 820151678 ZS15-010/S16MB18X15 12 24 30 23 35 165 0,140
400 _16_M22X15 800151682 820151682 ZS1501/SI6MB 4 27 30 27 31 185 0,154
20 M2Ix2 800152086 820152086 Z515-01/S20MB 16 32 36 32 42 205 0253
25 M33x2 800152591 820152591 Z515-01/S25MB 18 41 46 39 47 23 0465
Jpp 30 Mé22  00iS30% 52015309 ZSTS01/S30MB 20 50 50 49 50 235 064
38 M43x2 800153898 820153898 Z515-01/S38MB 2 5 60 55 5 26 0889

* Safety factor 3.



HAlegris
@

Male stud couplings

metric taper
and BSP taper
DIN 3852 form C

A
PN @D C Body  Snglebite Doublerbite gy goge E F1 F2 L1 L2
4 MBx1_ B05E0456 B105E0456 15-01/LLAMK 8 10 10 26 16 001
5 M8x _ 8005E0556 8105E05 56 15-01/LL5NIK 8 11 12 26 145 0015
LL 6 M6x1  B05E0652 8105E06 52 15-01/LL6MK6x1 8 1 12 26 145 0020
100 5 wigr 00520656 810506 56 15-01/LL6M8x1 8 1 12 26 145 0020
6 M10x1__ 8005E0660 8105E06 60 15-01/LLGMK 8 1 12 26 145 0016
8 M10x1__ 8O05E08 60 8105E08 60 15-01/LLBNIK 8§ 12 14 28 165 0018
4 RS 8005E0410 8105E04 10 15-01/LL4RK 8 11 10 2 16 0005
5 RS 8005E0510 8105E05 10 15-01/LL5RK 8 1 12 26 145 0015
LL 100_° RVE__800SE0G10_gi06E06 10 15-01/LL6RK 8 1 12 26 145 0016
8 RS 8005E0810 8105E08 10 15-01/LLGRK 8 12 14 28 165 0018
0 RVA  8005E1013 S105E1013 15-01/LL10RK 2 14 17 32 205 003
122 R4 B05E1213 8105E1213 15-01/LL12RK 2 17 19 32 20 0040
6 RIB  8005L06 10 8205006 10 ZS15-01/L6RK 8 14 14 31 16 005
6 RUA  8005L0613 8205006 13 ZS15-01/L6RK1/4" 7 s o o] BB
8 RUB 8005008 10 8205L08 10 Z515-01/L8RK1/8" 8 14 17 31 16 0032
8 RUA  8005L0813 820500813 ZS15-01/L8RK 2 17 17 3% 20 0040
8 RIB  8005L0817 8205L08 17 _Z515-01/LBRK3/S" 1219 17 36 21 0049
10 R4 800501013 820501013 Z515-01/L10RK 2 17 19 36 21 0047
315 10 R 8005L1017 820501017 Z515-01/L10RK3/8" 219 19 37 2 0058
L 10 RZ 800501021 820501021 ZS15-01/L10RK1/2" W 2 19 39 24 0088
12 R4 8005012 13 820501213 Z515-01/L12RK1/4" 2 19 2 36 21 0048
12 R38  8005L1217 8205012 17 2515-01/L12RK 219 2 37 22 008
2 RZ 800501220 8205L1221 _ZS15-01/L12RK1/2" W 22 2 39 24 0088
15 RSB 800501517 8205015 17 Z515-01/L15RK3/8" 12 24 27 385 23 0090
15 RIZ__ 8005L1521 8205L15 21 _2515-01/L15RK W 24 27 39 24 00%
160 _18 K2 s00slis2i 8205018 21 Z515-01/L18RK W 27 32 43 265 0129
2 RA 80052227 82052227 2515-01/L22RK 6 32 36 45 285 0176




Male stud couplings

NPT

A

PN @D C Body  Singlebite  Doubledite gy ode E F1 F2 L1 L2
4 8 8005E04 11 8105E04 11 2515-01/LLANPT 997 1110 28 18 0015

LL 100_s6 8 8005E06 11 8105E06 11 2515-01/LL6NPT 997 1112 28 165 0,015
g 18 8005E08 11 8105E08 11 7515-01/LL8NPT 997 12 14 30 185 0,020

6 18 8005L06 11 8205L06 11 2515-01/L6NPT 997 12 14 32 17 002

6 14 8005L06 14 8205L06 14 2515-01/L6NPT1/4" 151 14 14 37 22 0,034

g 14 8005L08 14 8205L08 14 Z515-01/L8NPT 151 17 1738 23 0,040

10 14 8005L10 14 8205L10 14 2515-01/L1ONPT 151 17 19 39 24 0,048
31510 38 8005L10 18 820510 18 Z515-01/L10NPT3/8" 1526 19 19 39 24 0,069
12 14 8005L12 14 8205112 14 ZS15-01/L12NPT1/4" 151 19 22 395 25 0,053

L 12 38 8005L12 18 820512 18 2515-01/L12NPT 1526 19 22 395 25 0,065
12172 8005L12 22 8205L12 22 Z515-01/L12NPT1/2" 1985 22 22 445 30 0,094

15 172 8005L15 22 82051522 7515-01/L15NPT 1985 24 27 465 31 0,090

18 12 8005L18 22 8205L18 22 2515-01/L18NPT 1985 27 32 48 315 0,135

2 34 8005L22 28 8205122 28 2515-01/L22NPT 2016 32 36 50 335 0,190
160 281 8005L28 35 8205128 35 2515-01/L28NPT % 41 41 56 395 0275
35 1"1/4 30053543 8205135 43 2515-01/L35NPT 2562 46 50 62 405 0,405

42 1"2  8005L42 50 8205L4250  ZS15-01/L42NPT 2604 55 60 65 42 0570

6 1/4 8005506 14 8205506 14 2515-01/S6NPT 51 17 17 41 26 0,050

g 14 8005508 14 8205508 14 2515-01/S8NPT 151 17 19 43 28 0,055

0 14 8005510 14 820551014 Z515-01/S10NPT1/4" 151 19 22 435 275 0,070
630 10 3/8 8005510 18 8205510 18 ZS15-01/S10NPT 1526 19 22 435 275 0,080
12308 8005512 18 8205512 18 Z515-01/S12NPT 1526 22 24 46 295 0,100
12172 8005512 22 820551222 7515-01/S12NPT1/2" 1985 24 24 51 345 0,130

S 1412 8005514 22 8205514 22 2515-01/S14NPT 1985 24 27 54 36 0,155
16 12 8005516 22 820551622 2515-01/S16NPT 1985 27 30 54 355 0,160
40020 %/4 8005520 28 8205520 28 7515-01/S20NPT 2016 32 36 59 375 0250
2% 1" 8005525 35 8205525 35 2515-01/S25NPT B 41 46 69 45 0475

30 1"1/4 800553043 8205530 43 7515-01/S30NPT 2562 46 50 73 465 0,620
315 38 1"1/2 800553850 820553850 ZS15-01/S38NPT 2604 55 60 79 49 0,890




.y, =
~ Couplings to ISO 8434-1/DIN 2353

HAlegris
@

Straight couplings

F1 F2

A A A <]
PN @D Body Smg_le-blte Douh.le-hlte Dll_\lova Bell code F1 F2 L1 L2
only ring ring ring =
4 8006E04 00  8106E04 00 15-10/LL4 9 0 31 120,014
5 8006E05 00  8106E05 00 15-10/LL5 11 12 32 9 0,019
LL 100 6 8006E06 00 8106E06 00 15-10/LL6 11 12 32 9 0,021
8 8006E08 00 8106E08 00 15-10/LL8 12 14 35 12 0,026
10 8006E10 00 8106E10 00 15-10/LL10 14 17 3 12 0,035
12 8006E12 00 8106E12 00 15-10/LL12 17 19 3 110,042
6 8006L06 00 8206L06 00 8306L06 00 ZS15-10/L6 12 14 39 10 0,035
8 8006L08 00 8206L08 00 8306L08 00 ZS15-10/L8 14 17 40 11 0,049
400 10 8006L10 00 8206L10 00 8306L10 00 ZS15-10/L10 17 19 42 13 0,069
12 8006L12 00 8206L12 00 8306L12 00 ZS15-10/L12 19 2 43 14 0,085
L 15 8006L15 00 8206L15 00 8306L15 00 ZS15-10/L15 24 27 46 16 0,138
315 18 8006L18 00 8206L18 00 8306L18 00 ZS15-10/L18 27 32 48 16 0,195
22 8006L22 00 8206L22 00 8306L22 00 ZS15-10/L22 32 36 52 20 0,262
28 8006L28 00 8206L.28 00 8306L28 00 ZS15-10/L28 41 41 54 21 0315
250 35 8006L35 00 8206L35 00 8306L35 00 ZS15-10/L35 46 50 63 20 0,494
42 8006L42 00 8206L42 00 8306L42 00 ZS15-10/L42 55 60 66 21 0,728
6 8006506 00 8206506 00 8306506 00 ZS15-10/S6 14 17 45 16 0,059
8 8006508 00 8206508 00 8306508 00 ZS15-10/S8 17 19 47 18 0,078
630 _10 8006510 00 8206510 00 8306510 00 ZS15-10/S10 19 2 49 17 0,110
12 8006512 00 8206512 00 8306512 00 ZS15-10/S12 22 24 51 19 0,136
S 14 8006514 00 8206514 00 8306514 00 ZS15-10/S14 24 27 57 22 0,182
16 8006516 00 8206516 00 8306516 00 ZS15-10/S16 27 30 57 21 0,223
400 20 8006520 00 8206520 00 8306520 00 ZS15-10/S20 32 36 66 23 0347
25 8006525 00 8206525 00 8306525 00 ZS15-10/$25 41 46 74 26 0,669
30 8006530 00 8206530 00 8306530 00 Z2S15-10/S30 46 50 80 27 0,809
315 38 8006538 00 8206538 00 8306538 00 ZS15-10/S38 55 60 90 29 1,194




Alegris
@

Couplings to ISO 8434-1/DIN 2353

Straight reducing
couplings

@D1

@) A @] @]
PN ©D1 ©D2 Body  Single-bite Double-bite  DiNova  pg; .40 Fl F2 F3 L1 L2
only ring ring ring =
6 4 8006E06 04 8106E06 04 15-14/LL6-4 11 1210 315 105 0,021
LL 100_38 4 8006E08 04 8106E08 04 15-14/LL8-4 12 14 10 335 125 0,022
8 6 8006E08 06 8106E08 06 15-14/LL8-6 12 14 12 34 11 0,02
8 6 8006L08 06 8206L08 06 8306L08 06 2515-14/L8-6 1% 17 14 40 11 0042
0 6 8006L10 06 820610 06 8306L10 06 ZS15-14/L10-6 719 14 41 12 0052
0 8 8006L10 08 8206L10 08 8306L10 08 ZS15-14/L10-8 719 17 41 12 0058
12 6 8006L12 06 8206L12 06 8306L12 06 ZS15-14/L12-6 19 22 14 4 13 0063
400 128 8006L12 08 8206L12 08 8306L12 08 ZS15-14/L12-8 19 2 17 4 1300700
1210 8006L12 10 8206L1210 8306L12 10 Z515-14/L12-10 19 22 19 43 14 0077
5 6 8006L15 06 8206L15 06 8306L15 06 ZS15-14/L15-6 2 27 14 435 14 0,095
5 8 8006L15 08 8206L15 08 8306L15 08 Z2S15-14/L15-8 2 27 17 435 14 0,110
15 10 8006L15 10 8206L1510 8306L15 10 ZS15-14/L15-10 2 27 19 445 15 0,115
5 12 8006L15 12 8206L15 12 8306L15 12 2515-14/L15-12 24 27 20 445 15 0,120
L 18 8 8006L18 08 8206L18 08 8306L18 08 2515-14/L18-8 27 32 17 4 145 0,145
m 18 10 8006L18 10 8206L18 10 8306L18 10 ZS515-14/L18-10 27 32 19 46 1565 0,150
18 12 8006L18 12 8206L18 12 8306L18 12 ZS15-14/L18-12 27 32 2 46 155 0,190
315 18 15 8006L18 15 8206L18 15 8306L18 15 Z515-14/L18-15 27 32 27 475 165 0,175
2 1 8006L22 12 820612212 8306L22 12 ZS15-14/L22-12 32 36 20 48 175 0,188
2 15 8006L22 15 8206L22 15 8306L22 15 2515-14/L22-15 32 36 27 495 185 0225
2 18 8006L22 18 820622 18 8306L22 18 Z515-14/L22-18 3 3 32 50 18 0250
8 15 8006L28 15 8206L28 15 8306L28 15 2S15-14/L28-15 2 4 27 51 195 0256
8 18 8006L28 18 8206L28 18 8306L28 18 2515-14/L28-18 2 41 32 515 19 0307
250 28 2 8006L28 22 8206128 22 8306L28 22 Z515-14/L28-22 4 4 36 535 21 0309
3B 2 8006L35 22 82063522 8306L3522 2515-14/L35-22 46 50 36 585 21 0421
35 28 8006L35 28 820635 28 830635 28 2515-14/L35-28 46 50 41 59 21 0455
8 6 8006508 06 8206508 06 8306508 06 ZS15-14/S8-6 7 19 17 47 18 0,068
0 6 8006510 06 8206510 06 8306510 06 2S15-14/S10-6 19 22 17 48 175 0,090
0 8 8006510 08 8206510 08 8306510 08 Z2S15-14/510-8 19 2 19 48 175 0093
630 126 8006512 06 8206512 06 8306512 06 2S15-14/S12-6 2 24 17 50 195 0,07
12 8 8006512 08 8206512 08 830651208 Z2S15-14/S12-8 2 2 19 50 195 0112
1210 8006512 10 820651210 8306512 10 ZS15-14/S12-10 22 24 22 51 19 0128
1% 10 8006514 10 8206514 10 8306514 10 ZS15-14/S14-10 2 27 22 54 205 0,154
% 12 8006514 12 820651412 8306514 12 ZS15-14/S14-12 24 27 24 54 205 0,159
16 10 8006516 10 8206516 10 8306516 10 ZS15-14/S16-10 27 30 22 54 20 0,18
S 1% 12 8006516 12 8206516 12 8306516 12 ZS15-14/S16-12 27 30 24 54 20 0,87
16 14 8006516 14 8206516 14 8306516 14 ZS15-14/S16-14 27 30 27 57 215 0206
20 10 8006520 10 8206520 10 830652010 ZS15-14/S20-10 32 36 22 595 22 0261
0 12 8006520 12 8206520 12 8306520 12 Z515-14/S20-12 3 36 24 635 26 0301
400 20 1% 8006520 14 8206520 14 8306520 14 Z515-14/S20-14 32 36 27 625 235 0302
20 16 8006520 16 8206520 16 8306520 16 2S15-14/S20-16 32 36 30 625 23 0303
% 16 8006525 16 8206525 16 8306525 16 2S15-14/S25-16 41 46 30 675 255 0562
% 20 8006525 20 8206525 20 830652520 ZS15-14/S25-20 4 46 36 71 255 0564
30 20 8006530 20 8206530 20 8306530 20 Z515-14/S30-20 46 50 36 74 26 0628
30 2 8006530 25 8206530 25 8306530 25 ZS15-14/530-25 46 50 46 77 265 0,755
315 38 30 8006538 30 8206538 30 8306538 30 ZS15-14/538-30 55 60 50 865 295 1,088

Other dimensions are available upon request.



A
~ Couplings to ISO 8434-1/DIN 2353

HAlegris
@

Equal elbows d F

& A A <
PN @D ';:;’;' s'“gi'ﬁ!'l"“e D““:’i':;"“’ D'r'i“n‘;"a Bell code F1* F2 L1 L2
4 8002E04 00  8102E04 00 15-11/LL4 9 10 21 11 0,02
LL 100-—2® 8002E06 00 8102E06 00 15-11/LL6 1M 12 2 95 0,027
8 8002E08 00 8102E08 00 15-11/LL8 12 14 23 115 0,037
10 8002E10 00 8102E10 00 15-11/LL10 14 17 27 155 0,051
12 8002E12 00 8102E12 00 15-11/LL12 17 19 27 15 0,072
6 8002L06 00 8202L06 00 8302L06 00 ZS15-11/L6 12 14 27 12 0,051
8 8002L08 00 8202L08 00 8302L08 00 ZS15-11/L8 4 17 29 14 0,075
400 10 8002L10 00 8202L10 00 8302L10 00 ZS15-11/L10 77 19 30 15 0,106
12 8002L12 00 8202L12 00 8302L12 00 ZS15-11/L12 19 22 32 170137
L 15 8002L15 00 8202L15 00 8302L15 00 ZS15-11/L15 19 27 36 21 0,158
315_18 8002L18 00 8202L18 00 8302L18 00 ZS15-11/L18 2432 40 235 0,239
2 8002L22 00 8202122 00 8302L22 00 ZS15-11/L22 27 36 4 215 0317
28 8002L28 00 8202128 00 8302L28 00 ZS15-11/L28 36 41 47 305 0420 m
250 35 8002L35 00 8202L35 00 8302L3500 ZS15-11/L35 41 B0 56 345 0,759
42 8002L42 00 8202142 00 8302L42 00 ZS15-11/L42 50 60 63 40 1,078
6 8002506 00 8202506 00 8302806 00 ZS15-11/S6 4 17 31 16 0,086
8 8002508 00 8202508 00 8302808 00 ZS15-11/S8 17 19 32 17 0112
630 10 8002510 00 8202510 00 8302810 00 ZS15-11/810 19 22 34 175 0,165
12 8002812 00 8202512 00 830281200 ZS15-11/812 2 24 38 215 0216
S 14 8002814 00 820251400 830251400 ZS15-11/S14 19 27 40 22 0207
16 8002516 00 8202516 00 8302816 00 ZS15-11/$16 2430 43 245 0,258
40020 8002520 00 8202520 00 8302820 00 ZS15-11/S20 27 3 48 265 0407
25 8002525 00 8202525 00 8302525 00 ZS15-11/S25 3 46 54 30 0776
30 8002830 00 8202530 00 8302830 00 ZS15-11/830 41 50 62 355 0974
315 38 8002538 00 8202538 00 8302838 00 ZS15-11/S38 50 60 72 41 1,318

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



@ @]

PN @D 'Z:;’;’ s'“gi':!'l"“e D““:’i':!;""e D'r'i“n‘;"a Bell code F1* F2 L1 L2

4 8004E04 00 8104E04 00 15-12/LL4 9 10 21 11 0031

LL 100 6 8004E06 00 8104E06 00 15-12/LL6 M 12 21 95 0036
8 8004E08 00 8104E08 00 15-12/LL8 12 14 23 115 0,052

6 8004106 00 8204106 00 8304L0600 Z515-12/L6 12 1% 27 12 00

8 8004L08 00 8204L08 00 8304L0800 ZS15-12/L8 W 17 29 14 0,101

400 10 8004110 00 820411000 8304L1000 ZS15-12/L10 17 19 30 15 0137

12 8004112 00 8204L1200 8304L1200 ZS15-12/L12 19 2 32 17 0174

L 15 8004L15 00 820411500 8304L1500 Z515-12/L15 19 27 36 21 0244
31518 8004L18 00 8204L18 00 8304L1800 Z515-12/L18 2% 32 40 235 0353

2 8004122 00 8204122 00 83042200 2515-12/L22 27 36 44 215 0473

28 8004128 00 8204128 00 830412800 ZS15-12/L28 % 41 47 305 0737

250 35 8004135 00 820413500 8304L3500 Z515-12/L35 4 50 56 345 0901

7 8004142 00 820414200 8304L4200 Z515-12/L42 50 60 63 40 1,48

6 8004506 00 8204506 00 830450600 ZS15-12/S6 % 17 31 16 0118

8 8004508 00 820450800 830450800 Z515-12/S8 719 32 17 0,148

630 _10 8004510 00 820451000 830451000 ZS15-12/S10 19 22 3% 175 0215

12 8004512 00 820451200 830451200 2515-12/S12 22 24 38 215 0284

14 8004514 00 8204514 008304514 00 _ZS15-12/S14 19 27 40 22 0295

S 16 8004516 00 820451600 830451600 ZS15-12/S16 24 30 43 245 0387
4002 8004520 00 8204520 00 830452000 ZS515-12/520 27 36 48 265 0590

2% 8004525 00 820452500 830452500 Z515-12/S25 3% 46 54 30 1,09

30 8004530 00 8204530 00 8304530 00 Z515-12/530 4 50 62 355 1,313

315 38 8004538 00 8204538 00 830453800 Z515-12/S38 50 60 72 41 2027

* Models @D 4 to 10mm are manufactured from profile steel

Models @D > 10mm are manufactured from forged steel




B . @
Blegrs ~ Couplings to ISO 8434-1/DIN 2353

Reducing tee
couplings

A
PN ©D1 @D2 D3 '3:;’;’ °°“:’i':!;'"‘e Dir'i"nz’a Bell code F1* F2 F3 F4 L1 L2 L3 L4 L5 L6
6 10 6  8004L0610 8204L0610 8304L0610 ZS15-16/L6-106 17 14 19 14 30 15 30 15 30 15 0,108
8 6 8 8004L0806 8204L0806 8304L0806 ZS15-16/L8-6-8 4 17 1 17 29 14 29 14 29 14 0,099

8 10 8 8004L08 10 8204L08 10 8304L08 10 ZS15-16/L8-10-8 17 17 19 17 30 15 30 15 30 15 0,127
10 6 10 8004L10 06 8204L10 06 8304L10 06 ZS15-16/L10-6-10 17 19 14 19 30 15 30 15 30 15 0,122
10 8 10  8004L1008 8204L10 08 8304L10 08 ZS15-16/L10-8-10 17 19 17 19 30 15 30 15 30 15 0,128
10 15 10  8004L1015 8204L1015 8304L1015 ZS15-16/L10-15-10 19 19 27 19 36 21 36 21 36 21 0,225
12 6 12 8004L1206 8204L12 06 8304L12 06 ZS15-16/L12-6-12 19 22 14 22 32 17 32 17 32 17 0,160
12 8 12 80041208 8204L12 08 8304L12 08 ZS15-16/L12-8-12 19 22 17 22 32 17 32 17 32 17 0,161
1210 12 8004L1210 8204L1210 8304L1210 ZS15-16/L12-10-12 19 22 19 22 32 17 32 17 32 17 0,163
15 6 15 8004L1506 8204L1506 8304L1506 ZS15-16/L15-6-15 19 27 14 27 3% 21 36 21 36 21 0210
15 8 15 8004L1508 8204L1508 8304L15 08 ZS15-16/L15-8-15 19 27 17 27 36 21 36 21 36 21 0,224
15 10 15 8004L1510 8204L1510 8304L1510 ZS15-16/L15-10-15 19 27 19 27 36 21 36 21 36 21 0,225
L 15 12 15  8004L1512 8204L1512 8304L1512 ZS15-16/L15-12-15 19 27 22 27 36 21 36 21 36 21 023 m

15 18 15 8004L1518 8204L1518 8304L1518 ZS15-16/L15-18-15 24 27 32 27 39 24 39 24 40 235 0,327
18 12 18  8004L1812 8204L1812 8304L1812 ZS15-16/L18-12-18 24 32 22 32 40 235 40 235 39 24 0,317
18 15 18  8004L1815 8204L18 15 8304L1815 ZS15-16/L18-15-18 24 32 27 32 40 235 40 235 39 24 0,343
22 10 22 8004122 10 8204122 10 8304L22 10 ZS15-16/L22-10-22 27 36 19 36 44 275 44 275 43 28 0435
22 12 22 8004L2212 8204122 12 8304L22 12 Z7515-16/L22-12-22 27 36 22 36 44 275 44 275 43 28 0430
22 15 22 820412215 8204L2215 8304L2215 ZS15-16/L22-15-22 27 36 27 36 44 275 44 275 43 28 0472
22 18 22 8004L2218 8204L22 18 8304L2218 ZS515-16/L22-18-22 27 36 32 36 44 275 44 215 44 275 0470
28 10 28  8004L28 10 8204L28 10 8304L28 10 ZS15-16/L28-10-28 36 41 19 41 47 305 47 305 46 31 0,530
28 12 28  8004L2812 8204128 12 8304L28 12 7S515-16/L28-12-28 36 41 22 41 47 305 47 305 46 31 0542
28 15 28  8004L2815 8204L28 15 8304L28 15 ZS515-16/L28-15-28 36 41 27 41 47 305 47 305 46 31 0,561
28 18 28  8004L2818 8204L28 18 8304L28 18 ZS15-16/L28-18-28 36 41 32 41 47 305 47 305 47 305 0,586
28 22 28  8004L2822 8204L28 22 8304L28 22 7515-16/L28-22-28 36 41 36 41 47 305 47 305 47 305 0558
S 400 16 12 16 800451612 820451612 830451612 ZS15-16/S16-12-16 24 30 24 30 43 245 43 245 42 255 0,360

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel

400

315

250

Other dimensions are available upon request.



Alegris
@

& & &
PN @D i?.f}' °°“:’i':!;"“° D'r'i"n°g"a Bell code 1 F2 L1 L2
6 8007L06 00  8207L06 00  8307L06 00 ZS15-13/L6 12 14 21 12 0077
8 8007L03 00 8207L08 00 8307L08 00 ZS15-13/L8 12 17 29 14 0,109
400 10 8007L10 00  8207L10 00 8307L10 00 ZS15-13/L10 14 19 30 15 0,155
12 8007L12 00 8207L1200 8307L1200 ZS15-13/L12 17 22 3 17 0192
L 15 8007L15 00  8207L15 00  8307L15 00 ZS15-13/L15 19 27 3 2 0,311
31518 8007L18 00 8207L18 00 8307L18 00 ZS15-13/L18 24 32 40 235 0483
22 8007L22 00 8207L22 00 _ 8307L22 00 _ZS15-13/L22 27 3 44 275 0,724
28 8007L28 00  8207L28 00  8307L28 00 ZS15-13/L28 36 41 47 305 1,010
250 35 8007L35 00 8207L3500 8307L35 00 ZS15-13/L35 4 50 56 345 1,228
42 8007L42 00  8207L42 00  8307L42 00 ZS15-13/L42 50 60 63 40 1,756
6 8007S06 00 8207506 00 8307506 00 ZS15-13/S6 12 17 3 16 0123
8 8007S08 00 8207508 00 8307508 00 ZS15-13/S8 4 19 32 17 0148
m 630 10 8007810 00 8207510 00 830751000 ZS15-13/S10 17 22 3 115 0230
12 800781200 820751200 830751200 ZS15-13/S12 17 24 38 215 0,282
S 14 8007514 00 8207514 00 8307514 00 ZS15-13/S14 19 27 40 22 0354
16 8007516 00 8207516 00 8307516 00 ZS15-13/S16 24 30 43 245 0451
400 -2 8007520 00 8207520 00 8307520 00 ZS15-13/S20 27 3% 48 265 0,704
25 8007525 00 8207525 00 8307525 00 ZS15-13/S25 36 46 54 30 1,402
30 8007S30 00 8207530 00 8307530 00 ZS15-13/S30 41 50 62 355 1761
315 38 8007538 00 8207538 00 830753800 ZS15-13/S38 5 60 72 4 2,576




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Bulkhead straight
couplings

@ <N [<

PN @D C 'f):’l:’;' D"“:’i':!;"“e D'r'i"n°g"a Bell code 1 F2 F3 L1 L2 L3 L4

6 M12x15 8V16L0600 8216L0600 8316L0600 ZS15-22/L6 7 14 17 & 21 2 7 0087

8 M14x1,5 8V16L0800 8216L0800 8316L0800 ZS15-22/L8 19 17 19 4 27 23 8 008

400 10 M16x15 8V16L1000 8216L1000 8316L1000 ZS15-22/L10 2 19 22 43 28 25 10 0125

12 M18x15 8V16L1200 8216L1200 8316L1200 Z515-22/L12 2 2 24 4 29 25 10 0147

L 15 M22x15  8V16L1500 8216L1500 8316L1500 ZS15-22/L15 27 21 30 46 31 27 12 0228

315 18 _MZ6xl5 GVIELIB00 G216L1800 B3I6L1B00_ZST6-22/L18 32 32 36 49 325 29 135 033

22 M30x2  8V16L2200 821612200 831612200 ZS15-22/L22 3% 36 41 51 345 33 165 0415

28 M36x2  8V16L2800 8216L2800 831612800 Z515-22/L28 4 41 46 52 35 35 185 055

250 35 M45x2  8V16L3500 821613500 831613500 ZS15-22/L35 5 50 5 58 365 40 185 0800

42 M52x2  8V16L4200 821614200 831614200 ZS15-22/L42 60 60 65 59 36 4 19 1193

6 M14x15 8V16506 00 821650600 831650600 ZS15-22/S6 19 17 19 4 29 27 12 009%

8 M16x15 8V1650800 821650800 831650800 ZS15-22/S8 22 19 22 4 29 28 13 0,12

630 10 M18x15 8V1651000 821651000 831651000 Z515-22/S10 2 22 24 46 295 31 145 0,181
12 M20x15 8V1651200 821651200 831651200 2515-22/S12 27 24 21 47 305 31 145 0210 ﬂ

S 14 M22x15  8V1651400 821651400 831651400 Z515-22/S14 30 27 30 50 32 3 17 0267

16 M24x15  8V1651600 821651600 831651600 Z515-22/S16 32 30 32 5 315 35 165 0310

400 20802 8VI6520 00 G216S20 008316520 00_ZS16-22/520 3% 36 41 56 335 39 175 0545

25 M36x2  8V1652500 821652500 831652500 ZS15-22/S25 46 46 46 59 3B 44 20 0890

30 M42x2  8V1653000 821653000 831653000 ZS15-22/S30 50 50 50 64 375 48 215 1077

315 38 M52x2  8V1653800 821653800 8316538 00 Z515-22/S38 6% 60 65 68 37 53 22 1438

* K=16 mm max.

Bodies only are delivered with lock nut. Bodies only without lock nut are available upon request.




Alegris
@

Bulkhead elbow m Boc o

couplings %QDI

/ TV
Nim ]
[Qlw L3|

-
o0
i L5 L2
‘ L1

& & A

Body Double-bite DiNova
PN @D C only ring ting Bell code F1 F2 F3 L1 L2 L3 L4 L5

6 M12x1,5 8V12L06 00 8212L06 00 8312L06 00 ZS15/1-22/L6 12 14 17 4 27 27 12 14 0,067

8 M14x15 8V12L0800 8212L08 00 8312L08 00 ZS15/1-22/L8 12 17 19 4 27 29 14 17 0,099

400 10 M16x1,5  8V12L1000 8212L1000 8312L1000 2ZS15/1-22/L10 14 19 22 43 28 30 15 18 0,135
12 M18x15 8V12L1200 8212L1200 8312L1200 ZS15/1-22/L12 17 22 24 44 29 32 17 20 0,187

L 15 M22x15  8V12L1500 8212L1500 8312L1500 2S15/1-22/L15 19 27 30 46 31 36 21 23 0273
315 18 M26x1,5 8V12L1800 8212L1800 8312L1800 ZS15/1-22/L18 24 32 36 49 325 40 235 24 0372
22 M30x2  8V12L2200 821212200 8312L2200 ZS15/1-22/L22 27 36 41 51 345 44 275 30 0,465

28 M36x2  8V12L2800 821212800 8312L2800 ZS15/1-22/L28 36 41 46 52 355 47 305 34 0,640

250 35 M45x2  8V12L3500 821213500 831213500 7S15/1-22/L35 41 50 55 58 365 56 345 39 0,99
42 M52x2  8V12L4200 821214200 831214200 Z7S15/1-22/L42 50 60 65 59 36 63 40 43 1563

6 M14x15 8V12S06 00 8212506 00 8312506 00 ZS15/1-22/S6 2. 17 19 4 29 31 16 17 0,09

8 M16x15 8V12S0800 821250800 8312508 00 ZS15/1-22/S8 14 19 22 4 29 3 17 18 0124

m 630 10 M18x15  8V12510 00 821251000 831251000 ZS15/1-22/S10 17 22 24 46 295 34 175 20 0,181
12 M20x15 8V1251200 821251200 831251200 ZS15/1-22/812 17 24 27 47 305 38 215 21 022
S 14 M22x15  8V12S14 00 821251400 831251400 Z7S815/1-22/S14 19 27 30 50 32 40 22 23 0,287

16 M24x15 8V12516 00 821251600 831251600 ZS15/1-22/S16 24 30 32 50 315 43 245 24 0,365
400 20 M30x2 8V12520 00 8212520 00 8312520 00 ZS15/1-22/S20 27 36 41 55 335 48 265 30 0,580
25 M36x2 8V12525 00 8212525 00 831252500 ZS15/1-22/S25 36 46 46 59 35 5 30 34 1,000
30 M42x2 8V12530 00 8212530 00 8312530 00 ZS15/1-22/S30 41 50 50 68 375 66 355 39 1122
315 38 M52x2 812538 00 8212538 00 8312538 00 ZS15/1-22/S38 50 60 65 68 37 2 4 43 1,758

* K=16 mm max.




HAlegris
@

Adjustable and
standpipe elbows

(DKO)

24° sealing cone and O-ring

_Couplings to ISO 8434-1/DIN 2353

C
L2
L1
@ A

PN @D C ';::’;’ D"“:’i':!;'"‘e D'r'i"n"g"a Bell code F1* F2 L1 L2 L3 Oing
6 M12x15 8072L0600 8272L0600 83720600 ZS14/1-29/L6V-DM 12 14 27 12 26 4x15 0045

8 M14x15 8072L0800 8272L0800 83720800 ZS14/1-29/L8V-DM % 17 29 14 215 6x15 0057

400 10 M16x15 8072L1000 82721000 8372L1000 ZS14/1-29/L10V-DM 7 19 30 15 29 75x15 0,069
12 M18x15 8072L1200 8272L1200 8372L1200 ZS14/1-29/L12V-DM 19 2 32 17 295 915 0093

L 15 M22x15 80721500 8272L1500 8372L1500 ZS14/1-29/L15V-DM 19 27 36 21 325 122 0,160
315 18 MZ6xl5 80721800 E27211800 8372L1800 ZS14/1-29/L18V-DM 24 32 40 235 355 15x2 0,232
22 M30x2_ 807212200 82722200 83722200 ZS14/1-29/L22V-DM 27 36 4 275 385 202 0313

28 M36x2  8072L2800 82722800 83722800 ZS14/1-29/L28V-DM 36 41 47 305 415 2622 042
250 35 M45x2 807213500 827213500 837203500 Z514/1-29/L35V-DM 4 50 56 345 51 32x25 0,643
42 M52 807214200 82724200 837214200 ZS14/1-29/L42V-DM 5 60 63 40 56 38x25 1013

6 M14x15 807250600 827250600 837250600 ZS14/1-29/S6V-DM % 177 31 16 27 415 0063

8 M16x15 807250800 827250800 837250800 ZS14/1-29/S8V-DM 7 19 3 17 215 6x15 0078

630 10 M18x15 807251000 827251000 837251000 ZS14/1-29/S10V-DM 19 22 3 175 30 75x15 0117
12 M20x15 807251200 827251200 837251200 Z514/1-29/S12V-DM 22 24 38 215 31 915 0,140

S 14 M22x15 807251400 827251400 837251400 Z514/1-29/S14V-DM 19 27 40 22 35 102 019
16 M2ax15 807251600 827251600 837251600 Z514/1-29/S16V-DM 24 30 43 245 365 122 0,252

400 20 a2 807252000 8272520 008372520 00_ZS14/1-29/S20V-DM 27 36 48 265 445 163x24 0401
25 M36x2 807252500 827252500 837252500 ZS514/1-29/S25V-DM 3% 46 54 30 50 20324 0727

30 M42x2 807253000 827253000 837253000 ZS14/1-29/S30V-DM 4 50 62 355 55  253x24 0,990

315 38 M52x2 807253800 827253800 837253800 Z514/1-29/S38V-DM 50 60 72 41 63 33324 1439

* Models @D 6 to 10mm are manufactured from profile steel

Models @D > 10mm are manufactured from forged steel

present.

Couplings with 24° sealing cone and O-ring ensure
high safety, particularly when strong vibration,
whip-lash and temperature fluctuations may be

LA




Couplings to ISO 8434-1/DIN 2353 ﬂ . s

Adjustable and o e
standpipe 45° P y~

elbows (DKO) | e
24° sealing cone and O-ring [

& & &
PN ©D C 'f:l:’;' °°“:’i':!;"“° D'r'i“n°g"a Bell code FI F2 L1 L2 L3 Ong
6 M12x15 8070L06 00 8270L06 00 8370L06 00 ZS14/7-29/L6V-DM 4 14 24 9 2 4x15 0,050
8 M14x15 8070L08 00 8270L08 00 8370L08 00 ZS14/7-29/L8V-DM 4 17 27 12 215 6x15 0,069
400 10 M16x1,5 8070L1000 8270L10 00 8370L10 00 ZS14/7-29/L10V-DM 19 19 27 1229  715x15 0,101
12 M18x15 8070L1200 8270L1200 8370L1200 ZS14/7-29/L12V-DM 19 22 28 14 295 915 0,119
L 15 M22x15 8070L1500 8270L1500 8370L1500 ZS14/7-29/L15V-DM 22 27 32 17 325 12x2 0,189
31518 M26x15 807011800 8270L1800 8370L18 00 2514/7-29/L18V-DM 27 32 33 17 355 15x2 0285
22 M30x2  8070L22 00 8270L22 00 8370122 00 ZS14/7-29/L22V-DM 30 36 35 19 385  20x2_ 0,348
28 M36x2  8070L28 00 8270L28 00 8370L28 00 ZS14/7-29/L28V-DM 341 40 23 415 26x2 0450
250 35 M45x2  8070L3500 827013500 8370L3500 ZS14/7-29/L35V-DM 50 50 48 27 51 3225 0,959
42 M52x2  8070L42 00 8270L42 00 8370142 00 ZS14/7-29/L42V-DM 50 60 49 26 56 38x2,5 1,080
6  M14x15 8070506 00 8270506 00 8370506 00 ZS14/7-29/S6V-DM % 17 24 9 2 4x15 0,070
8  M16x15 8070508 00 8270508 00 8370508 00 ZS14/7-29/S8V-DM 19 19 27 12 215 6x15 0,104
m 630 10 M18x1,5 807081000 827051000 837051000 ZS14/7-29/S10V-DM 19 2 29 13 30  75x15 0,134
12 M20x15 807051200 827051200 837081200 ZS14/7-29/S12V-DM 19 24 33 17 31 9x1,5 0,153
S 16 M24x15 807051600 8270516 00 8370516 00 ZS14/7-29/S16V-DM 27 30 34 16 365 12x2 0277
20  M30x2 8070520 00 8270520 00 8370520 00 ZS14/7-29/S20V-DM 30 36 38 16 445 163x2,4 0432
40025 M36x2 807052500 827052500 837052500 2§14/7-29/S25V-DM 36 46 43 19 50 20,3x2,4 0,765
30 Md42x2  8070S30 00 8270S30 00 8370530 00 ZS14/7-29/S30V-DM 50 50 50 24 55  253x2,4 1,153
315 38 M52x2 807053800 827053800 837053800 ZS14/7-29/S38V-DM 50 60 52 21 63  333x24 1,363




HAlegris
@

Adjustable male
stud branch tees

(DKO)

24° sealing cone and O-ring

F1

F2

~ Couplings to ISO 8434-1/DIN 2353

[h
C
L2
L1
& &
PN OD C ';:;’;’ D"“:’i':!;'"‘e D'r'i"n"g"a Bell code F1* F2 L1 L2 L3  Orig
6 M12x15  8074L06 00 8274L06 00 8374L06 00 ZS14/2-29/L6V-DM 12 14 27 12 2% 415 0065
8 M14x15  8074L0800 8274L08 00 8374L08 00 ZS14/2-29/L8V-DM 14 17 29 14 215  6x15 0,077
400 10 M16x1,5 8074L1000 8274L10 00 8374L10 00 ZS14/2-29/L10V-DM 1719 30 15 29  75x15 0,100
12 M18x15  8074L1200 8274L1200 8374L1200 ZS14/2-29/L12V-DM 19 22 32 17 295 915 0,132
L 15 M22x15  8074L15 00 8274L15 00 8374L15 00 ZS14/2-29/L15V-DM 19 27 36 21 325  12x2 0,226
315 18 _M26x15  8074L1800 82741800 8374L1800 2514/2-29/L18V-DM 2432 40 235 35 15x2 0,337
22 M30x2 807412200 8274122 00 8374122 00 _7S14/2-29/L22V-DM 27 36 44 275 385  20x2 0436
28 M36x2  8074L28 00 8274L28 00 8374128 00 ZS14/2-29/L28V-DM 36 41 47 305 415  26x2 0616
250 35 M45x2  8074L3500 827413500 8374L3500 ZS14/2-29/L35V-DM 41 50 56 345 51 3225 0918
42 M52x2 807414200 8274L42 00 8374142 00 ZS14/2-29/L42V-DM 50 60 63 40 56 38x25 1,063
6 M14x15 8074506 00 8274506 00 8374506 00 ZS14/2-29/S6V-DM 14 17 31 16 27 415 0,097
8 M16x15 8074508 00 8274508 00 8374508 00 ZS14/2-29/S8V-DM 17 19 32 17 215 6x15 0,118
630 10 M18x1,5 807481000 827451000 837451000 ZS14/2-29/S10V-DM 19 22 34 175 30  75x15 0,157
12 M20x15 807451200 827451200 837451200 ZS14/2-29/S12V-DM 2 24 38 215 31 9x1,5 0214
S 14 M22x15 807451400 8274514 00 8374514 00 ZS14/2-29/S14V-DM 19 27 40 2 35 10x2 0,280
16 M24x15 807451600 8274516 00 8374516 00 ZS14/2-29/S16V-DM 2430 43 245 365  12x2 0,367
40020 M30x2 807452000 827452000 8374520 00 2§14/2-29/S20V-DM 27 36 48 265 445 163x24 0,601
25 M36x2 807452500 827452500 837452500 7S14/2-29/$25V-DM 3 46 54 30 50  203x24 1,028
30 M42x2 8074530 00 8274530 00 8374530 00 ZS14/2-29/S30V-DM 41 50 62 355 55 253x24 1,338
315 38 M52x2 807453800 827453800 837453800 ZS14/2-29/S38V-DM 5 60 72 4 63  333x2,4 1,988

* Models @D 6 to 10mm are manufactured from profile steel

Models @D > 10mm are manufactured from forged steel

Discover it on legris.com

o A dynamic catalogue of the complete range - to
consult and, through which, to request a quotation.

e A technical guide with animated presentations of
product ranges.

e More than 3000 CAD drawings available.




Couplings to ISO 8434-1/DIN 2353 ﬂ . s

Standpipe run tees
(DKO)

24° sealing cone and O-ring

& & &
PN @D C ';:;’;’ °°“:’i':!;'"‘° D'r'i“n“g"a Bell code F1* F2 L1 L2 L3  Oring
6 M12x15 807306 00 8273L06 00 8373L06 00 ZS14/3-29/L6V-DM 2 14 27 12 26 4x15 0,065
8 M14x15 807308 00 8273L08 00 8373L08 00 ZS14/3-29/L8V-DM 4 17 29 14 275 6x15 0,081
400 10 M16x1,5 8073L1000 8273L1000 8373L10 00 ZS14/3-29/L10V-DM 77 19 30 15 29 75x15 0,100
12 M18x15  8073L1200 8273L1200 8373L1200 ZS14/3-29/L12V-DM 19 22 32 17 295 915 0141
L 15 M22x15  8073L1500 8273L15 00 8373L15 00 ZS14/3-29/L15V-DM 19 27 36 21 325 12x2 0,230
315 18 _M26x15 80731800 82731800 8373L1800 2514/3-29/L18V-DM 24 32 40 235 3HB5  15x2 0317
22 M30x2__ 8073L22 00 8273L22 00 8373122 00 ZS14/3-29/L22V-DM 27 3 44 215 385  20x2 0433
28 M36x2  8073L2800 8273L28 00 837328 00 ZS14/3-29/L28V-DM 36 41 47 305 415 26x2 0561
250 35 M45x2  8073L3500 827313500 8373L3500 ZS14/3-29/L35V-DM 41 50 56 345 51 3225 0,908
42 M52x2  8073L4200 8273L4200 8373142 00 ZS14/3-29/L42V-DM 50 60 63 40 56 38x2,5 1,340
6 M14x15 8073506 00 8273506 00 8373506 00 ZS14/3-29/S6V-DM 14 17 31 16 27 415 0,09
8 M16x15 8073508 00 8273508 00 8373508 00 ZS14/3-29/S8V-DM 177 19 32 17 215 6x15 0117
m 630 10 M18x1,5 807351000 827351000 837351000 ZS14/3-29/S10V-DM 19 22 34 1715 30 75x15 0,167
12 M20x15 807351200 827351200 837351200 ZS14/3-29/S12V-DM 2 24 38 215 31 x5 0213
S 14 M22x15 807351400 8273514 00 8373514 00 ZS14/3-29/S14V-DM 19 27 40 2 3% 10x2 0,279
16 M24x15 807351600 827351600 8373516 00 ZS14/3-29/S16V-DM 2430 43 245 365  12x2 0,369
40020 M30x2 807352000 827352000 837352000 Z514/3-29/520V-DM 27 36 48 265 445 163x24 0577
25 M36x2 807352500 827352500 837352500 ZS14/3-29/S25V-DM 36 46 54 30 50  20,3x2,4 1,043
30 M42x2 8073530 00 8273530 00 8373530 00 ZS14/3-29/S30V-DM 41 50 62 355 55 253x24 1,358
315 38 M52x2 807353800 827353800 837353800 ZS14/3-29/S38V-DM 50 60 72 41 63 333x24 1983

* Models @D 6 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



HAlegris
@

Adjustable stud
standpipe elbows
pre-assembled ring

~ Couplings to ISO 8434-1/DIN 2353

&

PN ©D C 'f):’l:’;' D"“:’i':!;"“e Bell code F1 F2 L1 L2 L3
6 M12x15  8046L06 00 8246L06 00 ZS15/1-29/L6V 12 14 27 12 26 0,040

8 M14x15 8046L08 00 8246L08 00 ZS15/1-29/L8V 12 17 29 14 275 0,046

400 10 M16x1,5  8046L10 00 8246L10 00 ZS15/1-29/L10V 14 19 30 15 29 0,065
12 M18x15  8046L1200 8246L1200 ZS15/1-29/L12V 17 22 32 17 295 0,090

L 15 M22x15  8046L15 00 8246L15 00 ZS15/1-29/L15V 19 27 36 21 325 0,149
315 18 _M26x15 804611800 8246118 00 7815/1-29/L18V 24 32 40 235 355 0215
22 M30x2__ 8046L22 00 8246L22 00 7S815/1-29/L22V 27 36 44 275 385 0,285

28 M36x2  8046L28 00 8246L28 00 ZS15/1-29/L28V 36 41 47 305 415 0410
250 35 M45x2  8046L3500 824613500 Z515/1-29/L35V 41 50 56 345 51 0590
42 M52x2  8046L42 00 8246142 00 ZS15/1-29/L42V 50 60 63 40 56 1,045

6 M14x15 8046506 00 8246506 00 ZS15/1-29/S6V 12 17 31 16 27 0,051

8 M16x15 8046508 00 8246508 00 ZS15/1-29/S8V 14 19 32 17 215 0,074

630 10 M18x1,5 804651000 8246510 00 ZS15/1-29/S10V 17 22 34 175 30 0,100
12 M20x15 804651200 824651200 ZS15/1-29/S12V 17 24 38 215 31 0133

S 14 M22x15 804651400 8246514 00 ZS15/1-29/S14V 19 27 40 22 35 0,165
16 M24x15 8046516 00 8246516 00 ZS15/1-29/S16V 24 30 43 245 365 0235
40020 _M30x2 8046520 00 8246520 00 7515/1-29/S20V 27 36 48 265 445 0,340
25 M36x2 804652500 824652500 ZS815/1-29/S25V 36 46 54 30 50 0,680

30 M42x2 8046530 00 8246530 00 ZS15/1-29/S30V 41 50 62 355 55 0,885
315 38 M52x2 804653800 824653800 ZS15/1-29/S38V 50 60 72 41 63 1420




Alegris
@

Adjustable male
stud branch tees E

pre-assembled ring 1o

L3

@
PN ©D C 'f):’l:’;' D““E‘;"“e Bell code F1 F2 L1 L2 L3
6 M12x15 804700600 8247L0600 ZS15/2-29/L6V 12 14 27 12 26 0060
8 M14x15 8047L0800 8247L0800 Z515/2-29/L8V 12 17 29 14 275 0066
400 10 M16x15 804701000 8247L1000 Z515/2-29/L10V 14 19 30 15 29 0,090
12 M18x15 80471200 8247L1200 ZS15/2-29/L12V 7 2 32 17 295 0130
L 15 M22x15 80471500 8247L1500 Z515/2-29/L15V 19 27 36 21 325 0,209
315 18 MZ6x15  SIATLIS 00 G2TLIB0) ZS15/229/L1BV 24 32 40 235 355 0,320
22 M30x2 804712200 824702200 Z515/2-29/L22V 27 36 44 275 385 0,420
28 M36x2  8047L2800 824712800 Z515/2-29/L28V 36 41 47 305 415 0,600
250 35 M45x2 804713500 824703500 Z515/2-29/L35V 41 50 56 345 51 0865
42 M52 8047L4200 82474200 Z515/2-29/L42V 5 60 63 40 56 1095
6 M14x15 8047506 00 824750600 Z515/2-29/S6V 12 17 31 16 27 0,086
8 M16x1,5 804750800 824750800 Z515/2-29/S8V 1% 19 32 17 275 0119
m 630 10 M18x15 804751000 824751000 Z515/2-29/S10V 7 22 3 175 30 0,140
12 M20x15 804751200 824751200 Z515/2-29/S12V 17 24 38 215 31 0198
S 14 M22x15 804751400 824751400 Z515/2-29/S14V 19 27 40 22 3% 0270
16 M2ax15 804751600 824751600 Z515/2-29/S16V 24 30 43 245 365 0,356
400 20 a2 B4TS2000 8247520 00_ZST6/2:29/S20V 27 36 43 265 445 0,540
25 M36x2 804752500 824752500 Z515/2-29/S25V 3% 46 54 30 50 1020
30 M42x2 804753000 824753000 Z515/2-29/S30V 4 50 62 35 55 1329
315 38 M52x2 804753800 824753800 2515/2-29/S38V 50 60 72 41 63 2,100




.y, =
~ Couplings to ISO 8434-1/DIN 2353

HAlegris
@

Standpipe run tees

pre-assembled ring

PN ©D C 'f:l:’;' °°“:’i':!;"“° Bell code F1 F2 L1 L2 L3

6 M12x15 8048L0600 8248L0600 ZS15/3-29/L6V 12 14 27 12 26 0060

8 M14x15 8043L0800 8248L0800 Z515/3-29/L8V 12 17 29 14 275 0071

400 10 M16x15 8048L1000 8248L1000 Z515/3-29/L10V 14 19 30 15 29 0,095

12 M18x15 80481200 8248L1200 Z515/3-29/L12V 7 2 32 17 295 0,125

L 15 M22x15 80481500 8248L1500 Z515/3-29/L15V 19 27 36 21 325 0,199

315 18 _M26x15  G4BL18 00 G248L1B00 ZS15/3-29/L1BV 24 32 40 235 355 0,300

22 M30x2 804812200 824812200 Z515/3-29/L22V 27 36 44 275 385 0400

28 M36x2  8048L2800 82482800 Z515/3-29/L28V 36 41 47 305 415 0545

250 35 M45x2 804813500 8248L3500 Z515/3-29/L35V 41 50 56 345 51 0720

42 M52x2  8048L4200 8248L4200 Z515/3-29/L42V 50 60 63 40 56 1080

6 M14x15 804850600 824850600 Z515/3-29/S6V 12 17 31 16 27 0076

8 M16x1,5 804850800 824850800 Z515/3-29/S8V 1% 19 32 17 275 0109

630 10 M18x15 804851000 824851000 Z515/3-29/S10V 7 22 3 175 30 0,160
12 M20x15 804851200 824851200 Z515/3-29/S12V 17 24 38 215 31 0,193 ﬂ

S 14 M22x15 804851400 824851400 Z515/3-29/S14V 19 27 40 22 3% 0250

16 M2ax15 804851600 824851600 Z515/3-29/S16V 24 30 43 245 365 0345

400 20 a2 81482000 8248520 00_ZST5/3-29/S20V 27 36 43 265 445 0505

25 M36x2 804852500 824852500 Z515/3-29/S25V 3% 46 54 30 50 0970

30 M42x2 804853000 824853000 Z515/3-29/S30V 4 50 62 355 55 1245

315 38 M52x2 804353800 824853800 2515/3-29/S38V 50 60 72 41 63 1915




(DKO)

BSP parallel
elastomer seal
ISO 1179-2

Adjustable stud
standpipe elbows

Couplings to ISO 8434-1/DIN 2353 ﬂ |

Alegris
@

& &
PN ©D C 'f:l:’;' °°“:’i':!;"“° D'r'i“n°g"a Bell code E F1* F2 F3 G L1 L2 L3
6 G1/8 8072L06 10 8272L06 10  8372L06 10 ZS14/1-29/L6RD-DM 8 12 14 14 139 27 12 345 0,060
8 G1/4 8072L08 13 8272L08 13  8372L08 13 ZS14/1-29/L8RD-DM 12 14 19 17 189 29 14 375 0,080
400 10 G4 80721013 827211013 8372L10 13 Z7S14/1-29/L1ORD-DM 12 17 19 19 189 30 15 40 0,090
12 G3/8 8072L1217 827211217 837201217 Z7S14/1-29/L12RD-DM 12 19 22 22 219 32 17 42 0,30
L 15 G1/2 807211521 827211521 837201521 Z7S14/1-29/L15RD-DM 14 19 27 27 269 36 21 465 0,230
31518 G1/2 807211821 827201821 837211821 7S14/1-29/L18RD-DM 14 24 27 32 269 40 235 50 0,290
22 G3/4 8072122 27 827212227 837212227 7S14/1-29/L22RD-DM 16 27 32 36 319 44 275 55 0410
28 G1 8072128 34 827212834 837212834 7514/1-29/L28RD-DM 18 36 41 41 399 47 305 59 0,580
250 35 G1"1/4 807213542 827213542 837213542 7514/1-29/L35RD-DM 20 41 50 50 499 56 345 685 0,890
42 G1"/2 807214249 827214249 837214249 7S14/1-29/L42RD-DM 22 50 55 60 549 63 40 75 1230
6 G1/4 8072506 13 8272806 13 8372506 13 ZS14/1-29/S6RD-DM 12 14 19 17 189 31 16 40 0,095
8 G1/4 8072508 13 8272508 13 8372508 13 ZS14/1-29/S8RD-DM 12 17 19 19 189 32 17 425 0,112
E 630 10 G3/8 807251017 827251017 837251017 7S14/1-29/S10RD-DM 12 19 22 22 219 34 175 45 0,166
12 G3/8 807251217 827281217 837281217 7S14/1-29/S12RD-DM 12 22 22 24 219 38 215 48 0,197
S 14 G1/2 807251421 827251421 837251421 7S14/1-29/S14RD-DM 14 19 27 27 269 40 22 54 0,290
16 G1/2 807251621 827251621 837251621 Z7S14/1-29/S16RD-DM 14 24 27 30 269 43 245 55 0,338
400-2 G3/4 807252027 8272520 27 837252027 7S14/1-29/S20RD-DM 16 27 32 36 31,9 48 265 65 0545
2% G1 807252534 827252534 837252534 7S14/1-29/S25RD-DM 18 36 41 46 399 54 30 73 0980
30 G1"1/4 807253042 827253042 837253042 7S14/1-29/S30RD-DM 20 41 50 50 499 62 355 785 1,397
315 38 G1"1/2 307253849 827253849 837253849 7S514/1-29/S38RD-DM 22 50 55 60 549 72 41 89 2,000

* Models @D 6 to 10mm are manufactured from profile steel

Models @D > 10mm are manufactured from forged steel



.y, =
~ Couplings to ISO 8434-1/DIN 2353

HAlegris
@

Adjustable stud
standpipe elbows
(DKO)

metric parallel -
elastomer seal
ISO 9974-2

A
Body Double-bite DiNova
PN @D C only ting ring Bell code E F1* F2 F3 G L1 L2 L3

6 M10x1 8072L06 60 8272L06 60 8372L06 60 ZS14/1-29/L6MD-DM 8§ 12 14 14 139 27 12 345 0,060
8 M12x15 8072008 67 827208 67 8372L08 67 ZS14/1-29/L8MD-DM 12 14 17 17 169 29 14 375 0,080
400 10 M14x15 8072L1071 8272L1071 8372L1071 ZS14/1-29/L10MD-DM 12 17 19 19 189 30 15 40 0,090
12 M16x15 807201275 8272L1275 837201275 ZS14/1-29/L12MD-DM 12 19 22 22 219 32 17 42 0,130
L 15 M18x15 8072L1578 8272L1578 8372L1578 ZS14/1-29/L15MD-DM 12 19 24 27 239 36 21 46 0,230
315 18 M22x15 8072L1882 827201882 837201882 ZS14/1-29/L'8MD-DM 14 24 27 32 269 40 235 50 0,290
22 M26x15 8072L2289 827212289 8372L2289 ZS14/1-29/L22MD-DM 16 27 32 36 319 44 275 55 0410
28 M33x2 8072L28 91 827212891 83722891 ZS14/1-29/L28MD-DM 18 36 41 41 399 47 305 59 0580
250 35 M42x2 807213596 82723596 837203596 ZS14/1-29/L35MD-DM 20 41 50 50 499 56 345 685 0,890
42 M48x2 807204298 827214298 837214298 ZS14/1-29/L42MD-DM 22 50 55 60 549 63 40 75 1,230
6 M12x15 8072506 67 8272506 67 8372506 67 ZS14/1-29/S6MD-DM 12 14 17 17 169 31 16 40 0,09
8 M14x15 807250871 827250871 837250871 ZS14/1-29/S8MD-DM 1217 19 19 189 32 17 425 0112

630 10 M16x15 807251075 827251075 837251075 Z7S14/1-29/S10MD-DM 12 19 22 22 219 34 175 45 0,166
12 M18x15 807251278 827251278 837251278 ZS14/1-29/S12MD-DM 12 22 24 24 239 38 215 48 0,197 m
S 14 M20x15 807251480 827251480 837251480 ZS14/1-29/S14MD-DM 14 19 27 27 259 40 22 54 0,290
16 M22x15 807251682 827251682 837251682 ZS14/1-29/S16MD-DM 14 24 27 30 269 43 245 55 0,338
20 M27x2 8072520 86 827252086 8372520 86 ZS14/1-29/S20MD-DM 16 27 32 36 319 48 265 65 0545
25 M33x2 807252591 827252591 837252591 ZS14/1-29/S25MD-DM 18 36 41 46 399 54 30 73 0,980
30 M42x2 8072530 96 8272530 96 8372530 96 ZS14/1-29/S30MD-DM 20 41 50 50 499 62 355 785 1,397
315 38 M48x2 8072538 98 827253898 837253898 ZS14/1-29/S38MD-DM 22 50 55 60 549 72 41 89 2,006

400

* Models @D 6 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



Couplings to ISO 8434-1/DIN 2353 ﬂ |

Alegris
@

Adjustable male -
stud branch tees Q’Diﬁk * oo}

(DKO) r—r|

BSP parallel ]
elastomer seal ¢
ISO 1179-2

&) <N [<
PN @D C Body  Double-bite  DiNova Bell code E FI* F2 F3 G L1 L2 L3

only ring ring =

6 G1/8 8074L06 10 8274L06 10 8374L06 10 ZS14/2-29/L6RD-DM 8 12 14 14 139 27 12 34,5 0,070

8 G1/4 8074L08 13  8274L08 13  8374L08 13 ZS14/2-29/L8RD-DM 12 14 19 17 189 29 14 37,5 0,110

400 10 G1/4 8074L10 13  8274L1013 8374L10 13 ZS14/2-29/L10RD-DM 12 17 19 19 189 30 15 40 0,130

12 G3/8 8074L12 17 827411217 8374L1217 ZS14/2-29/L12RD-DM 12 19 22 22 219 32 17 42 0,170

L 15 G1/2 8074L1521 8274L1521 8374L1521 ZS14/2-29/L15RD-DM 12 19 27 27 269 36 21 46,5 0,290
315 18 G1/2 8074L18 21 827411821 8374L18 21 ZS14/2-29/L18RD-DM 14 24 27 32 269 40 235 50 0,400

22 G3/4 8074L22 27 827412227 8374L22 27 7S14/2-29/L22RD-DM 16 27 32 36 319 44 275 55 0530
28 G1 8074L28 34 8274128 34 8374128 34 7S14/2-29/L28RD-DM 18 36 41 41 399 47 305 59 0,770
250 35 G1"1/4 8074L3542 8274L3542 8374L3542 ZS14/2-29/L35RD-DM 20 41 50 50 499 56 345 685 1,170
42 G1"/2 8074L42 49 827414249 8374L42 49 7S14/2-29/L42RD-DM 22 50 55 60 549 63 40 75 1,280

6 G1/4 8074506 13 8274506 13 8374506 13 ZS14/2-29/S6RD-DM 12 14 19 17 189 31 16 40 0,130

8 G1/4 8074508 13 8274508 13 8374508 13 ZS14/2-29/SSRD-DM 12 17 19 19 189 32 17 42,5 0,150

m 630 10 G3/8 807451017 827451017 837451017 ZS14/2-29/S10RD-DM 12 19 22 22 219 34 175 45 0210
12 G3/8 807451217 827451217 837481217 1ZS14/2-29/S12RD-DM 12 22 22 24 219 38 215 48 0,290
S 14 G1/2 807451421 827451421 837451421 Z7S14/2-29/S14RD-DM 14 19 27 27 269 40 22 54 0,370

16 G1/2 807451621 827451621 837451621 ZS14/2-29/S16RD-DM 14 24 27 30 269 43 245 55 0450
20 G3/4 807452027 827452027 837452027 7S14/2-29/S20RD-DM 16 27 32 36 319 48 265 65 0,750
25 G1 8074525 34 827452534 837452534 ZS14/2-29/S25RD-DM 18 36 41 46 399 54 30 73 1,280
30 G1"1/4 807453042 827453042 837453042 7S14/2-29/S30RD-DM 20 41 50 50 499 62 355 785 1,740
315 38 G1"1/2 807453849 827453849 837453849 7S14/2-29/S38RD-DM 22 50 55 60 549 72 41 89 2,550

400

* Models @D 6 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



- =
Blegrs ~ Couplings to ISO 8434-1/DIN 2353
Adjustable male
stud branch tees
(DKO)

metric parallel
elastomer seal
ISO 9974-2

&) <N [<
PN @D C Body  Double-bite  DiNova Bell code E FI* F2 F3 G L1 L2 L3

only ring ring =

6 M10x1  8074L0660 8274L06 60 8374L06 60 ZS14/2-29/L6MD-DM 8 12 14 14 139 27 12 345 0,070

8 M12x15 8074L0867 8274L08 67 8374L08 67 ZS14/2-29/L8MD-DM 12 14 17 17 169 29 14 3715 0,110

400 10 M14x15 8074L1071 8274L1071 8374L1071 ZS14/2-29/L1OMDDM 12 17 19 19 189 30 15 40 0,130
12 M16x15 8074L1275 8274L1275 8374L1275 Z7S14/2-29/L12MD-DM 12 19 22 22 219 32 17 42 0170

L 15 M18x15  8074L1578 8274L1578 8374L1578 7S14/2-29/L15MD-DM 12 19 24 27 239 36 21 46 0,290
315 18 _M22x15  8074L1882 827411862 6374118 82 7814/2-29/L18MD-DM 14 24 27 32 269 40 235 50 0,400
22 M26x15 807412289 827412289 837412289 7S14/2-29/L22MD-DM 16 27 32 36 319 44 275 55 0530

28 M33x2  8074L2891 8274L2891 8374L2891 Z7S14/2-29/L28MD-DM 18 36 41 41 399 47 305 59 0,770
250 35 M42x2 807413596 827413596 837413596 7S14/2-29/L35MD-DM 20 41 50 50 499 56 345 685 1,117
42 M48x2 807414298 8274L4298 837414298 7S14/2-29/L42MD-DM 22 50 55 60 549 63 40 75 1,128

6 M12x15 807450667 8274506 67 8374506 67 7S14/2-29/S6MD-DM 12 14 17 17 169 31 16 40 0,130

8 M14x15 807450871 827450871 837450871 7S14/2-29/S8MD-DM 12 17 19 19 189 32 17 425 0,150

630 10 M16x1,5 807451075 827451075 837451075 ZS14/2-29/S10MD-DM 12 19 22 22 219 34 175 45 0,210 E
12 M18x15 807451278 827451278 837451278 7514/2-29/S12MD-DM 12 22 24 24 239 38 215 48 0,290

S 14 M20x15 807451480 827451480 837451480 Z7S14/2-29/S14MD-DM 14 19 27 27 259 40 22 54 0370
16 M22x15 807451682 827451682 837451682 7S14/2-29/S16MD-DM 14 24 27 30 269 43 245 55 0450
40020 M27x2 807452086 827452086 8374520 86 7514/2-29/S20MD-DM 16 27 32 36 319 48 265 65 0,750
25 M33x2 807452591 827452591 837452591 Z7S14/2-29/S25MD-DM 18 36 41 46 399 54 30 73 1,280

30 M42x2 807453096 8274530 96 8374530 96  ZS14/2-29/S30MD-DM 20 41 50 50 499 62 355 785 1,174

315 38 M48x2 807453898 827453398 837453893 Z7S14/2-29/S38MD-DM 22 50 55 60 549 72 41 89 2550

* Models @D 6 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



Standpipe run tees
(DKO)
BSP parallel

elastomer seal
ISO 1179-2

L3

o

Alegris
@

& A
PN OD C 'f):’l:’;' D““E‘;"“e D'r'i"n°g"a Bell code G FI* 2 F3 G L1 L2 L3
6 G18 8073L06 10  8273L06 10 8373L06 10 ZS14/3-29/L6RD-DM 8 12 14 14 139 27 12 345 0,070
8 Gl/4 8073L08 13  8273L0813 8373L08 13 ZS14/3-29/L8RD-DM 2 14 19 17 189 29 14 375 0,100
400 10 G4 8073L10 13 8273L1013 8373L1013 ZS14/3-29/L10RD-DM 12 17 17 19 189 30 15 40 0,130
12 G3/8 8073L1217 8273L1217 8373L1217 ZS14/3-29/L12RD-DM 12 19 22 22 219 32 17 42 0,180
L 15 G1/2 8073L1521 8273L1521 8373L1521 ZS14/3-29/L15RD-DM 14 19 27 27 269 36 21 465 0,290
315 18 G1/2 8073L1821 8273L1821 8373L1821 7S14/3-29/L18RD-DM 14 24 27 32 269 40 235 50 0,380
22 G3/4 807312227 827312227 837312227 7S14/3-29/L22RDDM 16 27 32 36 319 44 275 55 0522
28 G1 807312834 827312834 837312834 7S14/3-29/L28RD-DM 18 36 41 41 399 47 305 59 0,720
250 35 G1"1/4 807313542 827313542 837313542 ZS14/3-29/L35RD-DM 20 41 50 50 499 56 345 685 1,116
42 G1"1/2  3073L4249 827314249 837314249 7S14/3-29/L42RD-DM 22 50 55 60 549 63 40 75 1,150
6 Gl/4 8073506 13 8273506 13 8373506 13 ZS14/3-29/S6RD-DM 2 14 19 17 189 31 16 40 0,120
8 Gl/4 8073508 13 8273508 13 8373508 13 ZS14/3-29/S8RD-DM 12 17 19 19 189 32 17 425 0,150
m 630 10 G3/8 807351017 827351017 837351017 ZS14/3-29/S10RD-DM 12 19 22 22 219 34 175 45 0,220
12 G3/8 807381217 827351217 837351217 ZS14/3-29/S12RD-DM 12 22 22 24 219 38 215 48 0,280
S 14 G1/2 807351421 827351421 837351421 7S14/3-29/S14RD-DM 14 19 27 27 269 40 22 54 0370
16 G1/2 807351621 827351621 837351621 ZS14/3-29/S16RD-DM 14 24 27 30 269 43 245 55 0,450
400 20 G3/4 807352027 827352027 837352027 ZS14/3-29/S20RD-DM 16 27 32 36 319 48 265 65 0,720
25 G1 807352534 827352534 837352534 7S14/3-29/S25RD-DM 18 36 41 46 399 54 30 73 1,300
30 G1"1/4 807353042 827353042 837353042 Z7S14/3-29/S30RD-DM 20 41 50 50 499 62 355 785 1,765
315 38 G1"1/2 307353849 827353849 837353849 Z2S14/3-29/S38RD-DM 22 50 55 60 549 72 41 89 2543

* Models @D 6 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel

Identification of Legris part numbers
Example of product codes

DiNova cutting ring

Series L

o.d. of tube 28 mm

Thread G1”




- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

Adjustable male

stud run tees |
(DKO) -l

L3

o

metric parallel

elastomer seal E _CJ
ISO 9974-2 G

& <N [<
PN @D C Body  Double-bite  DiNova Bell code E FI* F2 F3 G L1 L2 L3

only ring ring =

6 M10x1  8073L0660 8273L06 60 8373L06 60 ZS14/3-29/L6MD-DM 8 12 14 14 139 27 12 345 0,075

8 M12x15 8073L0867 8273L08 67 83730867 ZS14/3-29/L8MD-DM 12 14 17 17 169 29 14 375 0,109

400 10 M14x15 8073L1071 8273L1071 8373L1071 ZS14/3-29/L1OMDDM 12 17 19 19 189 30 15 40 0,127
12 M16x15 8073L1275 8273L1275 8373L1275 ZS14/3-29/L12MD-DM 12 19 22 22 219 32 17 42 0,180

L 15 M18x15  8073L1578 8273L1578 8373L1578 Z7S14/3-29/L15MD-DM 12 19 24 27 239 36 21 46 0,290
315 18 _M22x15 80731882 827311862 6373118 82 7514/3-29/L18MD-DM 14 24 27 32 269 40 235 50 0,382
22 M26x15 807312289 827312289 837312289 7S14/3-29/L22MD-DM 16 27 32 36 319 44 275 55 0524

28 M33x2 807312891 827312891 8373L2891 7S14/3-29/L28MD-DM 18 36 41 41 399 47 305 59 0716
250 35 M42x2 807313596 827313596 837313596 7S14/3-29/L35MD-DM 20 41 50 50 499 56 345 685 1,160
42 M48x2  8073L4298 8273L4298 837314298 7S14/3-29/L42MD-DM 22 50 55 60 549 63 40 75 1559

6 M12x15 807350667 827350667 8373506 67 ZS14/3-29/S6MD-DM 12 14 17 17 169 31 16 40 0,122

8 M14x15 807350871 827350871 837350871 27S14/3-29/S8MD-DM 12 17 19 19 189 32 17 425 0,151

630 10 M16x1,5 807351075 827351075 837351075 ZS14/3-29/S10MD-DM 12 19 22 22 219 34 175 45 0216
12 M18x15 807351278 827351278 837351278 7514/3-29/S12MD-DM 12 22 24 24 239 38 215 48 0275

S 14 M20x15 807351480 827351480 837351480 Z7S14/3-29/S14MD-DM 14 19 27 27 259 40 22 54 0374
16 M22x15 807351682 827351682 837351682 Z7S14/3-29/S16MD-DM 14 24 27 30 269 43 245 55 0455
40020 M27x2 807352086 827352086 8373520 86 7514/3-29/S20MD-DM 16 27 32 36 319 48 265 65 0722
25 M33x2 807352591 827352591 837352591 ZS14/3-29/S25MD-DM 18 36 41 46 399 54 30 73 1,300

30 M42x2 807353096 8273530 96 837353096  ZS14/3-29/S30MD-DM 20 41 50 50 499 62 355 785 1765
315 38 M48x2 807353898 827353398 837353893 Z2514/3-29/S38MD-DM 22 50 55 60 549 72 41 89 2,543

* Models @D 6 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



Couplings to ISO 8434-1/DIN 2353 Eﬁ

Adjustable stud
and standpipe
elbows

BSP parallel
sealing bite ¢
ISO 1179-4

&
PN ©D C 'f):’l:’;' D““ﬁ';""" Bell code E F1 FP2 F3 G L1 L2 L3
6 G1/8 8046L06 10  8246L06 10  ZS15/1-29/L6RB 8 12 14 14 14 27 12 345 0,050
8 G1/4 8046L08 13  8246L08 13  ZS15/1-29/L8RB 2 12 19 17 18 29 14 375 0,070
10 G1/4 8046L10 13  8246L10 13  ZS15/1-29/L10RB 2 14 19 19 18 30 15 40 0,090
315 12 G3/8 80461217 8246L1217 Z515/1-29/L12RB 12 17 2 2 22 32 17 42 0120
L 15 G1/2 8046L15 21 8246L1521 Z515/1-29/L15RB 14 19 27 27 26 36 21 46 0,220
18 G1/2 8046L18 21 8246L1821 Z515/1-29/L18RB 14 24 27 32 26 40 235 50 0,280
22 G3/4 8046L22 27 8246L22 27 7515/1-29/L22RB 16 27 32 36 32 44 2715 55 0370
28 G1 8046L28 34 824628 34 7515/1-29/L28RB 18 36 41 41 39 47 305 59 0,560
250 35 G1"1/4  3046L3542 8246L3542 7S15/1-29/L35RB 20 41 50 50 49 56 345 685 0,850
42 G1"/2  8046L4249 8246L4249 7S15/1-29/L42RB 22 50 55 60 55 63 40 75 1270
6 G1/4 8046506 13 8246506 13  ZS15/1-29/S6RB 2 12 19 17 18 31 16 40 0,080
8 G1/4 8046508 13 8246508 13  ZS15/1-29/S8RB 12 14 19 19 18 32 17 425 0,110
m PB630* 10 G3/8 804651017 8246510 17  ZS15/1-29/S10RB 2 17 2 22 2 3 175 45 0,150
12 G3/8 804651217 824681217 Z515/1-29/S12RB 12 17 22 24 22 38 215 48 0,190
S 14 G112 804651421 824651421 Z515/1-29/S14RB 14 19 27 27 26 40 22 54 0,260
16 G1/2 804651621 824651621 Z515/1-29/S16RB 14 24 27 30 26 43 245 55 0,330
400 20 G3/4 8046520 27 8246520 27 Z515/1-29/S20RB 16 27 32 36 32 48 265 65 0,490
2% G1 8046525 34 8246525 34 Z515/1-29/S25RB 18 36 41 46 39 54 30 73 0940
250 30 G1"1/4 804653042 824653042 7515/1-29/S30RB 20 41 50 50 49 62 355 785 1,300
38 G1"1/2 804653849 824653849 ZS15/1-29/S38RB 2 50 5 60 55 72 41 89 1980

* Safety factor 3.



- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

Adjustable stud
and standpipe
elbows

metric parallel
sealing bite ¢
ISO 9974-3

&

PN ©D C 'f):’l:’;' D““ﬁ';""" Bell code E F1 F2 F3 G L1 L2 L3

6 M10x1  8046L06 60 8246L06 60 ZS15/1-29/L6MB 8 12 14 14 14 27 12 345 0,050

8 M12x15  8046L08 67 8246L08 67 ZS15/1-29/L8MB 12 12 17 17 17 29 14 375 0070

315 10 M14x15  8046L1071 8246L10 71  ZS15/1-29/L10MB 12 14 19 19 19 30 15 40 0,090
12 M16x15  8046L1275 8246L1275 Z7515/1-29/L12MB 12 17 22 2 21 32 17 42 0120

L 15 M18x15 8046L1578 8246L1578 Z515/1-29/L15MB 12 19 24 27 23 36 21 46 0220
18 M22x15  8046L1882 8246L18 82 7S15/1-29/L18MB 14 24 27 32 27 40 235 50 0,280

22 M26x15  8046L2289 824612289 7515/1-29/L22MB 1627 32 36 31 44 275 55 0370
o528 M32x2 804612891 824612891 Z7515/1-29/L28MB 18 36 41 41 39 47 305 59 0,560
35 Md2x2  8046L3596 8246L3596 Z2815/1-29/L35MB 20 41 50 50 49 56 345 685 0,850

42 M48x2  8046L4298 8246L42 98 7S15/1-29/L42MB 22 50 55 60 55 63 40 75 1270

6 M12x15 8046506 67 8246506 67 ZS15/1-29/S6MB 12 12 17 17 17 31 16 40 0,080

8 M14x15 8046508 71 8246508 71 ZS15/1-29/S8MB 12 14 19 19 19 32 17 425 0,10

PB630* 10 M16x1,5 804651075 824651075 ZS15/1-29/S10MB 1217 2 22 21 3 115 45 0,150 m

12 M18x15 804651278 824651278 ZS15/1-29/S12MB 12 17 24 24 23 38 215 48 0,190

S 14 M20x15 8046514 80 8246514 80 ZS15/1-29/S14MB 14 19 27 27 25 40 22 54 0,260
16 M22x15 804651682 824651682 ZS15/1-29/S16MB 14 24 27 30 27 43 245 55 0,330

400 20 M27x2 804652086 8246520 86 7S15/1-29/S20MB 1627 32 36 32 48 265 65 0,490
25 M33x2 804652591 824652591 7S15/1-29/S25MB 18 36 41 46 39 54 30 73 0940

250 30 M42x2 8046530 96 8246530 96 ZS15/1-29/S30MB 20 41 50 50 49 62 355 785 1,300
38 Md48x2 804653898 824653898 ZS15/1-29/S38MB 2 50 55 60 5 72 41 89 1980

* Safety factor 3.



Alegris
@

Adjustable male | o
stud branch tees Q’Dfi X oo}
BSP parallel w2 F2

sealing bite )
1SO 1179-4 g

&
PN ©D C 'f):’l:’;' D““E‘;"“e Bell code E F1 FP2 F3 G L1 L2 L3
6 G18 8047L06 10  8247L06 10  ZS15/2-29/L6RB 8 12 14 14 14 27 12 345 0,070
8 Gl/4 8047L08 13  8247L0813  ZS15/2-29/L8RB 2 12 19 17 18 29 14 375 0,090
315 10 G1/4 8047010 13 824701013  Z515/2-29/L10RB 2 14 19 19 18 30 15 40 0,110
12 G3/8 8047L1217 8247L1217  Z515/2-29/L12RB 12 17 22 2 2 32 17 4 0,160
L 15 G1/2 8047L1521 8247L1521 Z515/2-29/L15RB 14 19 27 27 26 36 21 46 0,280
18 G1/2 804701821 8247L1821 Z515/2-29/L18RB 14 24 27 32 26 40 235 50 0,380
22 G3/4 804702227 824712227 2515/2-29/L22RB 16 27 32 36 32 44 275 55 0510
250 28 G1 8047128 34 824712834 Z515/2-29/L28RB 18 36 41 41 39 47 305 59 0,750
35 G1"1/4 804713542 824713542 ZS15/2-29/L35RB 20 41 50 50 49 56 345 685 1,120
42 G1"/2 804714249 824714249 7S15/2-29/L42RB 22 50 55 60 55 63 40 75 1,320
6 Gl/4 8047506 13 8247506 13  ZS15/2-29/S6RB 2 12 19 17 18 31 16 40 0,120
8 Gl/4 8047508 13 8247508 13  ZS15/2-29/S8RB 12 14 19 19 18 32 17 425 0,150
m PB630* 10 G3/8 804751017 824781017  Z515/2-29/S10RB 1217 22 22 22 3 115 45 0,190
12 G3/8 804781217 824781217 2515/2-29/S12RB 12 17 22 24 2 38 215 48 0,250
S 14 G1/2 804751421 824751421 7515/2-29/S14RB 4 19 27 27 26 40 22 54 0,360
16 G1/2 804781621 824751621 ZS15/2-29/S16RB 4 24 27 30 26 43 245 55 0,450
400 20 G3/4 8047520 27 824752027 Z515/2-29/S20RB 16 27 32 36 32 48 265 65 0,690
25 G1 804752534 824752534 7515/2-29/S25RB 18 36 41 46 39 54 30 73 1,280
30 G1"1/4 804753042 824753042 ZS15/2-29/S30RB 20 41 50 50 49 62 355 785 1,720
250 38 G1"1/2 804753849 824753849 ZS15/2-29/S38RB 22 50 55 60 55 72 41 89 2,660

* Safety factor 3.



HAlegris
@

Adjustable male

metric parallel L3
sealing bite
ISO 9974-3

stud branch tees m{i

~ Couplings to ISO 8434-1/DIN 2353

&
PN ©D C 'f):’l:’;' D““ﬁ';""" Bell code E F1 F2 F3 G L1 L2 L3
6 M10x1  8047L06 60 8247L06 60 ZS15/2-29/L6MB 8 14 12 14 14 27 12 345 0,070
8 M12x1,5 8047L0867 8247L08 67 ZS15/2-29/L8MB 1217 12 17 17 29 14 375 0,090
31510 MWUx15  8047L1071 82471071 Z515/2-29/L10MB 1219 14 19 19 30 15 40 0,120
12 M16x15 804711275 824711275 Z7S15/2-29/L12MB 1222 17 22 21 32 17 42 0,60
L 15 M18x15 8047L1578 8247L1578 Z515/2-29/L15MB 12 24 19 27 23 36 21 46 0,280
18 M22x15 804711882 8247L1882 7S15/2-29/L18MB 14 27 24 32 27 40 235 50 0,380
22 M26x15 804712289 824712289 7515/2-29/L22MB 16 32 27 36 31 44 275 55 0510
25028 M33x2  8047L2891 824712891 2515/2-29/L28MB 18 41 36 41 39 47 305 59 0,750
35 Md2x2 804713596 824713596 7815/2-29/L35MB 20 50 41 50 49 56 345 685 1,150
42 M48x2 804714298 824714298 7S15/2-29/L42MB 22 55 50 60 55 63 40 75 1320
6 M12x15 8047506 67 8247506 67 ZS15/2-29/S6MB 1217 12 17 17 31 16 40 0120
8 M14x15 804750871 8247508 71 ZS15/2-29/S8MB 1219 14 19 19 32 17 425 0,150
PB630* 10 M16x15 804751075 824751075 Z515/2-29/S10MB 1222 17 22 21 34 175 45 0,190
12 M18x15 804751278 824751278 2515/2-29/S12MB 12 24 17 24 23 38 215 48 0,250
S 14 M20x15 804751480 824751480 7515/2-29/S14MB 14 27 19 27 25 40 22 54 0360
16 M22x15 804751682 824751682 ZS15/2-29/S16MB 14 27 24 30 27 43 245 55 0450
400 20 M27x2 804752086 8247520 86 7S15/2-29/S20MB 16 32 27 36 32 48 265 65 0,690
25 M33x2 804752591 824782591 7515/2-29/S25MB 18 41 36 46 39 54 30 73 1,280
250 30 M42x2 804753096 8247530 96 ZS15/2-29/S30MB 20 50 41 50 49 62 355 785 1,172
38 Md48x2 804753898 824753898 7S15/2-29/S38MB 2 55 50 60 55 72 41 89 2,660

* Safety factor 3.




BSP parallel
sealing bite
ISO 1179-4

Standpipe run tees

Couplings to ISO 8434-1/DIN 2353 ﬂ |

Alegris
@

&
PN ©D C 'f:l:’;' °°“:’i':!;"“° Bell code E F1 FP2 F3 G L1 L2 L3
6 G18 8048L06 10  8248L06 10  ZS15/3-29/L6RB 8 12 14 14 14 27 12 345 0070
8 Gl/4 8048L08 13  8248L08 13  ZS15/3-29/L8RB 212 19 17 18 29 14 375 0,100
315 10 G1/4 8048L10 13  8248L1013  ZS15/3-29/L10RB 2 14 19 19 18 30 15 40 0,120
12 G3/8 8048L12 17 8248L1217  Z515/3-29/L12RB 12 17 22 22 22 32 17 42 0,160
L 15 G1/2 8048L1521 8248L1521 ZS15/3-29/L15RB 14 19 27 27 26 36 21 46 0270
18 G1/2 8048L1821 8248L1821 Z515/3-29/L18RB 14 24 27 32 26 40 235 50 0,360
22 G3/4 8048L22 27 8248L2227 2515/3-29/L22RB 16 27 32 36 32 44 215 55 0490
250 28 G1 8048128 34  8248L2834  Z515/3-29/L28RB 18 36 41 41 39 47 305 59 0,700
35 G1"1/4  8048L3542 8248L3542 ZS15/3-29/L35RB 20 41 50 50 49 56 345 685 0,980
42 G1"1/2  8048L4249 8248L4249 7S15/3-29/L42RB 22 50 55 60 55 63 40 75 1,300
6 Gl/4 8048506 13 8248506 13  ZS15/3-29/S6RB 12 12 19 17 18 31 16 40 0,110
8 Gl/4 8048508 13 8248508 13  ZS15/3-29/S8RB 12 14 19 19 18 32 17 425 0,140
m PB630* 10 G3/8 8048510 17 824881017 Z515/3-29/S10RB 12 17 22 22 22 3 175 45 0210
12 G3/8 804881217 824851217 ZS15/3-29/S12RB 12 17 22 24 22 38 215 48 0,250
S 14 G1/2 804851421 824851421 7515/3-29/S14RB 14 19 27 27 26 40 22 54 0,340
16 G1/2 804851621 824851621 ZS15/3-29/S16RB 4 24 27 30 26 43 245 55 0,430
400 20 G3/4 8048520 27 8248520 27 Z515/3-29/S20RB 16 27 32 36 32 48 265 65 0,650
25 G1 8048525 34 824852534 7515/3-29/S25RB 18 36 41 46 39 54 30 73 1230
30 G1"1/4 804853042 824853042 ZS15/3-29/S30RB 20 41 50 50 49 62 355 785 1,660
250 38 G1"1/2 804853849 824853849 ZS15/3-29/S38RB 2 50 55 60 55 72 41 89 2470

* Safety factor 3.




B . @
Blegrs ~ Couplings to ISO 8434-1/DIN 2353

Standpipe run tees

metric parallel | g
sealing bite 1T ‘ ot}

ISO 9974-3

PN ©D C 'f:l:’;' °°“:’i':!;"“° Bell code E F1 F2 F3 G L1 L2 L3

6 M10x1  8048L06 60 8248L06 60 ZS15/3-29/L6MB 8 12 14 14 14 27 12 345 0070

8 M12x15  8048L08 67 8248L08 67 Z515/3-29/L8MB 12 12 17 17 17 29 14 375 0,00

31510 MWx15  8048L1071 8248L1071 Z515/3-29/L10MB 12 14 19 19 19 30 15 40 0,110
12 M16x15  8048L1275 8248L1275 Z7515/3-29/L12MB 12 17 22 2 21 32 17 42 0,160

L 15 M18x15 8048L1578 8248L1578 Z515/3-29/L15MB 12 19 24 27 23 36 21 46 0270
18 M22x15  8048L1882 8248L18 82 Z7S15/3-29/L18MB 14 24 27 32 271 40 235 50 0,350

22 M26x15  8048L2289 824812289 7515/3-29/L22MB 1627 32 36 31 44 275 55 0490
o528 M33x2 804812891 82482891 Z515/3-29/L28MB 18 36 41 41 39 47 305 59 0,700
35 Md2x2  8048L3596 8248L3596 ZS15/3-29/L35MB 20 41 50 50 49 56 345 685 0,980

42 M48x2  8048L4298 8248L4298 7S15/3-29/L42MB 22 50 55 60 55 63 40 75 1,300

6 M12x15 8048506 67 8248506 67 ZS15/3-29/S6MB 12 12 17 17 17 31 16 40 0,110

8 M14x15 804850871 8248508 71 ZS15/3-29/S8MB 12 14 19 19 19 32 17 425 0,140

PB630* 10 M16x15 804851075 824851075 Z515/3-29/S10MB 1217 2 22 21 34 175 45 0210 m

12 M18x15 804851278 824851278 Z515/3-29/S12MB 12 17 24 24 23 38 215 48 0,250

S 14 M20x15 804851480 8248514 80 Z7S15/3-29/S14MB 14 19 27 27 25 40 22 54 0340
16 M22x15 804851682 824851682 Z2515/3-29/S16MB 14 24 27 30 27 43 245 55 0,430

400 20 M27x2 804852086 8248520 86 7S15/3-29/S20MB 1627 32 36 32 48 265 65 0,650
25 M33x2 804852591 824852591 7815/3-29/S25MB 18 36 41 46 39 54 30 73 1,230

250 30 M42x2 804853096 8248530 96 ZS15/3-29/S30MB 20 41 50 50 49 62 355 785 1,660
38 Md48x2 804853898 824853898 7S15/3-29/S38MB 22 50 55 60 55 72 41 89 2470

* Safety factor 3.



Adjustable male
stud elbows with
lock nut

BSP parallel
O-ring and lock nut
ISO 6149-2/3

L3| F3

Alegris
@

@ _ [<
PN PB OD C 'f):’l;’;' D"“:’i':!;""e D'r'i"n°g"a Bell code E F1 F2 F3 G L1 L2 L3  Oding
6 GU/8 80510610 8251L0610 8351L0610 ZS15/1-02/LR 7 14 14 14 15 29 14 19 81x1,6 0057
31 8 G4 80510813 825110813 8351L0813 ZS15/1-02/L8R 9 14 17 19 20 31 16 23 11,322 0071
95000614 ss11013 82511013 835101013 ZS15/102L10R 9 19 19 19 20 %2 17 25 1322 0401
12 G3/8 805111217 8251L1217 83511217 ZS15/1-02/L12R 9 19 22 22 23 34 19 28 1394x2,62 0122
L 200315 B G2 G5ILIS21 82511521 83611521 ZS15/102/L1SR 13 22 27 27 28 36 21 30 1782 0200
18 G2 805111821 8251L1821 83511821 ZS15/1-02/L18R 13 27 32 27 28 40 24 36 17,86x262 0,255
22 G3/4 805112227 825112227 835112227 2515/1-02/L22R 13 32 36 36 33 44 28 39 2347x2,62 0440
160 250_2_C! 805112834 825112834 835112834 Z7S15/1-02/L28R 16 36 41 41 41 47 31 44 2974x2,95 0,751
3 GI"1/4 805113542 825113542 835113542 Z515/1-02/L35R 15 48 50 50 51 59 38 50 37,7x353 1,107
22 G2 805114249 82514249 835114249 7515/1-02/L42R 15 48 60 55 56 61 38 52 44,04x353 1,180
6 G4 805150613 825150613 835150613 ZS15/1-02/S6R 9 14 17 19 20 30 15 23 113x22 0072
8 GI/4 805150813 825150813 835150813 ZS15/1-02/SR 9 19 19 19 20 32 17 27 13x22 1,110
m 315500730 G3/8  aus151017 825151017 835151017 ZS15/102/S10R 9 19 22 22 23 34 18 29 1394x262 0,139
12 G3/8 805151217 825151217 835151217 ZS15/1-02/S12R 9 22 24 22 23 38 22 29 1394x262 0,176
g200315 1 G2 &05isi621 @5151621 836151621 ZSIS/02/STER 13 21 3 21 28 & % 3% 1,8 03U
180 28020 G3/4 80515027 825152027 8351502 ZS15/102/S20R 1332 36 36 33 49 28 39 2347xa2 0434
% Gl 805152534 825150534 835152534 Z7S15/1-02/S25R 15 36 46 41 41 54 30 44 2974x2,95 0,730
160 2503 GV 805153042 &25153042 835153042 ZST/1-02/S30R 1548 50 60 61 G2 36 49 31,133 1215
38 G112 805153849 825153849 835153849 Z2515/1-02/S38R 15 48 60 55 56 65 34 55 44,04x353 1370

require reduced assembly force.

They can be loosened and retightened as required.

These couplings can swivel 360° and take up less space than
alternate couplings. They have high sealing capability and




HAlegris
@

Couplings to ISO 8434-1/DIN 2353

Adjustable male . .
stud branch tees QI@ i
ol
with lock nut S E
F3
BSP parallel .
O-ring and lock nut e
ISO 6149-2/3 T
L1
A A A
PN PB OD C ';:’l;’;' D"“:’i':!;""e D'r'i"n°g"a Bell code E F1 F2 F3 G L1 L2 L3 Oring
6 G1/8 8055L06 10 8255006 10 8355L0610 ZS15/1-03/LR 7 14 14 14 15 29 14 19 81x16 0,089
31 8 Gl/4 8055L08 13 8255L08 13 8355L0813 ZS15/1-03/LSR 9 14 17 19 20 31 16 23 11,3x2,2 0,098
© 50017 8055010 13 825501013 835501013 ZS15/1-03/L10R 9 19 19 19 20 32 17 25 11,3x22 0148
12 G3/8 805501217 825501217 835501217 ZS15/1-03/L12R 9 19 22 22 23 34 19 28 1394x2,62 0,189
L 2003151 G112 805501521 825501521 835501521 ZS15/1-03/L15R 13 22 27 27 28 36 21 30 17,86x2,62 0258
18 G1/2 8055018 21 825501821 835501821 ZS15/1-03/L18R 13 27 32 27 28 40 24 36 17,86x2,62 0,401
2 G3/4 8055122 27 825512227 835512227 ZS15/1-03/L22R 13 32 36 36 33 44 28 39 2347x2,62 059
160 250-2_61 8055128 34 825512834 835512834 ZS15/1-03/L28R 15 36 41 41 41 47 31 44 2974x2,95 0,795
35 G1"1/4 805513542 825513542 835513542 Z2S15/1-03/L35R 15 48 50 50 51 59 38 50 37,7x353 1,160
42 G1"1/2 305514249 825514249 835514249 Z2S15/1-03/L42R 15 48 60 55 56 61 38 52 44,04x353 1,390
6 G1/4 8055506 13 825550613 835550613 ZS15/1-03/S6R 9 14 17 19 20 30 15 23 11,3x2.2 0,104
31 8 G1/4 8055508 13 825550813 835550813 ZS15/1-03/S8R 9 19 19 19 20 32 17 27 11,3x22 0158
© 500" G3rs 805551017 825551017 835551017 ZS15/1-03/STOR 9 19 22 22 23 34 18 29 1394x2,62 0,198
12 G3/8 805551217 825551217 835551217 ZS15/1-03/S12R 9 22 24 22 23 38 22 29 1394x2,62 0280
Szoo 315 16 G1/2 805551621 825551621 835551621 ZS15/1-03/S16R 13 27 30 27 28 43 25 36 17,86x2,62 0,398
180 28020 634 8055520 27 8255520 27 835552027 ZS15/1-03/S20R 13 32 36 36 33 49 28 39 2347x2,62 0594
25 G1 8055525 34 825552534 835552534 7S15/1-03/S25R 15 36 46 41 41 54 30 44 2974x2,95 0,905
160 2502 G1"1/4 805553042 825553042 835553042 2515/1-03/S30R 15 48 50 50 51 62 36 49 37,7x353 1,350
38 G1"1/2 805553849 825553849 835553849 7S15/1-03/S38R 15 48 60 55 56 65 34 55 44,04x353 1,595

Also available upon request :

e metric parallel thread models ISO 9974-1 or ISO 6149 (8255/8355- 8256/8356)
e UN, UNF thread models with O-ring (8256/8356)

Find these models on legris.com




Alegris
@

Adjustable male pame

stud run tees \ N
with lock nut P oo}
BSP parallel L

O-ring and lock nut e

ISO 6149-2/3 L%,\

& < &
PN PB OD C 'f):’l:’;' D"“:’i':!;"“e D'r'i"n°g"a Bell code E F1 F2F3 G L1 L2 L3 Oing
6 G1/8  8057L0610 8257L0610 8357L06 10 ZS15/1-04/L6R 7 14 14 14 15 29 14 19 81x1,6 0,089
315 500—2 G1/4  8057L0813 8257L08 13 8357L08 13 ZS15/1-04/L8R 9 14 17 19 20 31 16 23 11,3x2,2 0,098
10 G1/4  8057L1013 8257L1013 8357L10 13  ZS15/1-04/L10R 9 19 19 19 20 32 17 25 11,3x2,2 0,148
12 G3/8 805711217 8257L1217 8357L1217 ZS15/1-04/L12R 9 19 22 22 23 34 19 28 1394x2,62 0,189
L 200 3155 G1/2_ 8057L1521 825711521 8357L1521 ZS15/1-04/L15R 13 22 27 27 28 36 21 30 17,86x2,62 0,258
18 G1/2 805711821 8257L1821 8357L1821 ZS15/1-04/L18R 13 27 32 27 28 40 24 36 17,86x2,62 0,401
22 G3/4 805712227 825712227 835712227 7S15/1-04/L22R 13 32 36 36 33 44 28 39 2347x2,62 0,596
160 25026 8057128 34 825712834  8357L28 34 Z515/1-04/L28R 15 36 41 41 41 47 31 44 29,74x2,95 0,795
35 G1"1/4 305713542 8257L3542 835713542 ZS15/1-04/L35R 15 48 50 50 51 59 38 50 37,7x353 1,160
42 G112 805714249 8257L4249 8357142 49 7S15/1-04/L42R 15 48 60 55 56 61 38 52 44,04x353 1,390
6 G1/4 805750613 825750613 8357506 13 ZS15/1-04/S6R 9 14 17 19 20 30 15 23 11,3x2,2 0,104
315 500—2 G1/4 805750813 8257508 13 8357508 13 ZS15/1-04/S8R 9 19 19 19 20 32 17 27 11,3x2,2 0,158
m 10 G3/8 805751017 825751017 8357510 17 ZS15/1-04/S10R 9 19 22 22 23 34 18 29 1394x2,62 0,198
12 G3/8 805751217 825751217 835751217 ZS15/1-04/S12R 9 22 24 22 23 38 22 29 1394x2,62 0,280
200 315 16 G1/2 805751621 825751621 835751621 ZS15/1-04/S16R 13 27 30 27 28 43 25 36 17,86x2,62 0,398
180 28020 G3/4 805752027 825752027 835752027 2515/1-04/S20R 13 32 36 36 33 49 28 39 2347x2,62 0594
%G1 8057525 34 825752534 8357525 34 7S15/1-04/S25R 15 36 46 41 41 54 30 44 29,74x2,95 0,905
160 25030 G1"1/4 805753042 825753042 8357530 42 ZS15/1-04/S30R 15 48 50 50 51 62 36 49 37,7x353 1,350
38 G1"1/2 805753849 825753849 835753849 ZS15/1-04/S38R 15 48 60 55 56 65 34 55 44,04x353 1,595




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Banjo couplings R ,
BSP parallel i)

L1

A
PE OD C ot s'"gi'ﬁ;]"“e Double B2 Bell code EF1 2 F3 G L1 L2 L3 L4 (umy
4 GI/8  B018E0410 8118E04 10 15.07/LL4R 6 14 12 10 13 18 8 21 115 15 0030
LL 100 6 G/8  B8018E0610 8118£06 10 15-07/LL6R 6 14 14 12 13 20 95 22 10 15 0033
8 GI8 _ 8018E08 10 8118E08 10 15.07/LL8R 6 14 14 14 13 21510 23 11 15 003
6 GI/8  8018L06 10 8218L06 10 Z515-07/L6R 6 14 17 14 145 22 10 26 115 20 0,040
8 G4 80180813 8218L08 13 Z515-07/L8R 9 19 19 17 18 26 125 28 13 35 0077
0 G4 8018L10 13 821811013 Z515-07/L10R 9 19 22 19 19 28 13530 15 3 0085
10 G3/8  8018L10 17 8218L1017 ZS15:07/L10R3/8" 9 22 24 19 218 32 155 31 16 35 0,100
L 250 = Gie  somsLi2 13 8218L1213 ZS1507/L12R1/&" 9 19 24 22 19 28 135 31 16 35 0,130
12 G38  8018L12 17 8218L12 17 ZS15-07/L12R 9 22 24 22 218 32 155 31 16 70 0,142
12 G2 8018L1221 821811221 ZS1507/L1I2R1/2° 1127 30 22 265 37 185 345 195 90 0,150
15 G112 80181521 8218L1521 Z515-07/L15R 11 27 30 27 265 37 185 3 195 90 0195
16018 G2 svisLiszi 821811821 ZS15-07/L18R 11 27 30 32 265 45 22 36 195120 0,205
2 G4 80182227 8218L2227 ZS15-07/L22R 13 32 36 36 32 49 24 41 245 160 0383
6 G4 8018506 13 8218506 13 ZS15-07/S6R 9 19 19 17 18 26 125 29 145 3 0,080
8 G4 8018508 13 8218508 13_Z515-07/S8R 9 19 22 19 19 28 135 31 16 3 0%
250 10 G38 801851017 821851017 ZS15-07/S10R 9 22 24 22 218 32 155 32 16 70 0,120
S 12 G38___ 8018si2 1 8218512 17_2515-01/S12R 9 24 24 24 235 31 185 34 175 70 0,45
1 G2 801851421 821851421 _7515-07/S14R 1127 30 27 265 37 185 38205 120 0215
16016 62 a0issic el 8218516 21 Z515-07/S16R 11 27 30 30 265 45 22 40 215120 0277
20 G4 801852027 821852027 Z515-07/S20R 13 32 36 36 32 49 24 45 235160 0425

* recommended tightening torque for the banjo bolt.

8218: banjo for medium pressure applications and reduced spaces




Couplings to ISO 8434-1/DIN 2353

Banjo couplings

metric parallel

F1

L1

F2

L2

i
8.

Alegris
@

A

PB 0D C 'f):’l;’;' s'"gi'ﬁ!']""e °°“:’i':!;"“° Bell code EFlF2F3 G L1 L2 L3 L4 ('K',ﬁ‘n)

4 M3x1 __ 8018E0456 B8118E04 56 15-07/LL4M 6 14 14 10 13 18 8 21 115 15 0028

LL 100 6 MIOX__ 80180660 8118E06 60 15.07/LL6M 6 14 14 12 13 20 95 22 10 15 0033
8 M10x1 _ 8018E0860 8118E08 60 15.07/LL8M 6 14 14 14 13 21510 23 11 15 0035

6 M10x1 _ 8018L06 60 8218L06 60 ZS15-07/L6M 6 14 17 14 145 22 10 26 115 20 0038

8 M12x15  8018L08 67 8218L08 67 2515-07/L8M 9 19 19 17 18 26 125 28 13 35 0,070

10 M14x15  8018L10 71 8218L1071_ZS15-07/L10M 9 19 22 19 19 28 135 30 15 40 0,080

L 250 > miex15 801812 75 8218L12 75 2515-07/L12M 9 22 24 22 218 32 155 31 16 70 0,110
12 M18x15  8018L1278 821811278 2515-07/L12MI18X15 8 24 24 22 235 37 185 33 18 75 0,160

15 Misxi5  8018L15 78 8218L1578 Z515.07/L15M 9 24 24 27 23537 185 33 18 75 0,165

160 18 M2 80TeLis &2 821811882 2515-07/L18M 1 27 30 32 265 4 22 36 195 140 0265

22 M26x15 801812289 821812289 ZS15-07/L22M 13 32 36 36 32 49 24 41 245 160 0,350

6 M12x15 8018506 67 8218506 67 2515-07/S6M 9 19 19 17 18 26 125 29 145 35 0,067

8 M5 8018508 71 821850871 ZS15-07/S8M 9 19 22 19 19 28 135 31 16 40 0,093

250 10 Mioxi5 8018510 75 821851075 2515-07/S10M 9 22 22 22 218 32 155 32 16 70 0,130

S 12 M18x15 8018512 78 821851278 2515-01/S12M 9 24 24 24 235 3 185 34 175 75 0,168
14 M20x15 801851480 821851480 ZS15-07/S14M 1 27 30 27 265 37 185 38 205 120 0215

160 16 Maaxis_ s0issis ez 8218516 82_2515-01/S16M 11 27 30 30 265 45 22 40 215 140 0275

20 M2x2 801852086 821852086 ZS15-07/S20M 13 32 36 36 32 49 24 45 235 170 0425

* Recommended tightening torque for the banjo bolt

Technical characteristics

e Metal/metal sealing

e For medium pressure

e Low pressure loss

e Safety coefficient : 2.5

e Working pressure : 100 to 250 bar

90° internal passage




HAlegris
@

High pressure
banjo couplings

~ Couplings to ISO 8434-1/DIN 2353

BSP parallel
B%y Single-bite Double-bite MA*
PE OD C o e e Bellcode E FIF2 F3 G H L1 L2 L3 L4 (gay
6 GU8 802810610 822810610 8328L0610 ZS15/3-07/L6RF 8 19 19 14 149 15 21 105 28 13 25 0074
8 G4  8028L0813 8228L0813 83280813 ZS15/3-07/L8RF 12 22 22 17 189 2 27 135 29 145 50 0,117
400 _10__GVA 80261015 &28L1013_8328L1013 ZSTS/307/LIORF 12 22 22 19 189 2 21 135 30 165 50 028
12 G3/8 80281217 822811217 8328L1217 ZS15/3-07/L12RF 12 27 27 22 22,9 25 33 165 33 18 90 0,215
L 15 G2 80281521 822811521 8328L1521 ZS15/3-07/L1SRF 14 32 32 27 269 3 42 195 37 22 130 0310
18 G2 80281821 822811821 8328L1821 ZS15/3-07/L1SRF 14 32 36 32 269 3 43 215 38 21 150 0,380
315 22 G3/4 80282227 822812227 8328L2227 ZS15/3-07/L22RF 16 41 46 36 329 3 48 24 45 27,56 250 0,645
28 GI”  8028.2834 82282834 832812834 7515/3-07/L28RF 18 46 50 41 399 3 595 305 43 315 400 0,890
250 35 G1"1/4 802813542 822813542 832813542 Z2S15/3-07/L35RF 20 60 60 50 49,9 3 705 355 57 355 600 1,500
42 GI"2 8028L4249 822814249 832814249 7515/3-07/L42RF 22 65 70 60 559 3 80 405 63 40 800 2,400
6 G4 802850613 822850613 832850613 ZS15/3-07/S6RF 12 22 22 17 189 2 27 135 31 165 50 0,119
8 G4 802850813 822850813 832850813 Z515/3-07/S8RF 12 22 22 19 189 2 27 135 31 165 50 0,140
40010 G3/® 802851017 822851017 832851017 ZS15/3.07/S1RF 12 27 2] 22 229 2533 165 35 185 0 0200
12 G3/8 802851217 822851217 832851217 Z2815/3-07/S12RF 12 27 27 24 229 25 33 165 35 185 100 0212
S 14 G2 802851421 822851421 832851421 Z515/3-07/S14RF 14 32 32 27 269 3 42 195 41 23 130 0320
16 G2 802851621 822851621 832851621 Z2S15/3-07/S16RF 14 32 36 30 269 3 43 215 41 22 150 0,410
315 20 G3/4 802850027 822852027 832852027 Z2515/3-07/S20RF 16 41 46 36 329 3 48 24 49 265 250 0,770
25 GI" 802852534 822852534 832852534 Z515/3-01/S25RF 18 46 50 46 399 3 595 305 55 31 400 1,020
250 30 GI"1/4 802853042 822853042 832853042 2515/3-07/S30RF 20 60 60 50 499 3 705 355 63 365 600 1,630
38  GI"/2 802853349 822853849 832853849 Z515/3-07/S38RF 22 65 70 60 559 3 80 405 72 41 800 2,520

* Recommended tightening torque for the banjo bolt

8228 : banjo designed for high pressure applications




High pressure
banjo couplings

metric parallel

F1

L1

F2

L2,

Alegris
@

A A

PE OD C Boty  Doubledite  Diflowa Bellcode E FI F2 F3 G H L1 L2 L3 L4 (guy
6 M10x1 80280660 8228L0660 8328L0660 ZS15/3-07/L6MF 8 19 19 14 149 15 21 10 28 13 30 0,074

8 M125 8028L0867 8228L0867 8328L0867 ZS15/3-07/L8MF 12 22 22 17 179 2 27 135 29 145 40 0120

400 _10_M1915 802611071 8226L1071_6328L1071 ZSTS/S07/LIOMF 12 22 22 19 19 2 27 135 30 165 60 0,10
12 M16x15  8028L1275 8228L1275 8328L1275 ZS15/3-07/L12MF 12 27 27 22 219 2 33 165 33 18 100 0,207

L 15 M18x15  8028L1578 822811578 83281578 2515/307/L15MF 12 30 30 27 239 25 37 185 36 205 130 0305
18 M22x15 8028L1882 822811882 83281882 2515/3-07/L18MF 14 32 36 32 279 3 43 215 38 21 160 0365

315 22 M26x15 802812289 8228L2280 832812289 Z515/3.07/L22MF 16 36 41 36 319 3 48 24 43 27 250 0,565
28 M33x2 802812891 82282891 8328L2891 ZS15/3-07/L28NIF 18 46 50 41 399 3 595 305 48 315 400 0,925

250 35 M4 802813596 622813596 832813595 2515/3-07/L35MF 20 60 60 50 499 3 705 355 57 355 600 1520
4 Magx2 802814298 8228L4298 8328L4298 ZS15/3-07/LA2NF 22 65 70 60 559 3 80 405 63 40 800 2,400

6 Mi2x15 802850667 822850667 832850667 ZS15/301/S6MF 12 22 22 17 17,9 2 27 135 31 165 40 0,120

8 M5 802850871 822850871 832850871 ZS15/3-07/S8MF 12 22 22 19 199 2 27 135 31 165 60 0136

400 _10_MI6x15 802651075 622851075 632651075 ZS15/307/STOF 12 27 27 22 21,9 2 33 165 3 185 100 0200
12 M18x15 802851278 822851278 832851278 Z515/307/S12MF 12 30 30 24 239 25 37 185 37 205 130 0280

S 14 M20x15 802851480 822851480 832851480 Z515/307/SIAMF 12 32 32 27 259 25 42 195 41 23 160 0330
16 M22x15 802851682 822851682 832851682 2515/3.07/S16MF 14 32 36 30 279 3 43 215 41 22 160 0418

315 20 M2ix2 802852086 822852086 832852086 ZS15/3-07/S20NF 16 41 46 36 329 3 48 24 49 265 250 0,765
25 M33x2 802852591 822852591 832852591 ZS15/3-07/S25MF 18 46 50 46 399 3 595 305 55 31 400 1,050

250 30 Mé2x2 802853096 822853095 832853096 ZS15/3-07/S30MF 20 60 60 50 49,9 3 705 355 63 365 600 1,640
38 Ma8x2 802853898 822853898 832853898 ZS15/3-07/S38MF 22 65 70 60 559 3 80 405 72 41 800 2520

* Recommended tightening torque for the banjo bolt

Technical characteristics

e PTFE seal
e For high pressure

e Low pressure loss

e Safety coefficient : 2.5

e Working pressure : 250 to 400 bar

45° internal passage




Blegris ~ Couplings to ISO 8434-1/DIN 2353

0 F1 F3 4 F2
Chock-free banjo . 1/
couplings 1 4 .
BSP parallel o *

A
Body Double-bite DiNova
PB oD C only ring ting Bell code E F1 F2 F3 F4 G L1 L2 L3 L4

6 G1/8 8038L06 10  8238L06 10  8338L06 10 ZS15/1-09/L6R 8 19 14 6 6 14 24 12 28 13 0,059
8 G4 8038L08 13  8238L08 13 8338L08 13 ZS15/1-09/L8R 12 22 17 8 8 18 305 16 29 145 0,105
250 10 G4 8038L10 13 8238L10 13 8338L1013 ZS15/1-09/L1OR 12 22 19 8 8 18 305 16 30 155 0,113
12 G3/8 80381217 8238L1217 8338L1217 ZS15/1-09/L12R 12 27 22 10 10 22 36 18 33 18 0,180
L 15 G1/2 8038L1521 8238L1521 8338L1521 ZS15/1-09/L15R 14 32 27 12 12 26 42 21 37 22 0,247
18 G1/2 8038L18 21 8238L1821 8338L1821 ZS15/1-09/L18R 14 36 32 12 12 26 46 23538 215 0,269
22 G3/4 8038L22 27 8238L2227 8338L2227 ZS15/1-09/L22R 16 46 36 17 17 32 575 28 45 285 0,546
100 28 G1” 8038L28 34 8238L28 34 83382834 ZS15/1-09/L28R 18 50 41 22 22 39 63 32 48 315 0,701
35 G1"1/4  8038L3542 8238L3542 8338L3542 7S15/1-09/L35R 20 60 50 27 27 49 75 37 57 355 1,173
42 G1"1/2  3038L4249 8238L4249 8338L4249 ZS15/1-09/L42R 22 70 60 32 32 55 85 42 63 40 2,244
6 G4 8038506 13 8238506 13 8338506 13 ZS15/1-09/S6R 12 22 17 8 8 18 305 16 31 165 0,109
8 G1/4 8038508 13 8238508 13 8338508 13 ZS15/1-09/S8R 12 22 19 8 8 18 305 16 31 165 0,114
10 G3/8 8038510 17 823851017 833851017 ZS15/1-09/S10R 12 27 22 10 10 22 36 18 35 185 0,190
400* 12 G3/8 803851217 823851217 833851217 ZS15/1-09/S12R 12 27 24 10 10 22 36 18 35 185 0,196
S 14 G172 803851421 823851421 833851421 ZS15/1-09/S14R 14 32 27 12 12 26 42 21 41 23 0297
16 G1/2 803851621 823851621 833851621 ZS15/1-09/S16R 14 36 30 12 12 26 46 23541 225 0,307
20 G3/4 8038520 27 8238520 27 833852027 ZS15/1-09/S20R 16 46 36 17 17 32 575 28 49 275 0,753
25 G1” 8038525 34 823852534 833852534 Z7S15/1-09/S25R 18 50 46 22 22 39 63 32 55 31 1,019
250* 30 G1"1/4 803853042 823853042 833853042 7S15/1-09/S30R 20 60 50 27 27 49 75 37 63 365 1,580
38 G1"1/2 803853849 823853849 833853849 ZS15/1-09/S38R 22 70 60 32 32 55 8 42 72 41 2432

* Safety factor 1,6 mini

8238: chock-free banjo couplings are ideal for reducing pressure loss and optimizing the efficiency of
a hydraulic system




Alegris
@

FI_ F3  F4 F2

Chock-free banjo |
couplings —

L - 2

<E>

metric parallel L2

& & A

Body Double-bite DiNova
PB oD C only ring ting Bell code E F1 F2 F3 F4 G L1 L2 L3 L4

6 M10x1 8038L06 60 8238L06 60 8338L06 60 ZS15/1-09/L6M 8 19 14 6 6 14 24 12 28 13 0,062

8 Mi12x15 8038L08 67 8238L0867 8338L08 67 ZS15/1-09/L8M 12 22 17 6 6 17 305 15 29 145 0,076

250 10 M14x15 8038L1071 8238L1071 8338L1071 ZS15/1-09/L10M 12 22 19 8 8 19 305 16 30 155 0,114
12 M16x15 8038L1275 8238L1275 83381275 ZS15/1-09/L12M 12 27 22 10 10 21 36 18 33 18 0,179

L 15 M18x15 8038L1578 8238L1578 8338L1578 ZS15/1-09/L165M 12 30 27 12 12 23 405 20 36 21 0,241
18 M22x15 8038L1882 8238L1882 83381882 ZS15/1-09/L18M 14 36 32 14 14 27 46 23 38 215 0,301

22 M26x15 8038L2289 8238L2289 8338L2289 ZS15/1-09/L22M 16 41 36 17 17 31 505 25 42 26 0,399

100 28 M33x2 8038L28 91 8238L28 91 8338L28 91 ZS15/1-09/L28M 18 50 41 22 22 39 63 32 48 315 0,696
35 M42x2 8038L3596 8238L3596 833813596 ZS15/1-09/L35M 20 60 50 27 27 49 75 37 57 355 1,161

42 M48x2 8038L42 98 8238L42 98 8338L42 98 ZS15/1-09/L42M 22 70 60 32 32 55 85 42 63 40 2,240

6 M12x15 8038506 67 8238506 67 833850667 ZS15/1-09/S6M 12 22 17 6 6 17 305 15 31 165 0,092

8 M14x15 803850871 823850871 833850871 ZS15/1-09/S8M 12 22 19 8 8 19 305 16 31 165 0,116

10 M16x1,5 803851075 823851075 833851075 ZS15/1-09/S10M 12 27 22 10 10 21 36 18 35 185 0,189
400* 12 M18x15 803851278 823851278 833851278 ZS15/1-09/S12M 12 30 24 12 12 23 405 20 37 20,5 0,240
S 14 M20x1,5 803851480 823851480 833851480 ZS15/1-09/S14M 14 32 27 12 12 25 42 21 41 23 0,302

16 M22x15 803851682 823851682 833851682 ZS15/1-09/S16M 14 36 30 14 14 27 46 23 41 225 0,389
20 M27x2 8038520 86 8238520 86 8338520 86 ZS15/1-09/S20M 16 46 36 17 17 32 575 28 49 275 0578
25 M33x2 803852591 823852591 833852591 ZS15/1-09/S25M 18 50 46 22 22 39 63 32 55 31 1,014
250* 30 M42x2 803853096 8238530 96 8338530 96 ZS15/1-09/S30M 20 60 50 27 27 49 75 37 63 365 1568
38 M48x2 8038538 98 8238538 98 833853898 Z515/1-09/S38M 22 70 60 32 32 55 8 42 72 41 2428

* Safety factor 1,6 mini

Technical characteristics 90° full flow passage
F

e Metal/metal sealing

e For low pressure
e Low pressure loss

e Safety coefficient : 1.6 minimum for series S
e Working pressure : 100 to 400 bar 8238




Bllegris ~ Couplings to ISO 8434-1/DIN 2353

High pressure
double banjo
couplings 400} oo}

BSP parallel B

F1 F2 F3

& & A

Body Double-bite DiNova MA¥*
PB OD C o he o Bellcode  E F1 F2 F3 G H L1 L2 L3 L4 (ym &

6 G18 8029L06 10  8229L06 10 8329L06 10 ZS15/4-07/LRF 8 19 19 14 149 1521 10 28 13 25 0,085
8 Gl/4 8029L08 13 822910813 8329L08 13 ZS15/4-07/L8RF 12 22 22 17 189 2 27 135 29 145 50 0,145
400 10 G1/4 8029L10 13 822911013 8329L10 13 ZS15/4-07/L1ORF 12 22 22 19 189 2 27 135 30 155 50 0,165
12 G3/8 8029L12 17 822911217 83291217 ZS15/4-07/L12RF 12 27 27 22 229 2533 165 33 18 90 0,235
L 15 G1/2 8029L1521 8229L1521 8329L1521 ZS15/4-07/L15RF 14 32 32 27 269 42 195 37 22 130 0,380
18 G1/2 8029L1821 8229L1821 8329L1821 ZS15/4-07/L18RF 14 32 36 32 269 43 215 38 21 150 0,450
315 22 G3/4 8029L22 27 822912227 83292227 ZS15/4-07/L22RF 16 41 46 36 329 48 24 45 275 250 0,795
28 G1” 8029L28 34 822912834 8329128 34 ZS15/4-07/L28RF 18 46 50 41 39,9 595 30,5 48 315 400 1,080
250 35 G1"1/4 802913542 822913542 832913542 7S15/4-07/L35RF 20 60 60 50 49,9 705 355 57 355 600 1,720
42 G1"/2 802914249 822914249 832914249 7S15/4-07/L42RF 22 65 70 60 559 80 405 63 40 800 2,750
6 G1/4 8029506 13 8229506 13 8329506 13 ZS15/4-07/S6RF 12 22 22 17 189 27 135 31 165 50 0,150
8 Gl/4 8029508 13 8229508 13 8329508 13 ZS15/4-07/S8RF 12 22 22 19 189 27 135 31 165 50 0,160
400 10 G3/8 802951017 822951017 832951017 ZS15/4-07/S10RF 12 27 27 22 229 33 165 35 185 90 0,255
12 G3/8 802951217 822951217 832951217 ZS15/4-07/S12RF 12 27 27 24 229 33 165 35 185 100 0,275
S 14 G1/2 802951421 822951421 832951421 ZS15/4-07/S14RF 14 32 32 27 269 42 195 41 23 130 0418
16 G1/2 802951621 822951621 832951621 ZS15/4-07/S16RF 14 32 36 30 26,9 43 215 41 22 150 0,480
315 20 G3/4 8029520 27 822952027 832952027 7S15/4-07/S20RF 16 41 46 36 329 48 24 49 265 250 0,875
%5 G1" 8029525 34 8229525 34 8329525 34 ZS15/4-07/S25RF 18 46 50 46 39,9 595 305 55 31 400 1,320
250 30 G1"1/4 802953042 822953042 832953042 ZS15/4-07/S30RF 20 60 60 50 49,9 705 355 63 365 600 2,000
38 G1"1/2 802953849 822953849 832953849 ZS15/4-07/S38RF 22 65 70 60 559 80 405 72 41 800 3,130

ol |on

WWwlwlwwidIdIDINMNLWLWwWIWwWIwlw | w N

* Recommended tightening torque for the banjo bolt

8229 : double banjo coupling for high pressure applications




Alegris
@

High pressure

double banjo .
couplings 9 yorf
metric parallel : i

B B M *
PE OD C Boty  Doubledite  Diflowa Bellcode E FI F2 F3 G H L1 L2 L3 L4 (guy

6 M10x1 80290660 8229L0660 8329L0660 ZS15/4-07/L6MF 8 19 19 14 149 15 21 10 28 13 30 0,08

8 M1215 80290867 8220L0867 832910867 ZS15/4-01/L8MF 12 22 22 17 179 2 27 135 29 145 40 0,145

200 10 M5 50261071 5226L1071 832901071 ZST5/07/LIOMF 12 22 22 19 198 2 27 135 30 165 60 0160

12 M16x15 802911275 822911275 83291275 ZS15/4-07/L12MF 12 27 27 22 219 2 33 165 33 18 100 0240

L 15 M18x15 802911578 822911578 832911578 2515/4-07/L15MF 12 30 30 27 239 25 37 185 36 205 130 0345
18 M22x15 802911882 822911882 83291882 2515/4-07/L18MF 14 32 36 32 279 3 43 215 38 21 160 0445

315 22 M26x15 802912289 822912289 832912289 ZS15/4-07/L22MF 16 36 41 36 31,0 3 48 24 43 27 250 0,625

28 M33x2 802912891 822912891 832912891 ZS15/4-07/L28NIF 18 46 50 41 399 3 595 305 48 315 400 1,100

250 35 Ma22 80291359 82293596 83291359 ZS15/4-07/L35MF 20 60 60 50 49,9 3 705 355 57 355 600 1,730

4 Magx2 802914298 822914298 832914298 ZS15/4-07/LA2NIF 22 65 70 60 559 3 80 405 63 40 800 2,750

6 Mi2x15 8029506 67 8229506 67 832950667 ZS15/407/S6MF 12 22 22 17 17,9 2 27 135 31 165 40 0,150

8 M5 802950871 822950871 832950871 ZS15/4-07/S8MF 12 22 22 19 199 2 27 135 31 165 60 0,160

400 10 M16x15_ 802951075 522951075 832951075 ZS15/607/STOMF 12 27 27 22 219 2 33 165 35 185 100 0255
12 M18x15 802951278 822951278 832951278 2515/4-07/S12MF 12 30 30 24 239 25 37 185 37 205 130 0345

S 14 M20x15 802951480 822951480 832951480 ZS15/407/S1AMF 12 32 32 27 259 25 42 195 41 23 160 0413
16 M22x15 802951682 822951682 832951682 2515/4-07/ST6MF 14 32 36 30 279 3 43 215 41 22 160 0450

315 20 M2ix2 802952086 822952086 832952086 ZS15/4-07/S20NF 16 41 46 36 329 3 48 24 49 265 250 0,85

25 M33x2 802952591 822952591 832952591 ZS15/4-07/S25MF 18 46 50 46 399 3 595 305 55 31 400 1,330

250 30 M422 802953096 822953095 832953096 ZS15/4-07/S30MF 20 60 60 50 49,9 3 705 355 63 365 600 1,990

38 M48x2 802953898 822953898 832953898 ZS15/4-07/S38MF 22 65 70 60 559 3 80 405 72 41 800 3,120

* Recommended tightening torque for the banjo bolt

Technical characteristics 45° internal passage

e PTFE seal
e For high pressure

e Low pressure loss

e Safety coefficient : 2.5

e Working pressure : 250 to 400 bar




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Chock-free double e R
banjo couplings

BSP parallel F ”Dié

& & A

Body Double-bite DiNova
PB oD C only ring ting Bell code E F1 F2 F3 F4 G L1 L2 L3 L4

6 G1/8 8039L06 10  8239L06 10  8339L06 10 ZS15/2-09/L6R 8§ 19 14 6 6 14 24 12 28 13 0,076

8 G1/4 8039L08 13 8239L08 13 8339L08 13 ZS15/2-09/L8R 12 22 17 8 8 18 305 16 29 145 0,123

250 10 G4 8039L10 13 8239L1013 8339L10 13 ZS15/2-09/LT0R 12 22 19 8 8 18 305 16 30 155 0,141
12 G3/8 8039L1217 8239L1217 8339L1217 ZS15/2-09/L12R 12 27 22 10 10 22 36 18 33 18 0,223
15 G1/2 8039L1521 82391521 8339L1521 ZS15/2-09/L15R 14 32 27 12 12 26 42 21 37 22 0,299
18 G172 8039L18 21 8239L1821 8339L1821 ZS15/2-09/L18R 14 36 32 12 12 26 46 23538 215 0,356
2 G3/4 8039L22 27 8239122 27 8339L2227 ZS15/2-09/L22R 16 46 36 17 17 32 575 28 45 285 0,646
6 G1/4 8039506 13 8239506 13 8339506 13 ZS15/2-09/S6R 12 22 17 8 8 18 305 16 31 165 0,134
8 G1/4 8039508 13 8239508 13 8339508 13 ZS15/2-09/S8R 12 22 19 8 8 18 305 16 31 165 0,145
S 400* 10 G3/8 8039510 17 823951017 833951017 2S15/2-09/STOR 12 27 22 10 10 22 36 18 35 185 0234
12 G3/8 803951217 823951217 833981217 ZS15/2-09/S12R 12 27 24 10 10 22 36 18 35 185 0,250

16 G1/2 803951621 823951621 833951621 7S15/2-09/S16R 14 36 30 12 12 26 46 23541 225 0,3%

20 G3/4 8039520 27 8239520 27 8339520 27 ZS15/2-09/S20R 16 46 36 17 17 32 575 28 49 275 0,881

100

* Safety factor 1,6 mini

8239: chock-free banjo couplings are ideal for reducing pressure loss and optimizing the efficiency of
a hydraulic system




Couplings to ISO 8434-1/DIN 2353

Chock-free double
banjo couplings

metric parallel

L af
L2 B

F1 F3

Fa

Alegris
@

& A
PB OD C Body  Double-bite  DiNova Bell code E F1 F2 F3 F4 G L1 L2 L3 La %9/
only ring ring =
6 M10x1_ 8039L0660 823910660 8339L0660 ZS15/2-09/L6M 8 19 14 6 6 14 24 12 28 13 0076
8 M12x15  8039L08 67 8239L08 67 8339L08 67 ZS15/2-09/L8M 12 22 17 6 6 17 305 15 29 145 0,106
250 10 M14x15 803901071 823911071 83391071 ZS15/2-09/L10M 12 22 19 8 8 19 305 16 30 155 0,144
12 M16x15  8039L1275 823911275 833911275 7S15/2-09/L12M 12 27 22 10 10 21 36 18 33 18 0212
15 M18x15 80391578 823911578 8330L1578 7S15/2-09/L15M 12 30 27 12 12 23 405 20 36 21 0297
100 18 _M22x15 80391862 623911882 83391882 ZS15/209/L18M 14 36 32 14 14 277 46 23 3B 215 038
22 M26x15 803912289 823912289 833912289 7515/2-09/L22M 16 41 36 17 17 31 505 25 42 26 0510
6 M12x15 8039506 67 8239506 67 8339506 67 2515/2-09/S6M 12 22 17 6 6 17 305 15 31 165 0,117
8 M14x15 803950871 823950871 833950871 2S15/209/S8M 12 22 19 8 8 19 305 16 31 165 0,145
S 400% 10 MI6xi5 803951075 623951075 833951075 ZS15/209/S10M 12 27 20 10 10 21 3 18 35 185 030
12 M18x15 803951278 823951278 833951278 7S15/2:09/S12M 12 30 24 12 12 23 405 20 37 205 0288
16 M22x15 803951682 823951682 833951682 7S15/2-09/S16M 14 36 30 14 14 27 46 23 41 225 0472
20 M27x2 803952086 823952086 833952086 2515/2-09/S20M 16 46 36 17 17 32 575 28 49 275 0886

* Safety factor 1,6 mini

Technical characteristics

e Metal/metal sealing

e For low pressure

e Low pressure loss

e Safety coefficient : 1.6 minimum for series S
e Working Pressure : 100 to 400 bar

90° full flow passage




B -
Blegrt ~ Couplings to ISO 8434-1/DIN 2353

Male stud elbows

BSP taper
DIN 3852-2 form C

A
PN OD C 'f):’l:’;' s'"gi'ﬁ!'l""e °°“:’i':!;"“° Bell code F1* F2 L1 L2 L3
4 RS 8009E04 10 8109E04 10 15-02/LL4R 1M 10 21 1118 002
5 RS 8009E0510 8109E05 10 15-02/LL5RK M 12 2 10 17 0023
LL 1008 RVB  800SE0610 8109606 10 15-02/LL6RK M 12 2 10 17 0023
8 R18  8009E08 10 8109E08 10 15.02/LL8RK 2 1 2B 115 20 0032
10 R4 009E1013 8109E1013 15-02/LL10RK % 17 21 155 26 0,049
12 R4 8009E1213 8109E12 13 15.02/LL12RK 719 27 15 27 0073
6 RI/B 8009L06 10 8209106 10 2515-02/L6RK 12 14 26 115 20 0,040
6 R4 8009L06 13 820906 13 ZS15-02/L6RK1/4" 14 14 85 14 26 0057
8 R4 8009L08 13 8209108 13 2515-02/L8RK % 17 29 14 27 0,083
8 R3/8  8000L0817 8209L08 17 Z515-02/L8RK3/8" 7 17 315 17 28 0,068
10 RU4 800911013 820911013 2515-02/L10RK 77 19 30 15 27 0088
10 R3/8 800911017 820911017 2515-02/L10RK3/8" 17 19 315 17 28 0070
L 315 2R soans 820901213 2515-02/L12RK1/4" 7 2 315 17 28 0072
12 RIB  8009L1217 820911217 2515-02/L12RK 19 2 32 17 28 0118
12 RUZ 80091221 820911221 2515-02/L12RK1/2" 19 2 35 21 3% 0,114
15 R3/8 800911517 8209115 17 2515-02/L15RK3/8" 19 27 35 21 3 0127
15 _R12 800911521 8209L15 21 _2515-02/L15RK 19 27 36 21 34 0,130
18 R1U2 800911821 8209118 21 _2515-02/L18RK % 32 40 235 36 0,166
22 R34 800912227 8209122 27 Z815-02/L22RK 27 36 4 275 42 0240
28 RI" 8009128 34 820928 34 Z515-02/L28RK % 41 47 305 48 0380
42 RV2 800942 49 820942 49 2515-02-/L42RK 50 60 63 40 61 0830
6 R4 8009506 13 8209506 13 2515-02/S6RK % 17 31 16 27 0070
8 R4 800950813 8209508 13_ 2515-02/S8RK 719 3 1721 0,09
S 40010 BB s0ss1017 8209510 17 _2515-02/S10RK 19 22 34 175 28 0,133
12 R38 800951217 8209512 17 2515-02/S12RK 22 24 38 215 28 0168
14 R1U2 800951421 8209514 21 2515-02/S14RK 19 27 4 2 3 018
16 R1U2Z 800951621 8209516 21 2515-02/S16RK 24 30 43 245 32 0,189

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



Alegris
@

Male stud elbows

metric taper
DIN 3852-1 form C

F2 F1

A
PN @D C 'f):’l:’;' s'"gi'ﬁ;]"“e °°“:’i':!;"“° Bell code F1* F2 L1 L2 L3
4 M8x1 _ 8009E0456 8109E04 56 15-02/LLANIK 9 10 21 11 17 000
5 M8x1  8009E0556 8109E05 56 15-02/LL5MK M 12 21 95 17 0023
LL 1700 B Mext 0030652 8105E0652 15-02/LL6MK6X 1 9 12 21 95 17 0083
6 M8x1  8009E0656 8109E06 56 15.02/LL6MK8X1 9 12 21 95 17 0023
6 M10x1  8009E0660 8109E06 60 15-02/LL6MK M 12 21 95 17 0023
8 M10x1 __ 8009E0360 8109E08 60 15-02/LL8MK 2 1 23 115 20 0032
6 M10x1__ 8009L06 60 820906 60 Z515-02/L6NIK 12 1 27 12 20 0040
8 Mi2a15  8009L08 67 8209L08 67 2515-02/L8MIK % 17 29 14 26 0,083
10 M14x15 800910 71 820901071 Z815-02/L10NMK 17 19 30 15 27 0088
L 315 wieas soosiioss 820911275 2515-02/L12MK 19 2 32 17 28 0,118
15 M18x15 800911578 820911578 2815-02/L15MK 19 27 3 21 32 0120
18 M22x15 8009118 82 8209118 82 2515-02/L18MK 2 32 40 235 36 0,166
6 M12x15 8009506 67 8209506 67 Z515-02/S6MK % 17 31 16 26 0070
8 M14x15 8009508 71 8209508 71 2515-02/S8MK 719 32 17 27 0,09
S 40010 Mi6xi5 00551075 820951075 2515-02/S10MK 19 2 34 175 28 0,133
12 M1815 800951278 820951278 2515-02/S12NK 22 24 38 215 28 0168
14 M20x15 800951480 8209514 80 2515-02/S14NK 19 27 40 22 3 0,153
16 M22x15 8009516 82 820951682 2515-02/S16MK 24 30 43 245 36 0,189

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

Male stud elbows
NPT

&
PN @D C 'f):’l:’;' s'"gi'ﬁ!'l""e °°“:’i':!;"“° Bell code F1* F2 L1 L2 L3
4 1/8 8009E04 11 8109E04 11 15-02/LL4NPT 1110 21 11 18 0,022
LL 100 ¢ 138 8009E06 11 8109E06 11 15-02/LL6NPT 11 12 2 95 17 0,023
g 1/8 8009E08 11 _8109E08 11 15-02/LL8NPT 12 14 23 115 20 0,032
6 1/8 8009L06 11 8209L06 11 Z815-02/L6NPT 12 14 27 1220 0,040
8 1/4 8009L08 14 8209L08 14 ZS15-02/LSNPT 4 17 29 14 26 0,063
10 1/4 8009L10 14 8209L10 14 2$15-02/L10NPT 177 19 30 15 27 0,088
315 12 14 8009L12 14 8209L12 14 Z815-02/L12NPT1/4" 17 22 32 17 28 010
12 38 8009L12 18 8209L12 18 Z815-02/L12NPT 19 22 32 1728 0118
L 12 112 8009L12 22 8209L12 22 7815-02/L12NPT1/2" 19 22 36 21 34 0130
15 172 8009L15 22 8209L15 22 ZS15-02/L15NPT 19 27 36 21 34 0,140
18 112 8009L18 22 8209118 22 7S15-02/L18NPT 24 32 40 235 36 0,165
22 3/4 8009L22 28 8209122 28 7S15-02/L22NPT 27 36 44 275 42 0235
160 281" 8009L28 35 8209128 35 2515-02/L28NPT 36 41 47 305 48 0375
35 1"1/4 8009L35 43 8209L35 43 2815-02/L35NPT 41 50 56 345 54 0575
42 1"/2 8009142 50 8209142 50 _7S15-02/L42NPT 50 60 62 39 61 0830
6 14 8009506 14 8209506 14 7815-02/S6NPT 4 17 31 16 26 0,070
8 1/4 8009508 14 8209508 14 7815-02/S8NPT 1719 32 17 27 0,09
630 10 3/8 8009510 18 8209510 18 7815-02/S10NPT 19 22 34 175 28 0133
12 3/8 8009512 18 8209512 18 Z815-02/S12NPT 22 24 38 215 28 0,168
14 172 8009514 22 8209514 22 7815-02/S14NPT 19 27 40 22 34 0,166
S 16 1/2 8009516 22 8209516 22 Z815-02/S16NPT 2430 43 245 36 0,200
400 -2 3/4 8009520 28 8209520 28 7815-02/S20NPT 27 36 48 265 42 0,300
% 1" 8009525 35 8209525 35 7815-02/S25NPT 36 46 54 30 48 0565
30 1"1/4 8009530 43 8209530 43 7815-02/S30NPT 41 50 62 355 54 0,820
315 38 11/2 8009538 50 8209538 50 ZS15-02/S38NPT 50 60 72 41 61 1,160

* Models @D 4 to 12mm are manufactured from profile steel



Couplings to ISO 8434-1/DIN 2353

Male stud elbows

Alegris
@

—m
BSP parallel i
o O L3 y
sealing bite I =
1ISO 1179-4 3l
SN
G
L2
L1
& _
PN ©D C ';:’l;’;' D"“:’i':!;""e Bell code EF F2 G L1 L2 L3
22 G3/4 8099L22 27 8299122 27 ZS515-02/L22RB 16 27 36 32 44 215 26 0,246
L 250 28 G1 8099L28 34 8299128 34 ZS515-02/L28RB 18 36 41 39 47 305 30 0,347
3% G1"1/4 8099L3542 829913542 ZS15-02/L35RB 20 41 50 49 56 345 34 0612
42 G1"/2 8099L42 49 8299142 49 Z515-02/L42RB 22 50 60 55 63 40 39 0,846
400 20 G3/4 8099520 27 8299520 27 ZS15-02/S20RB 16 27 36 32 48 265 26 0,303
S 25 G1 8099525 34 8299525 34 ZS515-02/S25RB 18 36 46 39 54 30 30 0,580
250 30 G1"1/4 809953042 829953042 ZS15-02/S30RB 20 41 50 49 62 355 34 0,744
38 G1"1/2 8099538 49 8299538 49  7S15-02/S38RB 22 50 60 55 72 41 39 0,989




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Male stud branch

tees ) Q,DI@
BSP taper le :

DIN 3852-2 form C

A A

PN @D C 'f):’l:’;' sm?i'ﬁ;]b"e °°“:’i':!;"“° Bell code F1* F2 L1 L2 L3

4 RIS 8008E04 10 8108E04 10 15-03/LL4RK 9 10 21 11 17 003

LL 100 6 RS  8008E0610 8108E06 10 15-03/LL6RK 9 12 21 95 17 0034

8 RS __ 8008E0810 8108E08 10 15-03/LL8RK 12 14 23 115 20 0,044

6 RUS _ 8008L06 10 8208L06 10 Z515-03/L6RK 12 14 27 12 20 0,059

8 RU4  8008L08 13 820808 13 ZS15-03/L8RK 4 1729 14 26 0087

L 315 10 R4 s00slions 8208L10 13 Z515-03/L10RK 1719 30 1527 09

12 R3/8  8008L1217 820812 17 Z815-03/L12RK 19 2 32 1728 0156

15 R12__ 8008L1521 8208L15 21 _Z515-03/L15RK 19 27 36 21 34 0215

18 R1U2 80081821 8208L18 21 Z515-03/L18RK 24 3 40 235 36 0304

6 RU4 800850613 8208506 13_Z515-03/S6RK 141731 16 2 0,106

8 RU4 800850813 8208508 13 _Z515-03/S8RK 7 19 32 17 27 043

S 400 10 R aEsio1 8208510 17 _Z515-03/S10RK 19 2 34 175 28 0,186
12 R3/8 800851217 820851217 _7515-03/S12RK 22 24 38 215 28 023 o |

14 R12_ 800851421 820851421 Z515-03/S14RK 19 27 40 2 32 04

16 R12 800851621 820851621 Z515-03/S16RK 24 30 43 245 32 0309

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel.



Alegris
@

Male stud branch SR

tees ) @DI@
metric taper L3] N

DIN 3852-1 form C

A A
PN @D C 'f):’l:’;' sm?i'ﬁ;]b"e °°“:’i':!;"“° Bell code F1* F2 L1 L2 L3
4 Mexl  8008E0456 8108E04 56 15-03/LL4MK 9 10 21 1117 0030
LL 100 6 M10x1_ 8008E0660 8108E06 60 15-03/LL6MK 9 12 21 95 17 0034
8  MI0x1_ 8008E0860 8108E08 60 15-03/LL8MK 12 14 23 115 20 0084
6  Mi0x1_ 8008L06 60 8208L06 60 Z515-03/L6MIK 2 1 27 12 20 0059
8 Mi2x15 8008L08 67 820808 67 ZS15-03/L8MK W 17 29 1 26 008
L 39510 M5 s 8208L10 71 Z515-03/L10NK 7 19 30 15 27 0119
12 M16x15 8008L12 75 8208L12 75 Z515-03/L12MK 19 2 32 17 28 0156
15 M18x15 8008L1578 82081578 ZS15-03/L15MK 19 27 36 21 32 0205
18 M22x15 800818 82 8208L1882 Z515-03/L18MK 24 32 40 235 36 030
6  Mi2x15 800850667 8208506 67 Z515-03/S6MK W 17 31 16 26 0106
8  Midx15 8008508 71 8208508 71 Z515-03/S8MK 7 19 32 17 27 0413
S 40010 MEX5 8ESI0TE 820851075 ZS15-03/S10MK 19 22 34 175 28 0,8
o 12 M18x15 800851278 820851278 Z515-03/S12MK 22 24 38 215 28 0236
14 M20x15 800851480 820851480 Z515-03/S14NMK 19 27 4 2 32 042
16 M22x15 8008516 82 820851682 ZS15-03/S16MK 24 30 43 245 36 0309

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



Blegris ~ Couplings to ISO 8434-1/DIN 2353

@D
Male stud run -
tees o L F2 F1
RS B
BSP taper | ; ij o)

DIN 3852-2 form C 3 ]j“%

A A
PN @D C 'f):’l:’;' sm?i'ﬁ;]b"e °°“:’i':!;"“° Bell code F* F2 L1 L2 L3
4 RS 8003E0410 8103E04 10 15-04/LLARK M 10 21 1 17 0032
LL 100 6 RVB  003E0610 8103E06 10 15.04/LL6RK M 12 21 95 17 0034
8 RIB _ B003E0810 8103E08 10 15.04/LLSRK 12 14 28 115 20 0046
6 RIS  8003L06 10 8203106 10 ZS15-04/L6RK 12 14 2 12 20 0058
8 R4 5003L08 13 8203L08 13 Z515-04/L8RK 1 17 29 14 26 0088
L 315 10 R4 saiois 8203L10 13 Z515-04/L10RK 7 19 30 15 27 0120
12 R38  8003L1217 8203L12 17 ZS15-04/L12RK 19 2 3 17 28 015
15 RIZ  8003L15 21 8203L15 21 2515-04/L15RK 19 27 36 21 3 0210
18 RU2 80031821 8203118 21 ZS15-04/L18RK 24 32 40 235 36 0304
6 R4 8003506 13 8203506 13_Z515-04/S6RK 14 17 31 16 2 0,06
8 RU4 800350813 8203508 13 Z515-04/S8RK 719 %2 17 27 0137
S 40010 R __smsion 8203510 17 Z515-04/S10RK 19 22 34 175 28 019
12 R3B 800351217 8203512 17 Z515-04/S12RK 2 24 38 215 28 0246
% RUZ 800351421 820351421 Z515-04/S14RK 19 27 40 2 3 0252 83
16 RU2 800351621 820351621 Z515-04/S16RK 2% 30 43 245 32 0323

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



Alegris
@

2o, —
Male stud run e
tees o L F2 F1
- j P
metric taper . , :] @"I

DIN 3852-1 form C 13 FET

A A A
PN @D C 'f):’l:’;' sm?i'ﬁ;]b"e °°“:’i':!;"“° Bell code F1* F2 L1 L2 L3
4 M8x1__ 8003E0456  8103E04 56 15-04/LLAMIK 9 10 21 1 17 0030
LL 100 6 M10x1__ 8003E0660 8103E06 60 15-04/LL6MK M 12 2 95 17 0034
8 M10x1__ 8003E0860 8103E08 60 15-04/LLEMIK 12 14 23 115 20 0046
6 M10x1 _ 8003L06 60 8203106 60 ZS15-04/L6NIK 12 14 27 12 20 0058
8 Mi2x15  8003L08 67 8203L08 67 Z515-04/L8MK 4 17 29 14 26 0088
L 39510 MMéxi5 susLiori 820311071 ZS15-04/L10NK 1719 30 15 27 0120
12 M16x15 800311275 8203L12 75 ZS15-04/L12MK 19 22 32 17 28 015
15 M18x15  8003L15 78 820311578 2S15-04/L15MK 19 27 36 21 32 0200
18 M22x15  8003L18 82 820311882 ZS15-04/L18MK 24 3 40 235 36 0304
6 Mi2x15 8003506 67 8203506 67 _Z515-04/S6MK 141731 16 26 0105
8 M14x15 800350871 8203508 71 Z515-04/S8MK 7 19 32 17 21 0137
S 40010 Mibs s00ss107s 820351075 _ZS15-04/S10MK 19 2 34 175 28 019%
o 12 M1sx15 800351278 820351278 2515-04/S12MK 22 24 38 215 28 0246
14 M20x15 8003514 80 820351480 ZS15-04/S14MK 19 27 40 2 32 0252
16 M22x15 8003516 82 820351682 ZS15-04/S16MK 24 30 43 245 36 0319

* Models @D 4 to 10mm are manufactured from profile steel
Models @D > 10mm are manufactured from forged steel



_Couplings to ISO 8434-1/DIN 2353

HAlegris
@

Straight flange
couplings with om | y
1 o) o o
square flange A il l*- -
head ls =@ -« (-
- helu
= L - L L' o
A A
Body Double-bite  DiNova
PN oD C only ring ring Bell code E F1 F2 0G L L1 L2 MA
315 10 M6 8605L10 00 8625L10 00 8635L10 00 ZS15-25/L10-250 125 19 5 35 39 38 23 10 0.150
12 M6 8605L12 00 8625L12 00 8635L12 00 ZS15-25/L12-250 125 22 5 3 39 38 23 10 0.150
250 15 M6 8605L15 00 8625L15 00 8635L15 00 ZS15-25/L15-250 125 27 5 35 39 38 23 10 0.170
L 15 M6 8605L15 01 8625L1501 8635L1501 ZS15-25/L15-100 125 27 5 40 & 43 28 10 0.210
100 18 M6 8605L18 00 8625L18 00 8635L18 00 ZS15-25/L18-100 125 32 5 40 42 4 275 10  0.220
22 M6 8605L22 00 8625L22 00 8635L22 00 ZS15-25/L22-100 125 36 5 40 42 4 275 10 0.230
28 M6 8605L28 00 8625L28 00 8635L28 00 ZS15-25/L28-100 125 41 5 40 42 44 275 10  0.280
S 315 16 M6 8605516 00 8625516 00 8635516 00 ZS15-25/S16-315 125 30 5 35 39 40 215 10 0210

Bodies only delivered with bolts

Elbow flange -
couplings with
square flange head

A < &

PN @D C ‘z:;‘;' D"“:’i':!;"“e D'r'i"n°g"a Bell code E F1 F20G L L2 L3 L4 MA !

10 M6 8606L1000 8626L1000 8636L1000 ZS15/1-25/L10250 125 19 6 35 39 165 46 31 10 0.85

315 W6 se06L1200 862601200 8636L1200 ZS15/125/12250 125 22 5 35 39 165 46 31 10 0.196

250 15 M6 8606L1500 86261500 8636L1500 ZS15/125/L15250 125 27 5 35 39 165 46 31 10 0224

L 15 M6 8606L1501 8626L1501 8636L1501 ZS15/125/L15-100 125 27 5 40 42 225 46 31 10 0212
18 M6 8606L1800 8626L1800 8636L1800 ZS15/1-25/L18-100 125 32 5 40 42 225 47 305 10 0235

100 22 M6 86062200 8626L2200 8636L2200 ZS15/1-25/22-100 125 36 5 40 42 225 47 305 10 0283

28 M6 86062800 862612800 8636L2800 Z515/1-25/L28-100 1256 41 5 40 42 28 49 325 10 0371

3 M6 86063500 862613500 8636L3500 Z7S15/1-25/L35-100 125 50 5 40 42 32 52 305 10 0550

375 18 Mo 660651600 862651600 863651600 Z515/125/ST6315 125 30 5 3 39 20 4 295 100202

20 M6 860652000 862652000 863652000 ZS15/125/S20315 125 36 5 35 39 25 56 345 10 0387

S 20 M8 860652002 862652002 863652002 ZS15/1-25/S20250 125 36 5 40 425 225 51 295 25 0.34
250 25 M8 860652500 862652500 863652500 ZS15/1-25/S25250 125 46 6 5 58 30 61 37 25 0775

30 M8 860653000 862653000 863653000 Z515/1-25/S30250 1256 50 6 65 58 32 62 355 25 0820

Bodies only delivered with bolts.




Alegris
@

Straight flange

couplings SAE P

(3000 PSI) 5
¢ =

& & A

Body Double-bite  DiNova
PN OD C type only ring ring Bell code E F1F2 F3 L1 L2 L3 L4 T1 T2 MA!

350 15 M8 1/2" 8601L1562 8621L1562 8631L1562 ZS15/3-80/L15-1/2" 165 24 27 6 56 41 54 46 381 175 25 0.363

315 18 M10 3/4" 8601L1869 8621L1869 8631L1869 ZS15/3-80/L18-3/4" 205 30 32 8 62 455 65 52 476 223 49 0592

L 22 M10 3/4" 8601L22 69 8621L22 69 8631L22 69 ZS15/3-80/L22-3/4" 205 30 36 8 62 455 65 52 47.6 22.3 49 0574
250 28 M10 1" 8601L28 75 8621L28 75 8631L28 75 ZS15/3-80/L28-1" 185 36 41 8 63 465 70 59 524 262 49 0.738

o 35 M12 11/4" 8601L3582 8621.3582 8631L3582 Z515/3-80/L35-11/4" 255 41 50 10 69 475 79 73 587 30.2 85 1.007

210 42 M2 11/2" 8601L4288 862114288 8631L42 88 Z515/3-80/L42-11/2" 235 46 60 10 76 53 94 82 699 357 85 1.440

16 M8 1/2" 860151662 862151662 8631516 62 Z515/3-80/S16-1/2" 165 24 30 6 60 415 54 46 381 175 25 0.396
20 M10 3/4" 860152069 8621520 69 8631520 69 ZS15/3-80/S20-3/4” 205 30 36 8 68 465 65 52 476 223 49 0.648
25 M10 3/4" 860152569 862152569 863152569 ZS15/3-80/S25-3/4" 205 30 46 8 69 45 656 52 476 223 49 0.759
30 M10 1" 8601530 75 862153075 8631530 75 ZS15/3-80/S30-1" 185 36 50 8 76 495 70 59 524 262 49 0.974
S 25 M12 11/4" 860152582 862152582 863152582 7515/3-80/S25-11/4" 255 41 46 10 72 48 79 73 587 302 85 1.182
280 30 M12 11/4" 860153082 8621530 82 8631530 82 Z515/3-80/S30-11/4" 255 41 50 10 75 485 79 73 587 30.2 85 1.190

38 M12 11/4" 8601538 82 8621538 82 8631538 82 Z515/3-80/538-11/4" 255 46 60 10 81 50 79 73 587 30.2 85 1.380

m 210 38 M12 11/2" 8601538 88 8621538 88 8631538 88 2515/3-80/538-11/2" 235 46 60 10 85 54 94 82 699 357 85 1680

350

Bodies only delivered with bolts

Elbow flange
couplings SAE i

(3000 PSI) e

& @) A

Body Double-bite  DiNova
PN @D C type only ring ring Bell code E F1 F2 F3L1 L2 L3 L4 LB T1 T2 MA!

350 15 M8 1/2" 8602L1562 862211562 8632L1562 ZS15/3-81L15-1/2" 165 24 27 54 36 44 29 46 38.1 175 25 0.400

315 18 M10 3/4" 8602L1869 8622L1869 8632L18 69 ZS15/3-81L18-3/4" 205 30 32 65 42 48 315 52 476 223 49 0.672

L 22 M10 3/4" 8602L22 69 8622122 69 8632L22 69 ZS15/3-81L22-3/4" 205 30 36 65 42 50 335 52 47.6 223 49 0.664
250 28 M10 1" 8602L28 75 8622L28 75 8632L28 75 ZS15/3-81L28-1" 185 36 41 70 45 53 365 59 524 262 49 0.878

o 35 M12 11/4" 860213582 862203582 8632L3582 Z515/3-81L35-11/4" 255 41 50 79 50 68 465 73 587 30.2 85 1.227

210 42 M12 11/2" 860214288 862214288 8632L42 88 ZS15/3-81L42-11/2" 235 50 60 94 55 70 47 82 69.9 357 85 1.630

16 M8 1/2" 8602516 62 8622516 62 8632516 62 ZS15/3-81516-1/2" 165 24 30 54 36 48 295 46 38.1 175 25 0.430

350 20 M10 3/4" 8602520 69 8622520 69 8632520 69 ZS15/3-81520-3/4" 205 30 36 65 42 54 325 52 476 223 49 0.740

25 M10 3/4" 860252569 862252569 863252569 ZS515/3-81525-3/4" 205 30 46 65 42 57 33 52 476 223 49 0.840

30 M10 1" 8602530 75 8622530 75 8632830 75 ZS15/3-81530-1" 185 36 50 70 45 63 365 59 524 26.2 49 1.060

S 25 M12 11/4" 860252582 862252582 863252582 2515/3-81525-11/4" 255 41 46 79 50 67 43 73 587 30.2 85 1.492
280 30 M12 11/4" 860253082 8622530 82 8632530 82 Z515/3-81530-11/4" 255 41 50 79 50 70 435 73 587 30.2 85 1.450

38 M12 11/4" 8602538 82 8622538 82 8632538 82 2515/3-81538-11/4" 255 41 60 79 50 79 43 73 687 30.2 85 1.520

210 38 M12 11/2" 8602538 83 8622538 88 8632538 88 2515/3-81538-11/2" 235 50 60 94 55 79 48 82 69.9 357 85 1.950

Bodies only delivered with bolts

- =
[eelNocRNe ) He) Kl Ho o} Nooll oo} Nop)

oo

—
o

—_
o

—
o

—_
o




Blegrs ~ Couplings to ISO 8434-1/DIN 2353

Straight flange
couplings SAE
(6000 PSI)

& & A

Body Double-bite  DiNova
PN OD C type only ring ring Bell code E F1F2 F3 L1 L2 L3 L4 T1 T2 MA!

16 M8 1/2" 8603516 62 862351662 8633516 62 ZS515/6-80/S16-1/2" 185 24 30 6 63 445 56 47 405 182 25 0.455

16 M10 3/4" 8603516 69 862351669 8633516 69 Z515/6-80/S16-3/4” 155 30 30 8 69 505 71 60 508 238 49 0.832

20 M10 3/4" 860352069 8623520 69 8633520 69 ZS15/6-80/S20-3/4" 155 30 36 8 72 505 71 60 508 238 49 0.862

400 25 M10 3/4" 860352569 862352569 863352569 ZS15/6-80/S25-3/4" 155 30 46 8 75 51 71 60 508 238 49 0.984

S 25 M12 1" 860352575 862352575 863352575 ZS15/6-80/S25-1" 205 36 46 10 84 60 81 70 572 278 85 1.380
30 M12 1" 860353075 862353075 863353075 ZS15/6-80/S30-1" 205 36 50 10 87 605 81 70 572 278 85 1410
30 M14 11/4" 8603530 82 862353082 863353082 ZS15/6-80/S30 11/4" 225 41 50 12 92 655 95 77 667 31.8 135 1.980
38 M14 11/4" 8603538 82 8623538 82 863353882 Z515/6-80/S38-11/4" 225 46 60 12 98 67 95 77 667 31.8 135 2.130
38 M16 11/2" 860353888 8623538 88 8633538 88 ZS515/6-80/S38-11/2" 245 46 60 14 104 73 113 95 794 365 210 2.980

Bodies only delivered with bolts

Elbow flange
couplings SAE Sl
(6000 PSI) B

A @) A

Body Double-bite  DiNova
PN @D C type only ring ring Bell code E F1 F2 F3L1 L2 L3 L4 L5 T1 T2 MA!

16 M8 1/2" 8604516 62 862451662 8634516 62 2515/6-81/S16-1/2" 185 24 30 6 56 39 48 295 47 405 182 25 0.483

16 M10 3/4" 8604516 69 862451669 8634516 69 Z515/6-81/S16-3/4” 155 32 30 8 71 48 55 365 60 50.8 23.8 49 0.992

20 M10 3/4" 8604520 69 8624520 69 8634520 69 ZS15/6-81/S20-3/4" 155 32 36 8 71 48 57 355 60 508 238 49 0.982

400 25 M10 3/4" 860452569 862452569 863452569 ZS15/6-81/S25-3/4" 155 32 46 8 71 48 60 36 60 50.8 238 49 1.69%4

S 25 M12 1" 8604525 75 862452575 863452575 7S15/6-81/S25-1" 205 41 46 10 81 60 65 41 70 57.2 27.8 85 1.680
30 M12 1" 8604530 75 862453075 863453075 ZS15/6-81/S30-1" 205 41 50 10 81 60 68 415 70 57.2 27.8 85 1.630
30 M14 11/4" 860453082 8624530 82 8634530 82 7515/6-81/S30-11/4" 22.5 46 50 12 95 68 71 445 77 66.7 31.8135 2.360
38 M14 11/4" 8604538 82 8624538 82 863453882 ZS15/6-81/S38-11/4" 225 46 60 12 95 68 76 45 77 66.7 318135 2320
38 M16 11/2" 8604538 88 8624538 88 8634538 88 7515/6-81/S38-11/2" 245 50 60 14 113 76 87 56 95 79.4 365210 3.580

315

Bodies only delivered with bolts



nipples

Straight weld

i

Alegris
@

I e

6 8020506 00 14-002/S6 25 3 31,2 32 4x1,5 365 6x1 0,008
8 8020508 00 14-002/S8 4 45 31,2 32 6x1,5 259 8x1 0,010
10 8020510 00 14-002/S10 6 6,5 32,7 33 7,5x1,5 201 10x1 0,014
12 8020512 00 14-002/S12 15 8 32,7 33 91,5 259 12x1,5 0,017
15 8020L1500 14-002/L15 10 10,5 34,7 35 12x2 201 15x1,5 0,026
15 8020L15 00 14-002/L15 10 10,5 34,7 35 12x2 259 15x2 0,026
15 8020L15 00 14-002/L15 10 10,5 34,7 35 12x2 365 15x2,5 0,026
L 18 8020L18 00  14-002/L18 13 13,5 35,5 37 15x2 164 18x1,5 0,034
18 8020L18 00 14-002/L18 13 135 355 37 15x2 226 18x2 0,034
18 8020L18 00  14-002/L18 13 13,5 35,5 37 15x2 293 18x2,5 0,034
22 8020L22 00 14-002/L22 17 17,5 38 395  20x2 181 22x2 0,046
22 8020L22 00  14-002/L22 17 17,5 38 395  20x2 232 22x2,5 0,046
28 8020L28 00  14-002/L28 23 24 41 425  26x2 139 28x2 0,065
28 8020L28 00  14-002/L28 23 24 41 425  26x2 177 28x2,5 0,065
35 8020L35 00  14-002/L35 29 29,5 47 495  32x2,5 109 35x2 0,112
35 8020L35 00 14-002/L35 29 295 47 495  32x2,5 169 35x3 0,112
42 8020L42 00  14-002/L42 36 36,5 47 50 38x2,5 139 42x3 0,136
6 8020506 00 14-002/S6 3 25 31,2 32 4x1,5 624 6x1,5 0,008
8 8020508 00 14-002/S8 45 4 31,2 32 6x1,5 423 8x1,5 0,010
8 8020508 00 14-002/S8 45 4 31,2 32 6x1,5 624 8x2 0,010
10 8020510 00 14-002/S10 6,5 6 32,7 335  75x15 321 10x1,5 0,014
10 8020510 00 14-002/S10 6,5 6 32,7 335  75x15 460 10x2 0,014
12 8020512 00 14-002/812 8 5% 327 335 915 365 12x2 0,017
12 8020512 30  14-002/512X3 6,5 6* 32,7 335 915 485 12x2,5 0,022
12 802051230  14-002/512X3 6,5 6* 32,7 335 915 624 12x3 0,022
14** 8020514 00  14-002/S14X3 85 8 38 40 10x2 303 14x2 0,032
14** 8020514 00 14-002/514X3 85 8 38 40 10x2 398 14x2,5 0,032
14** 8020514 00  14-002/514X3 85 8 38 40 10x2 504 14x3 0,032
16 8020516 00 14-002/S16 105 10% 38 405  12x2 259 16x2 0,037
16 8020516 00 14-002/S16 105 10* 38 405  12x2 337 16x2,5 0,037
S 16 8020516 00  14-002/S16 105 10% 38 405  12x2 423 16x3 0,037
20 8020520 00 14-002/S20 135 13% 44 47 16,3x2,4 259 20x2,5 0,063
20 8020520 00 14-002/S20 135 13* 44 47 16,3x2,4 321 20x3 0,063
20 8020520 00 14-002/S20 135 13* 44 47 16,3x2,4 388 20x3,5 0,063
20 8020520 40  14-002/S20X4 125 16* 44 47 16,3x2,4 460 20x4 0,070
25 8020525 00  14-002/S25 17 16* 49 535 20,3x2,4 247 25x3 0,112
25 8020525 00  14-002/S25 17 16* 49 535 20,3x2,4 347 25x4 0,112
30 8020530 00 14-002/S30 245 24 52 575 253x2,5 201 30x3 0,103
30 8020530 40  14-002/S30X4 22,5 22% 52 57,5 253x2,4 279 30x4 0,133
30 802053050 14-002/S30X6 18,5 18% 52 575 253x24 365 30x5 0,185
30 8020530 50 14-002/S30X6 18,5 18* 52 575 253x24 460 30x6 0,185
38 8020538 00 14-002/S38 305  30* 56,5 645 333x24 213 38x4 0,189
38 8020538 60 14-002/S38X6 265  26* 56,5 645 333x24 275 38x5 0,267
38 8020538 60 14-002/S38X6 26,5 26* 56,5 645 333x24 342 38x6 0,267

* bore diameter differs between DIN 3865 A and ISO 8434-4
** not included in DIN 3865 A and ISO 8434-4



Blegris ~ Couplings to ISO 8434-1/DIN 2353

Butt weld straight
couplings

A A A

PN @D '3:;’;’ D"“:’i':!;""e D'r'i"n"g"a Bell code Ml P2 G L1 L2

G 8031106 10 8231L06 10 8331L06 10 ZS15-20/L6 7 1410 29 14 005

8 803110812 823110812 8331L08 12 Z515-20/L8 W 17 12 31 16 003

400 10 8031L10 14 8231L1014 8331L10 14 Z515-20/L10 719 14 33 18 0047

12 803111216 823111216 8331L1216 Z515-20/L12 19 2 16 33 18 006

15 803111519 8231L1519 8331L1519 ZS15-20/L15 2 27 19 37 22 0084

L 18 80311822 6823111822 833111822 Z515-20/L18 77 32 22 M0 235 0139

315— 80312227 823112227 833112227 Z515:20/122 2 3 27 45 285 0,181

28 803112832 823112832 833112832 Z515-20/L28 4 32 & 305 0302

250 35 803103540 823113540 833113540 Z515-20/L35 16 50 40 54 325 0377

) 803114246 823114246 833114246 Z515-20/L42 55 60 46 58 35 0,641

G 8031506 118231506 118331506 11 2515-20/S6 W17 1 34 19 0032

8 8031508 138231508 13 8331508 13 Z515-20/S8 7 19 13 36 21 0049

630 10 803151015 823151015 833151015 Z515-20/S10 19 22 15 39 225 0072
12 803151217 823151217 8331512 17 Z515-20/S12 2 24 17 41 245 008 89 |

n 803151419 823151419 833151419 Z515-20/S14 % 27 1 4 27 0108

S 1 8031516 21 823151621 8331516 21 Z515-20/516 77 30 21 45 265 014

20 803152026 823152026 833152026 Z515-20/520 32 3 2 51 295 0218

400 —; 803152531 823152531 833152531 Z515-20/525 4 46 31 56 32 0377

30 803153036 823153036 833153036 Z515-20/530 6 50 36 62 355 0449

315 3 803153844 823153844 8331538 44 Z515-20/538 55 60 44 69 38 0,68

body: material C 15.

Bell code
These part numbers are given as a general guide BE" COde

and correspond to double-bite ring models.

ZS 15-20/L6




Alegris
@

Butt weld elbow
couplings

A A A
PN @D '3:;’;’ D"“:’i':!;""e D'r'i"n°g"a Bell code 1 F2 G L1 L2 L3
G 8032006 10 8232L06 10 8332L06 10 ZS15/120/L6 7 110 27 12 185 0,030
8 8032008 12 82320812 8332008 12 Z515/1-20/L8 1217 12 20 14 21 003
400 10 8032010 14 823201014 8332L10 14 ZS15/120/L10 W19 14 30 1B 2 0052
12 803201216 823211216 8332L12 16 ZS15/1-20/L12 7 22 16 32 17 24 0073
15 803201519 82321519 8332L15 19 ZS15/120/LT5 19 27 19 3 21 28 0,20
L 18 803201822 82321822 833201822 ZS15/120/L18 2% 32 22 40 235 30 0,166
315— 803202227 823212227 833212227 ZS15/120/122 77 3% 27 4 275 &2 0206
28 803212832 823212832 833212832 ZS15/1-20/L28 % 41 32 4 305 48 0347
250 3 803203540 82323540 833203540 ZS15/120/L35 450 40 56 345 54 0612
) 803214246 823214246 833204246 ZS15/120/L42 50 60 46 63 40 61 0846
G 8032506 11 8232506 118332506 11 ZS15/120/S6 717 1 31 16 23 0052
8 8032508 13 8232508 13 8332508 13 Z515/120/S8 W19 1 32 17 225 0,068
630 10 803251015 8232510 15 833251015 Z515/1-20/S10 17 22 15 34 175 235 0,097
90 12 803251217 8232512 17 8332812 17 Z515/1-20/S12 7 24 177 38 215 235 0,08
n 803251419 823251419 8332514 19 Z515/1-20/S14 19 27 19 40 22 255 0,5
S 16 8032516 21 823251621 8332516 21 ZS15/1-20/S16 2% 30 21 43 245 33 0,189
20 803252026 823252026 833252026 Z515/1-20/520 77 36 26 48 265 42 0303
400 —; 803252531 823262531 833252531 Z515/1-20/525 3% 46 31 54 30 48 0580
30 803253036 823253036 833253036 Z515/1-20/S30 450 36 62 355 54 074
315 3 803253844 823253844 8332538 44 Z515/1-20/538 50 60 4 72 4 57 0989

body: material C 15.



HAlegris
@

Bulkhead straight
weld couplings

~ Couplings to ISO 8434-1/DIN 2353

]

A A

PN @D '3:;’;’ D"“:’i':!;""e D'r'i"n"g"a Bell code F G L1 L2
6 8033L06 18 8233L06 18 8333L06 18 ZS15-21/L6 14 18 8 5 0,31

8 803310820 8233L0820 8333L0820 ZS15-21/L8 7 20 8 5 0162

400 10 803311022 8233L1022 8333L1022 ZS15-21/L10 19 22 8 58  01%
12 80331225 823311225 8333L1225 ZS15-21/L12 2 25 8 5 0241

L 15 8033L1528 8233L1528 8333L1528 Z515-21/L15 27 28 100 70 0353
31518 803311832 8233L1832 8333L1832 ZS15-21/L18 32 32 101 69 0469
2 803312236 823312236 833312236 Z515-21/L22 3% 36 105 73 0582

28 803312840 823312840 833312840 ZS15-21/L28 41 40 106 73 0,660
250 35 803313550 823313550 8333L3550 Z515-21/L35 50 50 114 71 1,029
) 803314260 8233L4260 8333L4260 Z515-21/L42 60 60 115 70 1488

6 8033506 20 823350620 833350620 Z515-21/S6 17 20 89 60 0169

8 803350822 823350822 833350822 Z515-21/S8 9 22 89 60 0208

630 10 803351025 823351025 833351025 Z515-21/S10 2 5 91 59 0200
12 803351228 823351228 833351228 Z515-21/S12 2 28 91 59 033

S m 803351430 823351430 833351430 Z515-21/514 2730 107 72 0447
16 8033516 35 823351635 833351635 Z515-21/S16 30 3% 107 71 0578
24002 803352033 823352038 833352038 Z515-21/520 3% 38 114 71 0732
2% 803352545 823352545 833352545 Z515-21/S25 6 45 120 72 1,146

30 803353050 823353050 833353050 Z515-21/530 50 50 126 73 1,34
315 38 8033538 60 823353860 8333538 60 Z515-21/S38 80 60 133 72 1913

body: material C 15.

Discover it on legris.com

e In one click, display an animated presentation
of how these couplings are assembled.




Couplings to ISO 8434-1/DIN 2353 Blegris

. c2
Male stud standpipe o0
(DKO) =
BSP parallel e ol |9
elastomer seal -
ISO 1179-2 c
24° sealing cone and O-ring <
PN @D C1 c2 &) Bell code E F1 F2 G L Oring
6 G1/8 M12x1,5 8501L06 10 14-28/L6RD-DM 8 14 14 139 245 4x15 0,024
8 G1/4 M14x1,5 8501L08 13  14-28/L8RD-DM 12 19 17 189 295 6x1,56 0,055
10 G1/4 M16x1,5 8501L10 13 14-28/L10RD-DM 12 19 19 189 275 75x15 0,053
400 10 G3/8 M16x1,5 8501L10 17 14-28/L10RD3/8"-DM 12 22 19 219 34  75x1,56 0,060
12 Gl/4 M18x1,5 8501L12 13 14-28/L12RD1/4"-DM 12 19 22 189 34 9x1,5 0,080
12 G3/8 M18x1,6 8501L12 17 14-28/L12RD-DM 12 22 22 219 34 9x15 0,100
L 12 G1/2 M18x1,5 8501L12 21 14-28/L12RD1/2"-DM 14 27 22 269 305 9x15 0,100
15 G1/2 M22x1,5 8501L15 21 14-28/L15RD-DM 14 27 27 269 32 12x2 0,128
315 18 G1/2 M26x1,5 8501L18 21 14-28/L18RD-DM 14 27 32 269 3156 15x2 0,143
22 G3/4 M30x2 8501L22 27 14-28/L22RD-DM 16 32 36 319 325 20x2 0,207
28 G1 M36x2 8501L28 34 14-28/L28RD-DM 18 41 41 399 35 26x2 0,290
250 35 G1"1/4  M45x2 8501L35 42 14-28/L35RD-DM 20 50 50 499 425 32x25 0,503
m 42 G1"/2  M52x2 8501L42 49 14-28/L42RD-DM 22 55 60 549 465 38x2,5 0,596
6 G1/4 M14x1,5 8501506 13 14-28/S6RD-DM 12 19 17 189 27 4x15 0,048
8 G1/4 M16x1,5 8501508 13 14-28/S8RD-DM 12 19 19 189 295 6x15 0,057
630 10 G3/8 M18x1,5 8501510 17 14-28/S10RD-DM 12 22 22 219 32 7,5x1,5 0,086
12 G3/8 M20x1,5 8501512 17 14-28/S12RD-DM 12 22 24 219 34 9x15 0,101
12 G1/2 M20x1,5 8501512 21 14-28/S12RD1/2"-DM 14 27 24 269 345 915 0,110
S 14 G1/2 M22x1,5 8501514 21 14-28/S14RD-DM 14 27 27 269 365 10x2 0,154
16 G1/2 M24x1,5 8501516 21 14-28/S16RD-DM 14 27 30 2,9 37 12x2 0,161
20 G3/4 M30x2 8501520 27 14-28/S20RD-DM 16 32 36 319 43 16,3x2,4 0,275
400 25 G3/4 M36x2 8501525 27 14-28/S25RD3/4"-DM 16 32 46 319 446 20,3x2,4 0,500
25 G1 M36x2 8501525 34 14-28/S25RD-DM 18 41 46 399 48  20,3x2,4 0,509
30 G1"1/4  M42x2 8501530 42 14-28/S30RD-DM 20 50 50 499 51 25,3x2,4 0,693
315 38 G1"1/2  M52x2 8501538 49 14-28/S38RD-DM 22 55 60 549 60 333x2,4 0,960




Blegrs ~ Couplings to ISO 8434-1/DIN 2353

. c2
Male stud standpipe o0
(DKO) e
F2 ——
metric parallel e ol |91
elastomer seal
ISO 9974-2 F
24° sealing cone and O-ring A
PN oD C1 Cc2 & Bell code E F1 F2 G L  O-ring
6 M10x1 M12x1,56 8501L06 60 14-28/L6\MD-DM 8 14 14 139 245 4x15 0,028
8 M12x15 M14x15 8501L08 67 14-28/L8MD-DM 12 17 17 169 265 6x15 0,044
400 10 M14x15 M16x15 8501L10 71  14-28/L10MD-DM 12 19 19 189 275 75x15 0,054
12 M16x1,5 M18x15 8501L12 75 14-28/L12MD-DM 12 22 22 219 305 9x15 0,078
L 15 M18x1,56 M22x1,5 8501L15 78 14-28/L15MD-DM 12 24 27 239 3156 12x2 0,111
315 18 M22x1,5 M26x1,5 8501L18 82 14-28/L18MD-DM 14 27 32 269 315 15x2 0,148
22 M26x15 M30x2 8501L22 89 14-28/L22MD-DM 16 32 36 319 325 20x2 0,200
28 M33x2 M36x2 8501L28 91 14-28/L28MD-DM 18 41 41 399 35 26x2 0,291
250 35 M4x2 M45x2 8501L35 96 14-28/L35MD-DM 20 50 50 499 425 32x25 0,508
42 M48x2 M52x2 8501L42 98 14-28/L42MD-DM 22 55 60 549 465 38x25 0,679
6 M12x15 M14x15 8501506 67 14-28/S6MD-DM 12 17 17 169 27 4x1,5 0,041
8 M14x15 M16x15 8501508 71 14-28/SSMD-DM 12 19 19 189 295 6x1,5 0,058
630 10 M16x15 M18x15 8501510 75 14-28/S10MD-DM 12 2 22 279 32 715x15 0,089 m
12 M18x1,56 M20x1,5 8501512 78 14-28/S12MD-DM 12 24 24 239 34 9x1,5 0,108
S 14 M20x1,56 M22x1,5 8501514 80 14-28/S14MD-DM 14 27 27 259 365 10x2 0,161
16 M22x1,56 M24x1,5 8501516 82 14-28/S16MD-DM 14 27 30 269 37 12x2 0,164
400 20 M27x2  M30x2 8501520 86 14-28/S20MD-DM 16 32 36 319 43 16,3x2,4 0,293
25 M33x2 M36x2 8501525 91 14-28/S25MD-DM 18 41 46 399 48 20,3x2,4 0,525
30 M42x2 M42x2 8501530 96 14-28/S30MD-DM 20 50 50 499 51 253x2,4 0,703
315 38 M48x2  M52x2 8501538 98 14-28/S38MD-DM 22 55 60 549 60 33,3x24 1,045




Couplings to ISO 8434-1/DIN 2353 ﬂ |

Standpipe reducers
for tubes (DKO)

Alegris
@

NS
) o
24° sealing cone and O-ring  J,,F 1 | " ona
=
L2
L1
& &

PN D1 @D2 C Soty  Doulsplte DReYa el code FI F2 F3 L1 L2 Oring
8 6 M14x1,5 8076L08 06 8276L08 06 8376L08 06 ZS14-29/L8-6V-DM 12 17 14 38 235 6x15 0,041
10 6 M16x1,5 8076L10 06  8276L10 06 8376L10 06 ZS14-29/L10-6V-DM 14 19 14 395 25 75x15 0,052
10 8 M16x1,5 8076L10 08 8276L10 08 8376L10 08 ZS14-29/L10-8V-DM 14 19 17 395 25 75x15 0,058
12 6 M18x1,5 8076L1206 8276L1206 8376L1206 ZS14-29/L12-6V-DM 17 22 14 395 25 9x1,5 0,063
400 12 8 M18x1,5 8076L12 08 827612 08 8376L12 08 7S14-29/L12-8V-DM 17 22 17 395 25 15 0,071
1210 M18x1,5 8076L12 10 8276L12 10 8376L12 10 ZS14-29/L12-10V-DM 17 22 19 405 26 9x1,5 0,081
15 6 M22x1,5 8076L1506 8276L1506 8376L1506 ZS14-29/L15-6V-DM 19 27 14 425 28 12x2_ 0,091
15 8 M22x1,5 8076L15 08 8276L15 08 8376L1508 ZS14-29/L15-8V-DM 19 27 17 425 28 12x2_ 0,104
15 10 M22x1,5 8076L1510 8276L15 10 8376L1510 ZS14-29/L15-10V-DM 19 27 19 435 29 12x2_ 0,106
15 12 M22x1,5 8076L1512 8276L1512 8376L1512 ZS14-29/L15-12V-DM 19 27 22 435 29 12x2 0,111
18 6 M26x1,5 8076L18 06 8276L18 06 8376L18 06 ZS14-29/L18-6V-DM 24 32 14 425 28 15x2 0,128
18 8 M26x1,5 8076L18 08 8276L18 08 8376L18 08 ZS14-29/L18-8V-DM 24 32 17 425 28 15x2 0,128
1810 M26x1,5 8076L18 10 8276L18 10 8376L18 10 ZS14-29/L18-10V-DM 24 32 19 435 29 15x2 0,140
18 12 M26x1,5 8076L18 12 8276L18 12 8376L18 12 ZS14-29/L18-12V-DM 24 32 22 435 29 15x2 0,143
18 15 M26x1,5 8076L18 15 8276L18 15 8376L18 15 ZS14-29/L18-15V-DM 24 32 27 45 30 15x2 0,160
L 315 22 6 M30x2 8076L22 06 8276L22 06 8376L22 06 Z2S514-29/L22-6V-DM 27 36 14 465 32 20x2 0,188
22 8 M30x2 8076L22 08 8276L22 08 8376L22 08 ZS14-29/L22-8V-DM 27 36 17 465 32 20x2 0,196
2 10 M30x2 8076L22 10 8276L22 10 8376L22 10 ZS14-29/L22-10V-DM 27 36 19 475 33 20x2 0,197
2 12 M30x2 8076L22 12 827612212 8376L22 12 Z7S14-29/L22-12V-DM 27 36 22 475 33 20x2 0,199
2 15 M30x2 8076L22 15 8276L22 15 8376L22 15 ZS14-29/L22-15V-DM 27 36 27 49 34 20x2 0,216
22 18 M30x2 8076L22 18 8276L22 18  8376L22 18 ZS14-29/L22-18V-DM 27 36 32 495 335 20x2 0,230
28 8 M36x2 8076L28 08 8276128 08 8376L28 08 ZS14-29/L28-8V-DM 32 41 17 48 34 26x2 0,257
28 10 M36x2 8076L28 10 8276L28 10 8376L28 10 ZS14-29/L28-10V-DM 32 41 19 49 35 26x2 0,263
28 12 M36x2 8076L28 12 827628 12 8376L28 12 ZS14-29/L28-12V-DM 32 41 22 49 35 26x2 0,271
28 15 M36x2 8076L28 15 8276L28 15 8376L28 15 ZS14-29/L28-15V-DM 32 41 27 51 36 26x2 0,285
28 18 M36x2 8076L28 18 8276128 18 8376L28 18 7S14-29/L28-18V-DM 32 41 32 51 355 26x2 0314
28 22 M36x2 8076L28 22 8276L2822 8376L28 22 Z7S14-29/L28-22V-DM 32 41 36 53 3756 26x2 0,351
250 35 12 M45x2 8076L35 12 827613512 8376L35 12 7S14-29/L35-12V-DM 41 50 22 525 38  32x25 0,445
3B 15 M45x2 8076L3515 8276L3515 8376L3515 ZS14-29/L35-15V-DM 41 50 27 54 39  32x25 0,461
3 18 M45x2 8076L35 18 8276L35 18 8376L35 18 ZS14-29/L35-18V-DM 41 50 32 545 385 32x25 0471
3 22 M45x2 8076L3522 8276L3522 837613522 Z7S14-29/L35-22V-DM 41 50 36 565 405 32x25 0476
35 28 M45x2 8076L35 28 827613528 8376L3528 Z7S14-29/L35-28V-DM 41 50 41 57 405 32x25 0,446
2 22 M52x2 8076L42 22  8276L42 22 8376L4222 7S14-29/L42-22V-DM 50 60 36 60 44  38x25 0,668
42 28 M52x2 8076L42 28 8276L42 28 83764228 ZS14-29/L42-28V-DM 50 60 41 605 44  38x25 0,670
42 35 M52x2 8076L42 35 827614235 837614235 Z7S514-29/L42-35V-DM 50 60 50 645 43  38x25 0,720




HAlegris '
@ " _I |

Standpipe reducers for
tubes (DKO) \;3

>
24° sealing cone and O-ring ¢ oorf |l | Y 02|
=
L2
L1
A &) A
PN @D1 @D2 C Soay  Douteplte DROYa el code Fl F2 F3 L1 L2 Oing
8 6 M16x1,5 8076508 06 8276S08 06 8376508 06 ZS14-29/S8-6V-DM 14 19 17 45 27 6x15 0,065
10 6 M18x1,5 8076510 06 8276510 06 8376510 06 ZS14-29/S10-6V-DM 17 22 17 42 215 75x15 0,082
10 8 M18x1,5 8076510 08 8276510 08 8376510 08 ZS14-29/S10-8V-DM 17 22 19 42 275 75x15 0,088
12 6 M20x1,5 807651206 827651206 837651206 ZS14-29/S12-6V-DM 19 24 17 445 30 9x1,5 0,100
630 12 8 M20x1,5 8076512 08 8276512 08 8376512 08 ZS14-29/S12-8V-DM 19 24 19 445 30 9x15 0,102

1210 M20x1,5 8076512 10 8276512 10 8376512 10 ZS14-29/S12-10V-DM 19 24 22 455 295 9x15 0,115
14 10 M22x1,5 807651410 8276514 10 8376514 10 ZS14-29/S14-10V-DM 19 27 22 47 31 10x2_ 0,137
14 12 M22x1,5 807651412 8276514 12 8376514 12 ZS14-29/S14-12VDM 22 27 24 47 31 10x2__ 0,151
16 6 M24x1,5 8076516 06 8276516 06 8376516 06 ZS14-29/S16-6V-DM 22 30 17 465 32 12x2_ 0,148
16 8 M24x1,5 8076516 08 8276516 08 8376516 08 ZS14-29/S16-8V-DM 22 30 19 465 32 12x2 0,154
16 10 M24x1,5 8076516 10 8276516 10 8376516 10 ZS14-29/S16-10V-DM 22 30 22 475 315 12x2 0,161
16 12 M24x1,5 8076516 12 8276516 12 8376516 12 7S14-29/S16-12V-DM 22 30 24 475 315 12x2 0,189
16 14 M24x1,5 8076516 14 8276516 14 8376516 14 ZS14-29/S16-14V-DM 24 30 27 505 33 12x2 0,192

20 8 M30x2 8076520 08 8276520 08 8376520 08 ZS14-29/S20-8V-DM 27 36 19 505 36 163x24 0,251
S 20 10 M30x2 8076520 10 8276520 10 8376520 10 ZS14-29/S20-10V-DM 27 36 22 515 355 163x24 0,256 E
200 12 M30x2 8076520 12 8276520 12 8376520 12 ZS14-29/S20-12V-DM 27 36 24 515 355 16,3x24 0,262
400 2014 M30x2 8076520 14 8276520 14 8376520 14 Z7S14-29/S20-14V-DM 27 36 27 545 37 16,3x24 0277
20 16 M30x2 8076520 16 8276520 16 8376520 16 ZS14-29/S20-16V-DM 27 36 30 545 365 16,3x24 0,285
25 8 M36x2 8076525 08 8276525 08 8376525 08 7S14-29/S25-8V-DM 32 46 19 53 385 20,3x24 0403
25 10 M36x2 8076525 10 8276525 10 8376525 10 ZS14-29/S25-10V-DM 32 46 22 54 38 20,3x24 0413
% 12 M36x2 8076525 12 8276525 12 8376525 12 ZS14-29/S25-12V-DM 32 46 24 54 38 203x24 0421
25 16 M36x2 8076525 16 8276525 16 8376525 16 ZS14-29/S25-16V-DM 32 46 30 57 39 203x24 0,440
2% 2 M36x2 807652520 827652520 837652520 ZS14-29/S25-20V-DM 32 46 36 605 39 20,3x24 0,448
30 16 M42x2 8076530 16 8276530 16 8376530 16 ZS14-29/S30-16V-DM 41 50 30 625 445 253x24 0564
30 20 M42x2 807653020 827653020 837653020 ZS14-29/S30-20V-DM 41 50 36 66 445 253x24 0594
30 25 M42x2 807653025 827653025 8376530 25 7S14-29/S30-25V-DM 41 50 46 69 45 253x2,4 0,694
38 16 M52x2 8076538 16 8276538 16 8376538 16 2S14-29/S38-16V-DM 50 60 30 66 48 33.3x2,4 0,866
315 38 20 M52x2 8076538 20 8276538 20 8376538 20 ZS14-29/S38-20V-DM 50 60 36 695 48 33.3x2,4 0921
38 25 M52x2 8076538 25 8276538 25 8376538 25 Z7S14-29/S38-25V-DM 50 60 46 725 485 333x24 0977

38 30 M52x2 8076538 30 8276538 30 8376538 30 ZS14-29/S38-30V-DM 50 60 50 755 49  333x2,4 0,990




Alegris
@

Increasers for tubes
(DKO) F2 F1

24° sealing cone and O-ring

LD
o

C1 (ZiD1I ‘ ‘(DDZICZ

PN ©D1 D2 C1 c2 &) Bell code F1 F2 L 0-ring
L6 L8 M12x1,5 M14x1,5 8566L06 08  14/8-290/L6-8V-DM 14 14 245 4x15 0,028

L6 L10 M12x1,5 M16x1,5 8566L06 10  14/8-290/L6-10V-DM 17 14 255 4x15 0,032

L8 L10 M14x1,5 M16x1,5 8566L08 10 14/8-290/L8-10V-DM 17 1 255 6x15 0,035

400 L8 L12 M14x1,5 M18x1,5 8566L08 12 14/8-290/L8-12V-DM 19 17 26,5 6x1,5 0,045
L10  L12 M16x1,5 M18x1,5 8566L10 12 14/8-290/L10-12V-DM 19 19 26 7,5x1,5 0,051

L10  L15 M16x1,5 M22x1,5 8566L10 15 14/8-290/L10-15V-DM 24 19 27 75x15 0,066

L12  Ss12 M18x1,5 M20x1,5 8566L12512 14/8-290/L12-S12V-DM 2 22 26,5 15 0,072

L12  L15 M18x1,5 M22x1,5 8566L12 15  14/8-290/L12-15V-DM 2422 27 91,5 0,075

L L15  S16 M22x1,5 M24x1,5 8566L15516  14/8-290/L15-S16V-DM 271 27 30 12x2_ 0,115
L12 118 M18x1,5 M26x1,5 8566L12 18 14/8-290/L12-18V-DM 277 22 215 9x1,5 0,090

31 L15  L18 M22x1,5 M26x1,5 8566L15 18  14/8-290/L15-18V-DM 27 77 29 12x2 0,115
° L5 L22 M22x1,5 M30x2 8566L15 22 14/8-290/L15-22V-DM 32 7 31 12x2 0,136
L18  L22 M26x1,5 M30x2 8566L18 22 14/8-290/L18-22V-DM 32 32 32,5 15x2 0,155

L22 128 M30x2 M36x2 8566L22 28  14/8-290/L22-28V-DM 41 36 345 20x2 0,226

m 250 L28 L35 M36x2 M45x2 8566L28 35  14/8-290/L28-35V-DM 46 4 35 26x2 0,298
L28 142 M36x2 M52x2 8566L28 42 14/8-290/L28-42V-DM 55 41 36,5 26x2 0,430

L35 142 M45x2 M52x2 8566L35 42 14/8-290/L35-42V-DM 55 50 405  32x25 0504

630 S8 $12 M16x1,5 M20x1,5 8566508 12 14/8-290/58-12V-DM 22 19 275 6x1,5 0,065
S10 812 M18x1,5 M20x1,5 8566510 12 14/8-290/S10-12V-DM 2 22 28 75x15 0,079

S12  S16 M20x1,5 M24x1,5 8566512 16 14/8-290/$12-16V-DM 27 24 305 915 0,109

S$16 S20 M24x1,5 M30x2 8566516 20 14/8-290/S16-20V-DM 32 30 33 12x2_ 0,173

400 s16  S25 M24x1,5 M36x2 8566516 25 14/8-290/$16-25V-DM 41 30 345 12x2 0,238
S20  S25 M30x2 M36x2 8566520 25 14/8-290/S20-25V-DM 41 36 38 16,3x2,4 0,296

S §25  S30 M36x2 M42x2 8566525 30 _14/8-290/S25-30V-DM 46 46 415 203x2,4 0483
S16  L18 M24x1,5 M26x1,5 8566516L18 14/8-290/S16-L18V-DM 27 30 32 12x2 0,143

315 s L2 M30x2 M30x2 8566S520L22 14/8-290/S20-L22V-DM 32 36 375  16,3x24 0,223
S25  S38  M36x2 M52x2 8566525 38 14/8-290/S25-38V-DM 55 46 43 20,3x2,4 0,629

S$25 128 M36x2 M36x2 8566525L28  14/8-290/S25-L28V-DM 41 46 405  20,3x2,4 0,394

250 S5 L3 M36x2 M45x2 8566525L35 14/8-290/S25-L35V-DM 46 46 )l 20,3x2,4 0,460
S§25 42 M36x2 M52x2 8566525L42 14/8-290/S25-L42V-DM 55 46 42 20,3x2,4 0,566




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Reducer straight
connectors (DKO) %
4 [e o
(o] H H HT H @D| C
- [1 {
24° sealing cone and O-ring bi = I
L
PN OD C A Bell code F L Oing
6 M12x15 8506L06 00 14/8-10/L6-DM 14 36  4x15 002
8 Midx15 8506L08 00 14/8-10/L8-DM 17 36  6x15 0,041
400 10 M16x15 8506L10 00 14/8-10/L10-DM 19 37 75x15 0,050
12 M18x15 8506L12 00 14/8-10/L12-DM 2 37 915 0,069
L 15 M22x15 8506L15 00 14/8-10/L15-DM 27 40 12x2 0,120
315 _18_M26x15 8506L18 00 14/8-10/L18-DM 32 425 15x2 0,160
2 M30x2 8506L22 00 14/8-10/L22-DM 36 47 20x2 0224
28 M36x2 8506L28 00 14/8-10/L28-DM 41 49 262 0373
250 35 M45x2 8506L35 00 14/8-10/L35-DM 50 58  32x25 0414
42 M52x2 8506L42 00 14/8-10/L42-DM 80 59  38x25 0,705
6 M14x15 8506506 00 14/8-10/S6-DM 17 39 4x15 0,039
8 M16x15 8506508 00 14/8-10/S8-DM 19 39 6x15 0048
630 10 M18x15 8506510 00 14/8-10/S10-DM 22 43 75x15 0,069
12 M20x15 8506512 00 14/8-10/S12-DM 24 4 915 0,083
S 14 M22x15 8506514 00 14/8-10/S14-DM 27 48 12 012
16 M24x15 8506516 00 14/8-10/S16-DM 30 50  12x2 0,140
400 _2_M30x2 8506520 00 14/8-10/S20-DM 36 60 16324 0,236
25 M36x2 8506525 00 14/8-10/S25-DM 46 66 203x24 0390
30 M42x2 8506530 00 14/8-10/S30-DM 50 73 253x24 0,499
315 38 Ms2x2 8506538 00 14/8-10/S38-DM 60 83 333x24 0,740




Double reducer
adaptors (DKO)

24° sealing cone and O-ring

HXF;
o1 got LU - I _u

Alegris
@

PN ©D1 ©@D2 c1 C2 &) Bell code F1 F2 L Oring1 O-ring2
18 L6 M14x1,5 M12x1,5 8506L08 06 14/8-14/L8-6-DM 17 35 6x1,5  4x15 0,032

L10 L6 M16x1,5 M12x1,5 8506L10 06 14/8-14/L10-6-DM 19 345 75x15  4x15 0,037

L10 L8 M16x1,5 M14x1,5 8506L10 08 14/8-14/L10-8-DM 19 345 75x15  6x15 0,046
400 112 L6 M18x1,5 M12x1,5 8506L12 06 14/8-14/L12-6-DM 22 345 915 4x15 0,047
L1218 M18x1,5 M14x1,5 8506L12 08 14/8-14/L12-8-DM 22 345 9x15  6x15 0,055
L1518 M22x1,5 M14x1,5 8506L15 08 14/8-14/L15-8-DM 27 36 12x2  6x15 0,080

L15  L10  M22x15 M16x1,5 8506L15 10 14/8-14/L15-10-DM 27 355  12x2 715x15 0,085

L15 L12  M22x15 M18x1,5 8506L15 12 14/8-14/L15-12-DM 27 35  12x2  9x15 0,094

L 18 L12  M26x15 M18x1,5 8506L18 12 14/8-14/L18-12-DM 32 37 152 9x15 0,114
L18 L15  M26x15 M22x1,5 8506L18 15  14/8-14/L18-15-DM 32 385 152  12x2 0,140

L18  S16  M26x15 M24x1,5 8506L18516 14/8-14/L18-S16-DM 32 M5 15x2 12x2 0,150

315 122 112  M30x2 M18x1,5 8506122 12 14/8-14/L22-12-DM 36 39 20x2  9x15 0,146
122 L15  M30x2 M22x1,5 8506122 15  14/8-14/L22-15-DM 36 405 202 12x2 0,172

m 122 L18  M30x2 M26x1,5 8506L22 18 14/8-14/L22-18-DM 36 42 20x2  15x2 0,192
22 S20  M30x2 M30x2 8506L22520 14/8-14/L22-S20-DM 36 47 20x2  16,3x2,4 0,230

128  L18  M36x2 M26x1,5 8506L28 18 14/8-14/L28-18-DM 4 425  26x2  15x2 0,266
250 128 122  M36x2 M30x2 8506L28 22  14/8-14/L28-22-DM M 435  26x2  20x2 0,298
L35 128 M45x2 M36x2 8506L35 28 14/8-14/L35-28-DM 50 48 32x25  26x2 0,394
630 S12  S10  M20x15 M18x1,5 8506512 10 __14/8-14/S12-10-DM 24 375  9x15  75x15 0,076
$10 L10  M18x15 M16x1,5 8506510L10 14/8-14/S10-L10-DM 22 355 75x15 75x15 0,060

$12 L8 M20x1,5 M14x1,5 8506512L08  14/8-14/S12-L8-DM 24 365 9x15  6x15 0,062

812 L10  M20x15 M16x1,5 8506512L10 14/8-14/S12-L10-DM 24 36 915 75x15 0,067

S$12  L12  M20x15 M18x1,5 8506512L12 14/8-14/S12-L12-DM 24 36 915  9x15 0,076

$16  L12  M24x15 M18x1,5 8506516L12 14/8-14/S16-L12-DM 30 385 12x2  9x15 0,105

S $16  S12  M24x15 M20x1,5 8506516 12 14/8-14/S16-12-DM 30 405 12x2 915 0,112
400 $16  L15  M24x15 M22x1,5 8506516L15 14/8-14/S16-L15-DM 30 40 122 12x2 0,130
$20 S16  M30x2 M24x1,5 8506520 16 14/8-14/S20-16-DM 36 475 163x24  12x2 0,188

$25 S16  M36x2 M24x1,5 8506525 16 14/8-14/S25-16-DM 46 495 203x24  12x2 0,265

$25 S20  M36x2 M30x2 8506525 20  14/8-14/525-20-DM 46 53 20,3x24 16,3x2,4 0,313

S30 S20  M42x2 M30x2 8506530 20  14/8-14/S30-20-DM 50 56,5 253x24 16,3x2,4 0,368

$30 S25  M42x2 M36x2 8506530 25  14/8-14/S30-25-DM 50 555 253x2,4 20,3x2,4 0,445

315 S38 S30  M52x2 M42x2 8506538 30  14/8-14/S38-30-DM 60 66 333x24 253x2,4 0,620




HAlegris
@

_Couplings to ISO 8434-1/DIN 2353

Male stud standpipe o
metric parallel F2 | |
elastomer seal .
ISO 9974-2
pre-assembled ring
e,
« G .
PN @D C1 () “““fi'l::"“e Bell code E F1 F2 G L
6 G1/8  MI2x15 8242106 10 2515-28/L6RD 8 14 14 139 245 0025
8 G4  Mux15 8242108 13 Z515-28/L8RD 1219 17 189 295 0,045
10 G4  M16x15 824201013 ZS15-28/L10RD 1219 19 189 275 0,047
400 12 G4 M5 824211213  Z515-28/L12RD1/4" 1219 22 189 29 0064
12 G3/8  M18x15 824201217 ZS15-28/L12RD 12 2 22 219 34 0063
12 G2 M18x15 824211221 2515-28/L12RD1/2" 1427 22 269 32 0097
L 15 G3/8  M22x15 824211517 Z515-28/L15RD3/8" 12 2 27 219 34 0110
15 G2 M22x15 824211521 2515-28/L15RD 14 27 27 269 32 0115
315_18 G2 Mz6x15 824201821 Z515-28/L18RD 1427 32 269 315 0,129
2 G3/4  M30x2 824212227 7515-28/L22RD 16 32 36 319 325 0,176
28 G1 M36x2 824212834 515-28/L28RD 18 41 41 399 35 0247
250 35 G1"1/4  M45x2 8242135 42  Z515-28/L35RD 20 50 50 499 425 0,407
42 G112 Ms52x2 824214249  7515-28/L42RD 22 55 60 549 465 0456
6 G4  Mux15 8242506 13 Z515-28/S6RD 1219 17 189 27 0,050
8 G4  MI6x15 8242508 13 Z515-28/S8RD 1219 19 189 295 0,055
630 10 G3/8 M18x1,5 824281017  ZS15-28/S10RD 12 2 2 219 32 008
12 G3/8  M20x15 824281217 Z515-28/S12RD 12 2 24 219 34 0,095
12 G2 M20x15 824251221 7515-28/S12RD1/2" 14 27 24 269 345 0095
S 14 G2  M22x15 82421421 7515-28/S14RD 1427 27 269 365 0,148
16 G172 M24x15 824251621 Z515-28/S16RD 14 27 30 269 37 0154
400 2 G4 M3 8242520 27 Z515-28/S20RD 16 32 36 319 43 0253
25 G1 M36x2 824252534 7515-28/S25RD 18 41 46 399 48 0465
30 G114  M42x2 824253042 Z515-28/S30RD 20 50 50 499 51 0,644
315 38 GI"1/2 M52x2 824253849 Z515-28/S38RD 22 5 60 549 60 0,889




Couplings to ISO 8434-1/DIN 2353

Alegris
@

Male stud standpipe &
BSP parallel F2
elastomer seal -
ISO 1179-2 L
pre-assembled ring ||
C1
.6 .
PN @D C1 () “““fi'l::"“e Bell code E F1 F2 G L
6 M10x1 M12x1,5 8242106 60 ZS15-28/L6MD 8 14 14 139 245 0,025
8 M12x1,5 M14x15 8242108 67 ZS15-28/L8MD 12 17 17 169 265 0,040
400 10 M14x15 M16x15 824211071  ZS15-28/L10MD 12 19 19 189 275 0,047
12 M16x15 M18x1,5 824211275 ZS15-28/L12MD 12 22 22 219 305 0,063
15 M18x15 M22x1,5 824211578 ZS15-28/L15MD 12 24 27 239 315 0,09
L 15 M22x15 M22x1,5 824211582 ZS15-28/L15MD22X1,5 14 27 27 29 3 0,140
315 18 M22x15 M26x1,5 8242118 82  ZS15-28/L18MD 14 27 32 29 315 0,129
22 M26x15 M30x2 8242122 89 ZS515-28/L22MD 16 32 36 319 325 0,176
28 M33x2  M36x2 8242128 91 ZS15-28/L28MD 18 41 41 399 3K 0,247
250 35 M42x2  Md45x2 824213596  Z515-28/L35MD 20 50 50 499 425 0,407
42 M48x2  M52x2 8242142 98 Z515-28/L42MD 22 55 60 549 465 0,456
6 M12x1,5 M14x15 8242506 67 ZS15-28/S6MD 12 17 17 169 27 0,045
8 M14x15 M16x15 8242508 71  ZS15-28/S8MD 2 19 19 189 295 0,055
630 10 M16x15 M18x15 824251075 ZS15-28/S10MD 12 22 22 219 32 0,082
12 M18x15 M20x1,5 824281278 Z815-28/S12MD 12 24 24 239 34 0,095
S 14 M20x15 M22x1,5 8242514 80 ZS15-28/S14MD 14 27 27 259 365 0,148
16 M22x15 M24x1,5 8242516 82  ZS15-28/S16MD 14 27 30 29 37 0,154
400 20 M27x2  M30x2 824252086 ZS15-28/S20MD 16 32 36 319 43 0,253
25 M33x2  M36x2 824252591 ZS15-28/S25MD 18 41 46 399 48 0,465
30 M42x2  M42x2 824253096 ZS15-28/S30MD 20 50 50 499 51 0,644
315 38 M48x2  Mb52x2 824253898 ZS15-28/S38MD 22 55 60 549 60 0,889




Bllegris ~ Couplings to ISO 8434-1/DIN 2353

Male stud standpipe ez
BSP parallel F2
sealing bite F1 L
ISO 1179-4
pre-assembled ring L -
C1
To
PN @D C1 () “““fif!;""e Bell code E F1 F2 G L
6 G1/8 M12x1,5 8241L06 10  ZS15-28/L6RB 8 14 14 14 245 0,025
8 Gl/4 M14x1,5 8241L08 13  ZS15-28/L8RB 12 19 17 18 295 0,045
10 G1/4 M16x1,5 8241L10 13  ZS15-28/L10RB 12 19 19 18 275 0,047
12 Gl/4 M18x1,5 824111213  ZS15-28/L12RB1/4" 2 19 22 18 29 0,057
315 12 G3/8 M18x1,5 8241L1217 ZS15-28/L12RB 12 22 22 22 34 0,063
L 12 G1/2 M18x1,5 824111221 ZS15-28/L12RB1/2" 4 27 22 26 32 0,097
15 G1/2 M22x1,5 8241L1521 ZS15-28/L15RB 14 27 21 26 32 0,115
18 G1/2 M26x1,5 824111821 ZS15-28/L18RB 14 27 32 26 315 0,129
22 G3/4 M30x2 8241L22 27 7S15-28/L22RB 6 32 36 32 325 0,176
250 28 G1 M36x2 8241128 34  ZS15-28/L28RB 18 41 41 39 35 0,247
35 G1"1/4  M45x2 824113542 7515-28/L35RB 20 50 50 49 425 0,407
42 G1"/2  M52x2 824114249 7S15-28/L42RB 22 55 60 55 46,5 0,456
6 G1/4 M14x1,5 8241506 13  ZS15-28/S6RB 12 19 17 18 27 0,050
8 G1/4 M16x1,5 8241508 13  ZS15-28/S8RB 12 19 19 18 295 0,055 m
PB 630* 10 G3/8 M18x1,5 824151017 ZS15-28/S10RB 12 2 2 22 32 0,082
12 G3/8 M20x1,5 824181217 ZS15-28/S12RB 12 22 24 22 34 0,095
12 G1/2 M20x1,5 824151221 ZS15-28/S12RB1/2" 14 27 24 26 345 0,09
S 14 G1/2 M22x1,5 8241514 21 ZS15-28/S14RB 14 27 21 26 36,5 0,148
16 G1/2 M24x1,5 8241516 21 ZS15-28/S16RB 14 27 30 26 37 0,154
400 20 G3/4 M30x2 8241520 27 ZS515-28/S20RB 6 32 36 32 43 0,253
25 G1 M36x2 8241825 34  7815-28/S25RB 18 41 46 39 48 0,465
250 30 G1"1/4  M4d2x2 8241530 42  7S515-28/S30RB 20 50 50 49 51 0,644
38 G1"1/2  M52x2 8241538 49  Z815-28/S38RB 22 55 60 b5 60 0,889

* Safety factor 3



Couplings to ISO 8434-1/DIN 2353 Blegris

Male stud standpipe -
metric parallel F2 '
sealing bite P L
ISO 9974-3

pre-assembled ring £

(@]
=

PN @D C1 () “““fi'l::"“e Bell code E F1 F2 G L

6 M10x1  M12x15 8241L06 60 ZS15-28/L6MB 8 14 14 14 245 0025

8 M12x15 M14x15 8241108 67 ZS15-28/L8MB 12 17 17 17 265 0,040

10 M14x15 M16x1,5 8241L10 71 ZS15-28/L10MB 12 19 19 19 2715 0,047

315 12 M16x15 M18x15 824111275 Z515-28/L12MB 1222 22 21 305 0,063

15 M18x15 M22x15 8241L1578 ZS15-28/L15MB 12 24 21 23 315 0,095

L 18 M22x15 M26x15 824111882  7515-28/L18MB 14 27 32 271 315 0129
22 M26x15 M30x2 82412289 7S15-28/L22MB 16 32 36 31 325 0,176

28 M33x2  M36x2 824112891 Z515-28/L28MB 18 41 41 39 35 0247

250 35 Md2x2  M45x2 824113596 ZS15-28/L35MB 20 50 50 49 425 0,407

42 M48x2  M52x2 8241142 98  Z515-28/L42MB 22 55 60 55 465 0,456

6 M12x15 M14x15 8241506 67 ZS15-28/S6MB 12 17 17 17 21 0,045

8 M14x15 M16x15 824150871 ZS15-28/S8MB 2 19 19 19 295 0,055

m PB 630* 10 M16x15 M18x15 824151075 ZS15-28/S10MB 1222 2 21 32 008
12 M18x15 M20x1,5 824151278 Z815-28/S12MB 12 24 24 23 3 0,105

S 14 M20x15 M22x15 824151480 ZS15-28/S14MB 14 27 21 25 365 0,148
16 M22x15 M24x1,5 824151682 Z815-28/S16MB 14 27 30 27 37 0,154

400 20 m27x2  M30x2 8241520 86  ZS15-28/S20MB 6 32 36 32 43 0253

25 M33x2  M36x2 824152591  7515-28/S25MB 18 41 46 39 48 0,465

250 30 Md2x2  M42x2 8241530 96  ZS15-28/S30MB 20 50 50 49 51 0,644

38 M4agx2  Ms2x2 8241538 98  7515-28/S38MB 22 5 60 55 60 0,889

* Safety factor 3



HAlegris
@

_Couplings to ISO 8434-1/DIN 2353

Male stud standpipe
‘ C2
NPT "
pre-assembled ring .
]
LL.
PN @D C1 () “““:’i':;’“e Bell code E F1 F2 L
6 1/8 M12x1,5 8245L06 11  ZS15-28/L6NPT 997 11 14 33 0,026
8 1/4 M14x1,5 8245L08 14  ZS15-28/L8NPT 151 14 17 38 0,039
315 10 1/4 M16x1,5 8245110 14  ZS15-28/L10NPT 151 14 19 385 0,047
12 3/8 M18x1,5 82451218  Z815-28/L12NPT 1526 19 22 415 0,063
L 15 172 M22x1,5 82451522 Z515-28/L15NPT 1985 22 27 47 0,109
18 1/2 M26x1,5 8245118 22  ZS15-28/L18NPT 1985 22 32 475 0,135
2 34 M30x2 8245122 28  7515-28/L22NPT 2016 27 36 49 0,190
60 28 1 M36x2 8245L28 35  Z815-28/L28NPT 250 36 41 555 0275
1 35 1"1/4  M45x2 8245135 43  2515-28/L35NPT 2562 46 50 625 0,405
42 1"/2 M52 82454250  7515-28/L42NPT 2604 50 60 65 0570
6 1/4 M14x1,5 8245506 14  Z815-28/S6NPT 151 14 17 39 0,049
8 14 M16x1,5 8245508 14 2515-28/S8NPT 151 14 19 41 0,05
630 10 3/8 M18x1,5 8245510 18  ZS15-28/S10NPT 1526 19 22 44 0,080
12 3/8 M20x1,5 824551218  Z515-28/S12NPT 1526 19 24 445 0,100
S 14 172 M22x1,5 824551422  7815-28/S14NPT 1985 22 27 51 0,153
16 1/2 M24x1,5 8245516 22 Z515-28/S16NPT 1985 22 30 515 0,158
400 20 3/4 M30x2 8245520 28 7515-28/S20NPT 2016 27 36 58 0,250
25 1 M36x2 824552535 Z815-28/S25NPT 25 36 46 68 0475
30 1"1/4  M4ax2 8245530 43 Z515-28/S30NPT 2562 46 50 735 0,620
315 38 1"1/2  M52x2 8245538 50 ZS15-28/S38NPT 2604 50 60 78 0,890




Alegris
@

Standpipe reducers
for tubes

pre-assembled ring ¢|oD1

A
PN ©D1 D2 c '1‘;;’3’ °°“:’i':!;b“" Bell code 1 F2 F3 L1 L2
8 6 M1ax15 804000806 8240L0806 Z515-29/L8-6V 12 17 14 40 255 0041
0 6 M16x1,5 80401006 8240L1006 ZS515-29/L10-6V 1219 14 4 275 0080
0 8 M16x15  8040L1008 8240L1008 ZS15-29/L10-8V % 19 17 4 275 0058
2 6 M18x1,5 80401206 8240L1206 ZS15-29/L12-6V W 2 14 4 275 0,060
400 28 M18x15  8040L1208 824011208 ZS15-29/L12-8V % 22 17 4 275 0068
2 10 M18x15  8040L1210 8240L1210 ZS15-29/L12-10V 7 22 19 43 285 0080
5 6 M22x1,5 804011506 8240L1506 ZS515-29/L15-6V 17 27 14 4 29 0086
5 8 M22c15 804011508 8240L1508 Z515-29/L15-8V 7 27 17 4 29 0099
15 10 M22x1,5 804011510 8240L1510 ZS15-29/L15-10V 7 27 19 4 30 0,101
5 12 M22x15 804001512 8240L1512 ZS15-29/L15-12V 7 27 2 4 30 0109
18 8 M26x1,5  8040L1808 8240L1808 Z515-29/L18-8V 19 32 17 46 31 0,123
1810 M26x15  8040L1810 8240L1810 ZS15-29/L18-10V 19 32 19 46 31 0,133
m 18 12 M26x15  8040L1812 8240L1812 ZS15-29/L18-12V 19 32 22 46 31 0136
18 15 M26x15 80401815 8240L18 15 ZS15-29/L18-15V 2 32 27 48 33 0,160
315 22 8 M30x2 804002208 824012208 ZS15-29/L22-8V 24 36 17 48 33 0,189
L 2 10 M30x2 80402210 824002210 ZS515-29/L22-10V 24 36 19 49 34 0190
2 12 M30x2 804012212 824002212 ZS15-29/L22-12V 24 36 22 49 3 0191
2 15 M30x2 80402215 824002215 ZS515-29/L22-15V 2% 3% 27 50 35 0209
2 18 M30x2 80402218 824002218 ZS515-29/L22-18V 27 36 32 51 345 0230
28 10 M36x2 80402810 8240028 10 ZS515-29/L28-10V 30 41 19 49 34 0257
8 12 M36x2 80402812 824002812 ZS515-29/L28-12V 30 41 22 49 3% 0265
28 15 M36x2 804002815 824002815 ZS515-29/L28-15V 30 41 27 50 3% 0279
28 18 M36x2 80402818 824012818 Z515-29/L28-18V 30 41 3 51 345 0308
8 2 M36x2 80402822 824002822 Z515-29/L28-22V 30 41 36 53 365 0345
250 315 M45x2  8040L3515 824013515 ZS515-29/L35-15V % 50 27 56 405 0440
% 18 Ma5x2 804013518 824013518 Z515-29/L35-18V % 50 32 5 40 0450
B 2 M45x2 804003522 82403522 ZS515-29/L35-22V % 50 36 58 42 0455
B 28 M45x2  8040L3528 824013528 ZS515-29/L35-28V 3% 50 41 59 42 045
n 2 M52x2 804004222 824014222 ZS15-29/L42-22V 46 60 36 61 445 0,667
2 28 M522 804014228 824014228 ZS515-29/L42-28V 46 60 41 61 445 0668
2 3% M52x2 804014235 824014235 Z515-29/L42-35V 46 60 50 65 435 0,20




- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

Standpipe reducers
for tube

pre-assembled ring c|oD1

A

PN ©D1 D2 c '1‘;;’3’ °°“:’i':!;b“" Bell code 1 F2 F3 L1 L2

8 6 M16x15 804050806 8240508 06 ZS15-29/S8-6V 1419 17 43 28 0,064

06 M18x1,5 804051006 824051006 ZS15-29/S10-6V 1420 17 45 305 0,074

0 8 M18x15 804051008 824051008 ZS15-29/S10-8V 17 2 19 45 305 0,084

630 126 M20x1,5 804051206 824051206 ZS515-29/S12-6V 14 24 17 4 325 0091

12 8 M20x1,5 804051208 824051208 ZS15-29/S12-8V 17 24 19 47 325 0,098

1210 M20x1,5 804081210 824051210 Z515-29/S12-10V 19 24 22 48 32 0114

1410 M22x1,5 804051410 824051410 Z515-29/S14-10V 19 27 2 5 3 0136

%12 M22x15 804051412 824051412 ZS15-29/S14-12V 2 27 24 52 36 0,44

66 M24x15 804051606 824051606 Z515-29/516-6V 1730 17 53 385 0147

6 8 M24x15__ 804051608 824051608 ZS515-29/S16-8V 1730 19 53 385 0,153

1610 M24x15 804051610 824051610 Z515-29/516-10V 19 30 22 54 38 0,163

16 12 M24x1,5 804051612 824081612 ZS15-29/S16-12V 22 30 24 55 385 0,183
1614 M24x15 804081614 824051614 Z515-29/516-14V 22 30 27 57 395 0,190 m

20 8 M30x2 804052008 824052008 ZS15-29/520-8V 22 36 19 58 43 023

S 20 10 M30x2 804052010 824052010 Z515-29/520-10V 22 36 20 59 425 0,239

20 12 M30x2 804052012 824052012 Z515-29/520-12V 22 36 24 59 425 0245

400 2 16 M30x2 8040520 16 8240520 16 ZS15-29/S20-16V 24 36 30 62 435 0274

% 8 M36x2 804052508 824052508 ZS15-29/S25-8V 27 46 19 62 475 0400

% 10 M36x2 804052510 824052510 Z515-29/S25-10V 27 46 20 63 41 0410

B 12 M36x2 804052512 824052512 Z515-29/525-12V 27 46 24 63 41 0418

% 16 M36x2 804052516 824052516 Z515-29/525-16V 27 46 30 66 43 0437

% 20 M36x2 804052520 824052520 Z515-29/525-20V 30 46 36 70 48 0445

30 16 M42x2 804053016 824053016 Z515-29/530-16V 32 50 30 71 525 0556

30 20 M42x2 804053020 824053020 Z515-29/S30-20V 32 50 36 74 525 0586

30 25 M42x2 804053025 824053025 Z515-29/530-25V 3% 50 46 77 53 0697

38 20 M52¢2 804053820 824053820 Z515-29/538-20V 41 60 36 79 575 0902

315 38 2 M52x2 804053825 824053825 Z515-29/538-25V 4 60 46 82 58 0958

8 30 M52x2 804053830 824083830 Z515-29/S38-30V 46 60 50 89 585 1,001




Nuts
Flare sleeves
Intermediate cones

Connection components
for 24°/ 37° adaptors

DIN 3949

Alegris
@

8432

vy @

oof|

L

1@

PN @D C Et Bellcode F H PN @D C Flare sleeve Bell code L
6 M12x15 8430L0600 12-30/L6 14 17 0,011 6 M12x15 8431L0600 12-31/L6 10,5 0,002
8 M14x15 8430L0800 12-30/L8 17 18 0,018 8 M14x15 84310800 12-31/L8 11 0,002
400 10 M16x15 8430L1000 12-30/L10 19 195 0,023 400 10 M16x15 8431L10 00 12-31/L10 125 0,002
12 M18x15 8430L1200 12-30/L12 22 205 0,031 12 M18x15 843111200 12-31/L12 13 0,005
L 15 M22x15  8430L1500 12-30/L15 27 23 0,055 15 M22x15 843111500 12-31/L15 14 0,011
31518 _M26x15 843011800 12:30/L18 32 23 0074 315 18 M26x15 8431L1800 12-31/L18 145 0,016
22 M30x2 843012200 12-30/L22 36 275 0,105 22 M30x2 84312200 12-31/L22 18 0,017
28 M36x2 843002800 12-30/L28 41 275 0,112 28 M36x2 843112800 12-31/L28 17 0,022
250 35 M45x2 843013500 12:30/L35 50 30 0,164 250 35 M45x2 843113500 12-31/L35 19 0,042
42 M52x2 843004200 12-30/L42 60 34 0,299 42 M52x2 843114200 12-31/L42 21 0,059
6 M14x15 843050600 12-30/S6 17 18 0,019 6 M14x15 84310600 12-31/S6 10,5 0,002
630 8 M16x15 843050800 12-30/S8 19 19 0,025 630 8 M16x15 8431L0800 12-31/S8 11 0,002
m 10 M18x15 843051000 12-30/S10 22 205 0,036 10 M18x15 8431L1000 12-31/S10 125 0,002
12 M20x15 843051200 12-30/S12 24 21 0,041 12 M20x15 84311200 12-31/S12 13 0,005
S 16 M24x15 843051600 12-30/S16 30 265 0,083 16 M24x15 843151600 12-31/S16 17 0,008
400 20 M30x2 843012200 12:30/L22 36 275 0,105 400 20 M30x2 843152000 12-31/S20 17,5 0,026
25 M36x2 843052500 12-30/S25 46 305 0,205 25 M36x2 843152500 12-31/S25 20 0,022
30 Md42x2 843053000 12-30/S30 50 32 0,228 30 Md2x2 843153000 12-31/S30 21,5 0,049
315 38 Ms52x2 843053800 12-30/S38 60 38 0,374 315 38 M52x2 843153800 12-31/S38 265 0,051
A
PN @D Inte::rg:glate Bell code G L O-ring 1 O-ring 2
6 8432L06 00 12-32/BL6 3 15 4x15  44x08 0,003
8 8432L08 00  12-32/BL8 5 12 6x1,5  6x08 0,004
400 10 8432110 00 12-32/BL10 6 125 75x15  75x0,8 0,006
12 843201200 12-32/BL12 8 125 915 95x08 0,008
L 15 843211500 12-32/BL15 11 12,5 12x2 12,5x08 0,010
31518 8432118 00 12-32/BL18 14 13 15x2 15x1 0,012
2 8432022 00 12-32/BL22 17 14,2 20x2 18x1 0,018
28 8432128 00  12-32/BL28 23 14,7 26x2 23x1 0,024
250 35 8432135 00  12-32/BL35 28 185  32x25  30x1 0,049
42 8432042 00  12-32/BL42 35 205  38x25  3Ix1 0,064
6 8432L06 00  12-32/BL6 3 15 4x15  44x08 0,003
630 8 8432L08 00  12-32/BL8 5 12 6x15  6x08 0,004
10 8432L10 00 12-32/BL10 6 125 75x15  75x08 0,006
12 843211200  12-32/BL12 8 125  9x1,5  95x0,8 0,008
S 16 8432516 00  12-32/BS16 11 15 122 1251 0,013
20 8432520 00  12-32/BS20 14 185 163x24  16x1 0,022
400 25 843252500  12-32/BS25 19 20 20,3x2,4  20x1 0,031
30 8432530 00  12-32/BS30 23 22 253x2,4 251 0,042
315 38 8432538 00  12-32/BS38 30 26 333x24 32x1,78 0,063




~ Couplings to ISO 8434-1/DIN 2353

HAlegris
@

o o 8434
Adaptors for 24°/37
couplings
DIN 3949
— ]
@ QDI: GI:%QD
L
L -—L'-
<L>\
8430 8431 8432
PN @D A Bell code
6 8434L06 00 12-40/BL6 0,016
8 8434L08 00 12-40/BL8 0,024
400 10 8434L10 00 12-40/BL10 0,031
12 8434L12 00 12-40/BL12 0,044
L 15 843411500 12-40/BL15 0,076
315 18 8434L18 00 12-40/BL18 0,102
22 8434122 00 12-40/BL22 0,140
28 8434128 00 12-40/BL28 0,158
250 35 8434135 00 12-40/BL35 0,255
42 8434142 00 12-40/BL42 0,422
6 8434506 00 12-40/BS6 0,024
630 38 8434508 00 12-40/BS8 0,031
10 8434510 00 12-40/BS10 0,044 pp
S 12 8434512 00 12-40/BS12 0,054
16 8434516 00 12-40/BS16 0,104
400 20 8434520 00 12-40/BS20 0,250
25 8434525 00 12-40/BS25 0,258
30 8434530 00 12-40/BS30 0319
315 38 8434538 00 12-40/BS38 0,488




Alegris
@

BSP 60° adaptors o

BSP parallel F2
pre-assembled ring - L

PN ©D C1 c2 "““:’i':!;"“e Bell code E F1 F2 G L

6 G18 M12x15 8260L06 10  ZS15-28/L6RB-KS 8 14 14 14 245 0,025

8 G14 M14x15 8260L08 13 ZS15-28/L8RB-KS 1219 17 18 295 0,045

315 10 G4 M16x15 8260L10 13 ZS15-28/L10RB-KS 1219 19 18 275 0,047

12 G3/8  M18x15 8260L12 17 ZS15-28/L12RB-KS 1222 2 22 34 0,063

L 15 G12  M22x15 8260L15 21 Z815-28/L15RB-KS M 27 27 2% 32015
18 G1/2  M26x15 8260L18 21  ZS15-28/L18RB-KS 14 27 32 26 315 0,129

22 G3/4  M30x2 8260022 27 7S15-28/L22RB-KS 16 32 36 32 325 0,176

25028 G1 M36x2 8260028 34  ZS15-28/L28RB-KS 18 41 41 39 350247

35  G1'1/4 M45x2 8260L3542 7515-28/L35RB-KS 20 50 50 49 425 0407

42 G1"/2_Ms52x2 8260142 49  7S15-28/L42RB-KS 22 55 60 55 465 0,456

6 G1/4 M14x15 8260506 13 Z515-28/S6RB-KS 219 17 18 271 005

8 G1/4  M6x15 8260508 13 ZS15-28/S8RB-KS 1219 19 18 295 0,055

m 630* 10 G3/8 M18x15 8260510 17 ZS15-28/S10RB-KS 12 2 2 2 32 0,08
12 G3/8  M20x15 8260812 17 2S15-28/S12RB-KS 1222 24 22 34 0,09

S 14 G1/2  M22x15 8260814 21 ZS15-28/S14RB-KS 14 27 21 26 365 0,148
16 G1/2  M24x15 8260516 21 Z815-28/S16RB-KS 14 27 30 26 37 0154

400 20 G3/4  M30x2 8260520 27  ZS15-28/S20RB-KS 16 32 36 32 43 0,253

25 G1 M36x2 8260525 34 7515-28/S25RB-KS 18 41 46 39 48 0,465

250 -3 G1'1/4 M42x2 8260530 42 ZS15-28/S30RB-KS 20 50 50 49 51 0,644

38 G1'1/2 Ms2x2 826053849 7815-28/S38RB-KS 2 5 60 55 60 0,889

* Safety factor 3



B . @
Blegrs ~ Couplings to ISO 8434-1/DIN 2353

BSP 60° adaptors

& &
PN OD C 'f:l:’;' °°“:’i':!;"“° Bell code E F1 F2 G L1 L2
6 G1/8 8061L06 10  8261L06 10  ZS15-01/L6RB-KS 8 14 14 14 22 85 002
6 G1/4 8061L06 13  8261L06 13  ZS15-01/L6RB1/4"-KS 219 14 18 25 10 0,040
8 G1/4 8061L08 13  8261L08 13  ZS15-01/L8RB-KS 2 19 17 18 25 10 0,045
8 G3/8 8061L08 17 8261L08 17  ZS15-01/L8RB3/8"-KS 12 2 17 2 26 115 0,062
10 G1/4 8061L10 13 8261L10 13 ZS15-01/L10RB-KS 1219 319 18 26 11 0047
10 G3/8 8061L10 17 8261L1017  ZS15-01/L10RB3/8"-KS 12 2 19 22 27 125 0,063
315_10 G172 8061L10 21 8261L1021 ZS15-01/L10RB1/2"-KS 4 27 19 26 28 13 0,095
12 G1/4 8061L1213 8261L1213  ZS15-01/L12RB1/4"-KS 2 19 2 18 26 11 0,06
L 12 G3/8 8061L1217 8261L1217 ZS15-01/L12RB-KS 12 22 2 22 27 125 0,069
12 G1/2 8061L1221 8261L1221 ZS15-01/L12RB1/2"-KS 4 27 2 26 28 13 0,098
15 G3/8 8061L1517 8261L1517  ZS15-01/L15RB3/8"-KS 2 2 27 2 29 135 0,
15 G1/2 8061L1521 8261L1521 ZS15-01/L15RB-KS 4 27 27 26 29 14 0115
18 G1/2 8061L1821 8261L1821 ZS15-01/L18RB-KS 14 27 32 26 31 145 0,129
18 G3/4 8061L1827 8261L1827 ZS15-01/L18RB3/4"-KS 6 32 32 32 31 145 019 W
22 G3/4 8061L2227 8261L2227 ZS15-01/L22RB-KS 16 32 36 32 33 165 0,176
250 28 G1 8061L28 34 8261L28 34  ZS15-01/L28RB-KS 18 41 41 39 34 175 0247
35 G1"1/4  8061L3542 82613542 ZS15-01/L35RB-KS 20 50 50 49 39 175 0407
42 G1"1/2  8061L4249 826114249 ZS15-01/L42RB-KS 22 500 60 55 42 19 0,456
6 G1/4 8061506 13 8261506 13  ZS15-01/S6RB-KS 2 19 17 18 28 13 005
8 G1/4 8061508 13 8261508 13 ZS15-01/S8RB-KS 2 19 19 18 30 15 0,05
PB 630*_10_G3/8 806151017 826151017 ZS15-01/S10RB-KS 12 22 2 22 31 15 0,082
12 G3/8 806181217 826181217 ZS15-01/S12RB-KS 12 2 24 22 33 17 0095
12 G1/2 806151221 826151221 ZS15-01/S12RB1/2"-KS 14 27 24 2 3 175 0125
14 G1/2 806181421 826151421 ZS15-01/S14RB-KS 14 27 27 26 37 19 0,148
S 16 G1/2 806151621 826151621 ZS15-01/S16RB-KS 14 27 30 26 37 185 0,154
400 20 G3/4 8061520 27 826152027 ZS15-01/S20RB-KS 16 32 36 32 42 205 0253
25 G3/4 806152527 8261525 27 ZS15-01/S25RB3/4"-KS 16 41 46 32 47 23 0378
25 G1 806152534 826152534 Z515-01/S25RB-KS 18 41 46 39 47 23 0,465
30 G1 8061530 34 8261530 34  ZS15-01/S30RB1"-KS 18 46 50 39 50 235 0,588
250 30 G1"1/4 806153042 826153042 ZS15-01/S30RB-KS 20 50 50 49 50 235 0,645
38 G1'1/2 806153849 826153849 ZS15-01/S38RB-KS 2 5 60 55 57 26 0,889

* Safety factor 3



Couplings to ISO 8434-1/DIN 2353

Alegris
@

Male-female
C2
reducer adaptors .
F —
E2
BSP parallel EL
E1
elastomer seal
C1
ISO 1179-2 .
PN C1 C2 E Bell code E1 E2 F G L
G3/8 G1/8 80751710 17-123/AR3/8-IR1/8/D 12 8 22 21,9 225 0,040
630 G1/2 G1/8 80752110 17-123/AR1/2-IR1/8/D 14 8 27 26,9 24 0,069
G1/2 G1/4 80752113 17-123/AR1/2-IR1/4/D 14 12 27 26,9 24 0,060
G3/4 G1/4 80752713  17-123/AR3/4-IR1/4/D % 12 32 319 26 0,095
G3/4 G3/8 80752717 17-123/AR3/4-IR3/8/D 16 12 32 31,9 26 0,090
G1 G1/4 80753413 17-123/AR1-IR1/4/D 18 12 41 39,9 29 0,200
400 G1 G3/8 80753417  17-123/AR1-IR3/8/D 18 12 41 399 29 0,180
G1 G1/2 80753421 17-123/AR1-IR1/2/D 18 14 41 39,9 29 0,160
G1"1/4 G1/2 80754221 17-123/AR1 1/4-IR1/2/D 20 14 50 49,9 32 0,310
G1"1/4 G3/4 80754227 17-123/AR1 1/4-IR3/4/D 20 16 50 49,9 32 0,270
G1"1/2 G1/2 80754921 17-123/AR1 1/2-IR1/2/D 22 14 55 54,9 36 0,470
315 G171/2 G3/4 80754927 17-123/AR1 1/2-IR3/4/D 22 16 55 54,9 36 0,430
m G1"1/2 G1 80754934 17-123/AR1 1/2-IR1/D 22 18 55 54,9 36 0,345
C2
Male-female =
F —
reducer adaptors &
- L
BSP parallel ﬁ?‘i
elastomer seal o2 .
ISO 1179-2 21
1
PN C1 c2 & Bell code E1 E2 F Gl G2 L
G1/4 G1/8 80781310 17-122/AR1/4-IR1/8/D 12 12 19 18,9 5 29 0,038
630 G3/8 G1/4 80781713  17-122/AR3/8-IR1/4/D 12 17 22 219 8 36 0,030
G1/2 G3/8 80782117 17-122/AR1/2-IR3/8/D 14 17 27 26,9 12 37 0,098
G3/4 G1/2 80782721 17-122/AR3/4-IR1/2/D 16 20 32 319 16 43 0,145
400 &1 G3/4 80783427 17-122/AR1-IR3/4/D 18 22 41 399 2 47 0,280
G1"1/4 G1 8078 4234 17-122/AR1 1/4-IR1/D 20 245 50 49,9 25 53 0,459
315 G171/2 G1"1/4 80784942 17-122/AR1 1/2-IR1 1/4/D 22 26,5 bbb 549 32 58 0,530
250 G2 G1"1/2 80784849 17-122/AR2-IR11/2/D 24 285 70 689 40 65 0,995




Blegrt ~ Couplings to ISO 8434-1/DIN 2353

Male-female e
increaser adaptors i
E2
BSP parallel Tt
elastomer seal il YEQ
1ISO 1179-2 L
<i>
PN C1 C2 E Bell code E1 E2 F G1 G2 L
G1/8 G1/4 80791013 17-122/AR1/8-IR1/4/D 8 17 19 13,9 4 31 0,036
G1/8 G3/8 80791017 17-122/AR1/8-IR3/8/D 8 17 22 13,9 4 32 0,045
G1/4 G3/8 80791317 17-122/AR1/4-IR3/8/D 12 17 22 18,9 5 36 0,066
630 G1/4 G1/2 80791321 17-122/AR1/4-IR1/2/D 12 20 27 18,9 5 40 0,085
G1/4 G3/4 80791327 17-122/AR1/4-IR3/4/D 12 22 36 18,9 5 43 0,173
G3/8 G1/2 80791721 17-122/AR3/8-IR1/2/D 12 20 27 21,9 8 41 0,090
G3/8 G3/4 80791727 17-122/AR3/8-IR3/4/D 12 22 36 21,9 8 44 0,175
G1/2 G3/4 80792127 17-122/AR1/2-IR3/4/D 14 22 36 26,9 12 46 0,180
G1/2 G1 80792134 17-122/AR1/2-IR1/D 14 245 4 26,9 12 49 0,225
400 G1/2 G1”1/4 80792142 17-122/AR1/2-IR1 1/4/D 14 26,5 bbb 26,9 12 53 0,470
G3/4 G1 8079 27 34  17-122/AR3/4-IR1/D 16 245 4 31,9 16 51 0,235
G3/4 G1"1/4 80792742 17-122/AR3/4-IR1 1/4/D 16 26,5 bbb 31,9 16 55 0,483
G1 G1"1/4 80793442 17-122/AR1-IR1 1/4/D 18 26,5 bbb 399 2 57 0,510 m
G3/4 G1"1/2 80792749 17-122/AR3/4-IR1 1/2/D 16 285 60 31,9 16 57 0,545
315 G1 G1"1/2 80793449 17-122/AR1-IR11/2/D 18 285 60 399 20 59 0,565
G1"1/4 G1"1/2 80794249 17-122/AR1 1/4-IR11/2/D 20 285 60 499 25 60 0,580




Couplings to ISO 8434-1/DIN 2353

Alegris
@

Male-female
C2
reducer adaptors e
F —
E2}
BSP parallel B L
E1
ISO 1179-4 ™
<L>
PN C1 c2 &l Bell code E1 E2 F G L
630 G3/8 G1/8 806517 10 17-123/AR3/8"-IR1/8" 12 8 22 22 225 0,040
G1/2 G1/8 80652110  17-123/AR1/2"-IR1/8" 14 8 27 26 24 0,069
G1/2 G1/4 80652113  17-123/AR1/2"-IR1/4" 14 12 27 26 24 0,060
G3/4 G1/4 806527 13 17-123/AR3/4"-IR1/4" 16 12 32 32 26 0,095
400 G3/4 G3/8 806527 17 17-123/AR3/4"-IR3/8" 16 12 32 32 26 0,090
G1 G1/4 80653413 17-123/AR1"-IR1/4" 18 12 41 39 29 0,200
G1 G3/8 8065 3417 17-123/AR1"-IR3/8" 18 12 41 39 29 0,180
G1 G1/2 8065 3421  17-123/AR1™IR1/2" 18 14 41 39 29 0,160
G1"1/4 G1/2 80654221  17-123/AR1 1/4"-IR1/2" 20 14 50 49 32 0310
G1"1/4 G3/4 8065 4227 17-123/AR1 1/4"-IR3/4" 20 16 50 49 32 0270
250 G1M/2 G1/2 80654921  17-123/AR1 1/2"-IR1/2" 22 14 55 55 36 0470
G1"1/2 G3/4 80654927  17-123/AR1 1/2"-IR3/4" 22 16 55 55 36 0430
m G1"1/2 G1 8065 49 34 17-123/AR1 1/2"-IR1" 22 18 55 55 36 0,345
C2
Male-female =
F —
reducer adaptors &
- L
BSP parallel ﬁ"gi
1SO 1179-4 =
c1
G1
PN C1 & Bell code E1 E2 F G1 G2 L
630 G1/4 G1/8 8068 1310 17-122/AR1/4"IR1/8" 2 12 19 18 5 28 0,036
G3/8 G1/4 8068 17 13 17-122/AR3/8"-IR1/4" 12 17 22 22 8 36 0,030
G1/2 G3/8 8068 2117 17-122/AR1/2"-IR3/8" 14 17 27 2 12 36 0,095
400 G3/4 G1/2 80682721  17-122/AR3/4"-IR1/2" 1620 32 32 16 41 0,150
G1 G3/4 8068 34 27 17-122/AR1™-IR3/4" 18 22 41 39 20 47 0,280
250 G1"/4 &1 8068 4234 17-122/AR1 1/4"IR1" 20 245 50 49 25 52 (0,455
G1"1/2  G1"1/4 8068 4942  17-122/AR1 1/2"-IR1 1/4" 22 265 55 55 32 58 0,530




Blegrs ~ Couplings to ISO 8434-1/DIN 2353

Male-female e
increaser adaptors o
E2
BSP parallel T
sealing O-ring | ﬁJ“I
ISO 1179-4 o2
G1
PN C1 c2 &l Bell code E1 E2 F G1 G2 L
G1/8 G1/4 8069 1013 17-122/AR1/8"IR1/4" 8 17 19 14 4 31 003
G1/8 G3/8 8069 1017 17-122/AR1/8"IR3/8" 8 17 22 14 4 32 0045
630 @1/4 G3/8 8069 1317 17-122/AR1/4"-IR3/8" 12 17 22 18 5 36 0,066
G1/4 G1/2 80691321  17-122/AR1/4™-IR1/2" 12 20 27 18 5 40 0,085
G3/8 G1/2 8069 1721 17-122/AR3/8"-IR1/2" 12 20 27 22 8 41 0,090
G1/4 G3/4 8069 1327  17-122/AR1/4"IR3/4" 12 22 36 18 5 43 0173
G3/8 G3/4 8069 1727 17-122/AR3/8"-IR3/4" 12 2 36 22 8 4 0175
400 @1/2 G3/4 80692127  17-122/AR1/2"-IR3/4" 14 22 36 26 12 46 0,180
G1/2 G1 80692134  17-122/AR1/2"-IR1" 14 245 41 26 12 49 0225
G3/4 G1 8069 27 34 17-122/AR3/4"-IR1" 16 245 41 32 16 51 0,235
G1/2 G1"1/4 80692142  17-122/AR1/2"-IR1 1/4" 14 265 55 26 12 53 0470
G3/4 G1"1/4 8069 27 42 17-122/AR3/4"-IR1 1/4" 16 265 55 32 16 55 0483
250 G3/4 G1"1/2 806927 49 17-122/AR3/4"-IR1 1/2" 16 285 60 32 16 57 0545 m
G1 G1"1/4 8069 34 42  17-122/AR1"-IR1 1/4" 18 265 55 39 20 57 0510
G1 G1"1/2 80693449  17-122/AR1"IR1 1/2" 18 285 60 39 20 59 0565
G1"1/4 G112 8069 4249  17-122/AR1 1/4"IR1 1/2" 20 285 60 49 25 60 0,580




Couplings to ISO 8434-1/DIN 2353 ﬂ . s

Female adaptors o0
iy
BSP parallel
F2
F1 7L1
L2
E
«C .
& _

PN OD C 'f:l:’;' °°“:’i':!;"“° Bell code E F1 F2 U1 L2
6 G1/8  8014L0610 8214L0610 ZS15-24/L6R 12 14 14 3¢ 19 0,025
6 G3/8  8014L0617 8214L0617 ZS15-24/L6R3/8" 12 22 14 36 21 0,053
8 G1/4  8014L0813 8214L0813 ZS15-24/L8R 17 19 17 39 24 0,045
8 G3/8  8014L0817 8214L0817 ZS15-24/L8R3/8" 12 22 17 36 21 0,058
400 M0 G1/4  8014L1013 821411013  ZS15-24/L10R 17 19 19 40 25 0,055
10 G3/8 8014L10 17 8214L1017 ZS15-24/L10R3/8" 12 22 19 36 21 0,057
10 G2 8014L1021 8214L1021 ZS15-24/L10R1/2" 145 27 19 39 24 0,070
L 12 G3/8  8014L1217 821411217 Z515-24/L12R 12 22 2 3 21 0,090
12 G2 8014L1221 821411221 ZS15-24/L12R1/2" 14 27 22 39 24 0,092
15 G1/2  8014L1521 8214L1521 ZS15-24/L15R 20 27 27 46 31 0,130
315 18 G2 8014L1821 8214L1821 ZS15-24/L18R 20 27 32 47 305 0,150
22 G3/4 801412227 821412227 7S15-24/L22R 2 36 36 52 355 0,255
m 28 GI 8014L28 34 8214L28 34  Z515-24/L28R 245 41 41 55 38 0,300
250 35 G1"1/4 801413542 821413542 7S15-24/L35R 265 55 50 63 41 0420
42 G1"/2 301414249 821414249 7S15-24/L42R 285 60 60 65 425 0,605
6 G1/4 801450613 821450613 ZS15-24/S6R 17 19 17 41 26 0,060
8 G1/4 801450813 8214508 13 ZS15-24/S8R 17719 19 41 26 0,065
630 10 G3/8 301451017 821451017 7515-24/S10R 17 24 22 43 265 0,090
12 G3/8 801451217 821451217 ZS15-24/S12R 17 24 24 43 265 0,105
S 14 G2 801451421 821451421 Z515-24/S14R 20 27 27 50 32 0,130
16 G1/2 801451621 821451621 ZS15-24/S16R 20 27 30 50 315 0,160
400 20 G3/4 801452027 821452027 7515-24/S20R 2 36 36 56 345 0,260
% Gl 801452534 8214825 34  Z515-24/S25R 245 41 46 62 315 0400
30 G1"1/4 801453042 821453042 7515-24/S30R 265 55 50 69 42 0,720
315 38 G1"1/2 801453849 821453849 7S15-24/S38R 285 60 60 74 435 0,855




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Female adaptors o0
’4—»
metric parallel i o
2
L - L1
L2
E
-c.
& _
PN OD C 'f):’l:’;' D““E‘;"“e Bell code E F1 F2 U1 L2
6 M10x1 80140660 8214L0660 ZS15-24/L6M 125 14 14 34 195 0,025
8 M12x15 8014L0867 8214L0867 ZS15-24/L8M 17 17 17 39 24 0,040
8 M22x15 80140882 8214L0882 ZS15-24/L8M22X15 12 27 17 35 20 0,068
400 10 M5 8014L1071 8214L1071 ZS15-24/L10M 17 19 19 40 25 0,050
L 10 M22x15 801411082 8214L1082 ZS15-24/L10M22X15 1227 19 36 21 0,074
12 M16x15 8014L1275 8214L1275 ZS15-24/L12M 17 2 2 4 26 0080
12 M22x15 801411282 821411282 ZS15-24/L12M22X15 12 27 22 36 21 0,080
15 M18x15 801411578 82141578 ZS15-24/L15M 17 24 27 43 28 0,100
31518 M2215 80141882 8214L1852 Z515-24/L18M 19 27 32 46 295 0,170
22 M26x15 801412289 821412289 7515-24/L22M 21 32 36 51 345 0,180
6 M12x15 801450667 821450667 ZS15-24/S6M 17 17 17 4 26 0045
8 M14x15 801450871 821450871 Z515-24/S8M 17 19 19 41 26 0,062
630 10 M16x15 801451075 821451075 ZS15-24/S10M 17 22 22 43 265 0,080
S 12 M18x15 801451278 821481278 Z515-24/S12M 17 24 24 44 275 0,105 W
14 M20x15 801451480 821451480 Z7515-24/S14M 19 27 27 49 31 013
16 M22x15 801451682 821451682 Z515-24/S16M 19 27 30 49 305 0185
400 022 801452086 321452086 ZS15-24/520M 22 36 36 56 345 0255




Couplings to ISO 8434-1/DIN 2353

Alegris
@

- - / \
Standpipe couplings dpy w>
for pressure gauge
- C (T_ K|
connection B, e
7 L1
F2 %
o
<] _
PN OD C ';:’l;’;' D"“:’i':!;""e Bell code E F F2 L1 L2 H
6 G1/4 8V34L06 13 8234L06 13 ZS15-23/L6R 145 19 14 37 22 45 0,047
400 8 Gl/4 8V34L08 13 8234L08 13 ZS15-23/L8R 145 19 17 37 22 45 0,054
L 10 G1/4 8V34L10 13 8234L1013 ZS15-23/L10R 145 19 19 38 23 45 0,063
12 Gl/4 8V34L12 13 8234L1213 ZS15-23/L12R 145 19 22 38 23 45 0,070
6 G2 8V34506 21 8234S06 21 ZS15-23/S6R 20 27 17 6 3 5 0,105
S 630 8 G112 8V34S08 21 823450821 ZS15-23/S8R 20 27 19 46 31 5 0,107
10 G1/2 8V3451021 823451021 ZS15-23/S10R 20 27 22 47 305 5 0,125
12 G2 8V34512 21 823451221 ZS15-23/S12R 20 27 24 47 305 b 0,134

Supplied with seal ring



Blegrs ~ Couplings to ISO 8434-1/DIN 2353

S
Standpipe couplings Ny w7
for pressure gauge o e
connection 2 ol

24° sealing cone and O-ring j{\ :

il

@D
c2
PN @D C1 c2 &) Bell code E F1 F2 H L Oring
6 G1/4 M2x15 8514L06 13 14/2-23/L6R-DM 145 19 14 45 365 415 001
8 G1/4 M14x15 8514L08 13 14/2-23/L8R-DM 145 19 17 45 355 6x15 0,016
L 400 10 G4 M16x15 8514L10 13 14/2-23/L10R-DM 145 19 19 45 36  75x15 0,019
12 G4 M18x15 8514L12 13 14/2-23/L12R-DM 145 19 22 45 36 9x1,5 0,025
6 G4 M14x15 8514506 13 14/2-23/S6R1/4"-DM 145 19 17 45 36 4x15 0,016
6 G1/2 M14x15 8514506 21 14/2-23/S6R-DM 20 27 1 5 43 4x15 0,019
8 G4 M16x15 8514508 13 14/2-23/S8R1/4"-DM 145 19 19 45 36 6x15 0,019
S 630 8 G1/2 Mm16x15 8514508 21  14/2-23/S8R-DM 20 2719 5 43 6x15 0,021
10 G1/4 M8x15 8514510 13 14/2-23/S10R1/4"-DM 145 19 22 45 375 75x15 0,025
10 GY2 M18x15 8514510 21 14/2-23/S10R-DM 20 21 22 5 435 75x15 0,028
12 G4 M20x15 851451213 14/2-23/S12R1/4"-DM 145 19 24 45 39 91,5 0,034
12 G1/2 M20x15 851451221 14/2-23/S12R-DM 20 27 24 5 45 9x1,5 0,037

Supplied with seal ring m



&
Couplings to ISO 8434-1/DIN 2353 i

Standpipe couplings p \
for pressure gauge
connection i |

BSP parallel F2 L
pre-assembled ring

PN @D C1 () D"“:’i':;"‘e Bell code E F1 F2 H L

6 GU4  M12x15  8244L0613 ZS15/2-23/L6R 145 19 14 45 38 0,046

L 400 8 G1/4  M14x15  8244L0813 ZS15/2-23/L8R 145 19 17 45 38 0,053
10 G4  M16x15  8244L1013 ZS15/2-23/L10R 145 19 19 45 395 0,062

12 G4  M18x15 824411213 7515/2-23/L12R 145 19 22 45 405 0,070

6 G172 M14x1,5 824450621 ZS15/2-23/S6R 20 27 17 5 45 0,05

S 630—2 G1/2 M16x1,5 8244508 21 7S15/2-23/S8R 20 27 19 5 45 0107
10 GUY2  M18x15 824451021 Z7515/2-23/S10R 20 27 2 5 4 012

12 G2 M20x15 8244581221 Z7515/2-23/S12R 20 27 24 5 475 0134

Supplied with seal ring



B - @
Blegrs ~ Couplings to 1SO 8434-1/DIN 23533

Internal hexagon

head plug .
F
metric parallel 6 c
— L.
L
PB c @] Bell code E F G L Oring
N0xT 80236000 15-34/MOT0X1 95 5 138 135 81x16 0007
M12x15 80236700 15-34/MOT2X15 M 6 168 16 9322 0014
M14x15 80237100 15-34/MOTAX15 M 6 188 16 11322 0020
630 —Migx15 80237500 15-34/MOT6X1 5 125 8 218 175 13322 002
N18x15 80237800 15-34/MOT8X1,5 % 8 238 19 15322 0030
M20x15 80238000 15-34/MO020X1,5 %10 268 19 17322 0041
M22x15 80238200 15-34/M022X1,5 T 10 268 20 19322 0,051
400 V2T 023800 T534/M02IX2 185 12 318 235 23629 0079
M33x2 80239100 15-34/MO33X2 185 17 408 25 29629 0,137
M42x2 80239600 15-34/M042X2 19 22 498 255 386x29 0,19
315 Waex2 80239300 15-34/M048X2 25 24 548 28 Me29 0298




Couplings to ISO 8434-1/DIN 2353

Internal hexagon
head plug

BSP parallel and metric parallel
elastomer seal
ISO 1179-2 and ISO 9974-2

G

Alegris
@

PB c & Bell code E F G L e/
M10x1 80226000  15-34/M10X1 8 5 139 12 0,007

M12x15 80226700  15-34/M12X15 12 6 169 17 0012

M14x15 80227100  15-34/M14X15 12 6 189 17 0017

M16x15 80227500  15-34/M16X15 12 8 219 17 00

400 M18x15 80227800  15-34/M18X1,5 128 239 17 0,031
M20x15 802238000  15-34/M20X15 410 259 19 0,04

M22x15 80228200  15-34/M22X1,5 410 269 19 0,047

M26x15 802238900  15-34/M26X15 6 12 319 21 0075

M27x2 80228600  15-34/M27X2 16 12 319 21 0076

M33x2 80229100 15-34/M33X2 16 17 399 225 0,127

250 Md2x2 80229600  15-34/M42X2 16 2 499 225 0216
M48x2 80229300  15-34/M48X2 16 24 549 225 0,284

G1/8 80221000  15-34/R1/8" 8 5 139 12 0,007

G1/4 80221300  15-34/R1/4" 2 6 189 17 0015

400 G3/8 80221700  15-34/R3/8" 2 8 219 17 002
G1/2 80222100 15-34/R1/2" 410 269 19 0,043

G3/4 80222700  15-34/R3/4" 6 12 319 21 0076

G1 80223400  15-34/R1" 16 17 399 225 0,130

250 G1"1/4 80224200 15-34/R11/4" 16 22 499 225 0210
G1"/2 80224900 15-34/R11/2" 16 24 549 225 0,266




- 2222 2. 00
Blsgrt ~ Couplings to ISO 8434-1/DIN 2353

Plugs for 24° cone

with and without nut

O-ring QD[EEIH

A A

PN @D without nut  Bell code L  O-ing withnut  Bell code

6 8026L06 00 15-370/L6 17,5 4x1,5 0,005 8026L06 01  15-37/L6 0,014

8 8026L08 00  15-370/L8 185  6x1,6 0,008 8026L08 01  15-37/L8 0,022

400 10 8026L10 00  15-370/L10 19 75x1,5 0,013 8026L10 01  15-37/L10 0,033

12 8026L12 00 15-370/L12 19 915 0,018 8026L12 01  15-37/L12 0,043

L 15 8026L15 00 15-370/L15 19,5 12x2 0,027 8026L1501 15-37/L15 0,067

315 18 8026L18 00  15-370/L18 20 15x2 0,038 8026L18 01  15-37/L18 0,098

2 8026L22 00  15-370/L22 205  20x2 0,057 8026L22 01  15-37/L22 0,137

28 8026L28 00  15-370/L28 21 26x2 0,093 8026L28 01  15-37/L28 0,178

250 35 8026L35 00 15-370/L35 235 3225 0,161 8026L35 01 15-37/L35 0,291

42 8026L42 00 15-370/L42 235 38x25 0224 8026L42 01  15-37/L42 0,434

6 8026506 00 15-370/L6 175  4x15 0,005 8026506 01  15-37/S6 0,020

8 8026S08 00 15-370/L8 18,5 6x1,5 0,008 8026S08 01  15-37/S8 0,025

630 10 8026510 00 15-370/L10 19 75x15 0,013 8026510 01  15-37/S10 0,043
12 8026512 00 15-370/L12 19 9x1,5 0,018 8026512 01 15-37/S12 0,053 m

S 14 8026514 00 15-370/S14 20 10x2 0,024 8026514 01 15-37/S14 0,074

16 8026516 00 15-370/S16 20 12x2 0,027 8026516 01  15-37/S16 0,087

400 20 8026520 00 15-370/S20 24 16,3x2,4 0,062 8026520 01  15-37/S20 0,157

25 8026525 00 15-370/S25 25 20,3x2,4 0,093 8026525 01  15-37/S25 0,288

30 8026530 00 15-370/S30 265 253x24 0,133 8026530 01  15-37/S30 0,348

315 38 8026538 00 15-370/S38 285 333x2,4 0,240 8026538 01  15-37/S38 0,550




Alegris
@

Plugs

24° inner cones

PN @D C & Bell code E F L

6 M12x15 802500600 15-360/L6 0 12 14 0,008

8 M14x15 802500800 15-360/L8 0 14 15 0012

400 10 M16x15 802501000 15-360/L10 1M 17 16 0018

12 M18x15 802501200 15-360/L12 1M 19 17 0,025

L 15 M22x15  8025L1500 15-360/L15 12 24 18 0,041
315 18 M26x15 8025L18 00 15-360/L18 12 27 19 0,059

22 M30x2 802502200 15-360/L22 14 32 21 0,087

28 M36x2 80252800 15-360/L28 1“4 22 0143

250 35 M4bx2 802503500 15-360/L35 16 46 25 0,209

42 M52x2 802514200 15-360/L42 6 55 27 0,308

6 M14x15 8025506 00 15-360/S6 12 14 18 0017

8 M16x15 802550800 15-360/S8 12 17 20 0027

m 630 10 M18x15 802551000 15-360/S10 12 19 20 0,033
12 M20x15 802551200 15-360/S12 12 2 22 0049

S 14 M22x15 802551400 15-360/S14 14 24 24 0,063
16 M24x15 8025516 00 15-360/S16 1% 27 24 0077

400 20 M30x2 802552000 15-360/S20 6 32 28 0127

25 M36x2 802552500 15-360/S25 18 41 32 0230

30 M42x2 802553000 15-360/S30 20 46 34 0309

315 38 M52x2 8025538 00 15-360/S38 2 55 39 0510




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Lock nuts
DIN 80705

@D c A Bell code F H
6 M12x1,5 8V00L06 00 15-32/L6 17 6 0,007
8 M14x1,5 8V00L08 00 15-32/L8 19 6 0,008

10 M16x1,5 8V00L10 00 15-32/L10 22 6 0,011

12 M18x1,5 8V00L12 00 15-32/L12 24 6 0,012

L 15 M22x1,5 8VO00L15 00 15-32/L15 30 7 0,023

18 M26x1,5 8V00L18 00 15-32/L18 36 8 0,040

22 M30x2 8V00L22 00 15-32/L22 41 8 0,049

28 M36x2 8V00L28 00 15-32/L28 46 9 0,062

35 M45x2 8V00L35 00 15-32/L35 55 9 0,077

42 M52x2 8V00L42 00 15-32/L42 65 10 0,112
6 M14x1,5 8V00L08 00 15-32/L8 19 6 0,008
8 M16x1,5 8V00L10 00 15-32/L10 22 6 0,011

10 M18x1,5 8V00L12 00 15-32/L12 24 6 0,012 m

12 M20x1,5 8V00S12 00 15-32/S12 27 6 0,016

S 14 M22x1,5 8V00L15 00 15-32/L15 30 7 0,023

16 M24x1,5 8V00S16 00 15-32/S16 32 7 0,025

20 M30x2 8V00L22 00 15-32/L22 41 8 0,049

25 M36x2 8V00L28 00 15-32/L28 46 9 0,062

30 M42x2 8V00S30 00 15-32/S30 50 9 0,060

38 M52x2 8V00L42 00 15-32/L42 65 10 0,112




& s
Couplings to ISO 8434-1/DIN 2353 i

Reinforcing rings
for tubes

o0.d. x thickness A Bell code Gl G2 L
6x1 8027 06 04 MS15-007/6X1 2,6 38 155 0,008

8x1 8027 08 06 MS15-007/8X1 46 58 155 0,013

10x1,5 8027 10 07 MS15-007/10X1,5 5,6 68 17 0,017

10x1 8027 10 08 MS15-007/10X1 6,6 78 165 0,019

12x1,5 8027 1209 MS15-007/12X1,5 7,6 88 165 0,022

12x1 8027 1210 MS15-007/12X1 8,6 98 165 0,023

15x1,5 8027 1512 MS15-007/15X1,5 102 18 17 0,039

15x1 8027 1513 MS15-007/15X1 112 128 17 0,041

18x1,5 8027 1815 MS15-007/18X1,5 132 148 175 0,052

18x1 8027 1816 MS15-007/18X1 142 158 175 0,058

20x1 8027 20 18  MS15-007/20X1 162 178 22 0,080

22x1,5 80272219 MS15-007/22X1,5 172 188 18 0,069

m 28x2 8027 2824 MS15-007/28X2 222 238 18 0,088
28x1,5 8027 2825 MS15-007/28X1,5 232 248 18 0,092

Thin wall tube, generally used for low pressure, should be assembled using reinforcing rings in order to ensure reliable connection. Normally,
this is also the case for nonferrous metal tubes, such as copper, brass and aluminium.

Assembly

Insert a reinforcing ring into the tube up to the knurled collar. Drive the

reinforcing ring completely in by means of a hammer (plastic or hard 1
rubber). The knurled collar is then pressed into the inner wall of the

tube and secures the reinforcing ring, preventing displacement or loss.




Blegris ~ Couplings to ISO 8434-1/DIN 2353

O-rings for
for adjustable banjos
and weld nipples

s ]

@D &) Bell code D1 D2

6 8W00 06 15 14-004/6X1,5 6 15

7 8W00 07 15 14-004/7,5X1,5 15 15

9 8W00 09 15 14-004/9X1,5 9 15
10 8W00 10 20 14-004/10X2 10 2
12 8W00 1220 14-004/12X2 12 2
16 8W00 16 24 14-004/16,3X2,4 16,3 24
20 8W0020 24 14-004/20,3X2.4 20,3 24
25 8W00 25 24 14-004/25,3X2,4 253 24
33 8W00 33 24 14-004/33,3X2,4 33,3 24
31 8W0037 10 14-004/37X1 37 1
38 8W00 38 25 14-004/38X2,5 38 25
42 8W00 42 25 14-004/42X2,5 42 25
44 8W00 44 25 14-004/44X2,5 44 25
46 8W00 46 30 14-004/46X3 46 3

FPM available upon request

Storage conditions

Couplings with elastomer seals must be stocked in keeping with the DIN 7716 standard. Components must be stored
in a cool place -maxi temperature of 25°C-, dry and free of dust. They must also be protected from direct exposure to
sunlight, intense artificial electric light and ozone.




Couplings to ISO 8434-1/DIN 2353 i

O-rings
for threaded fittings

for metric thread 1SO 6149-2 and 1SO 261

ISO 6149 - 2 and 3
c & Bell code D1 D2
Msx1 8W00 06 16 14-004/6,1X1,6 610 160
M10x1 8W00 0816 14-004/8,1X1,6 810 160
M12x1,5 8W00 0922 14-004/9,3X2,2 930 220
M14x1,5 8W00 1122 14-004/11,3X2,2 1130 2,20 C
M16x1,5 8W00 1322 14-004/13,3X2,2 1330 2,20
M18x1,5 8W00 1522 14-004/15,3X2,2 1530 2,20
M20x1,5 8W00 1722 14-004/17,3X2,2 1730 2,20 IS0 261
M22x1,5 8W00 1922 14-004/19,3X2,2 1930 2,20
M26x1,5 8W00 2328 14-004/22,7X2,8 22,70 2,80
M27x2 8W002429 14-004/23,6X2,9 2360 2,90
m M33x2 8W0030 29 14-004/29,6X2,9 2960 2,90
M42x2 8W003929 14-004/38,6X2,9 3860 2,90
M48x2 8W00 4529 114-004/44,6X2,9 460 2,90 <—JC
for UN/UNF thread 1SO 11926-1
1SO 11926 - 1
c A Bell code D1 D2
7/16"20 UNF W00 09 18 14-004/8,92X1,83 892 183

1/2"-20 UNF 8W00 10 18 14-004/10,52X1,83 10,52 1,83
9/16"-18 UNF 8W00 1219 14-004/11,89X1,98 11,89 1,98
3/4"-16 UNF 8W00 16 22 14-004/16,36X2,2 16,36 2,20

7/8"-14 UNF 8W00 1925 14-004/19,18X2,46 19,18 2,46 C
11/16"-12 UN 8W00 23 26 14-004/23,47X2,62 2347 2,62
15/16"-12 UN 8W00 30 30 14-004/29,74X2,95 29,74 2,95

15/8"-12 UN 8W00 37 30 14-004/37,47X3 3747 3,00
17/8"-12 UN 8W00 44 30 14-004/43,69X3 43,69 3,00

for BSP thread 150 1179-3

c A Bell code D1 D2 IS0 1179-3
G1/8A 8W00 08 16 14-004/8,1X1,6 810 160
G1/4A 8W00 1122 14-004/11,3X2,2 1132 220
G3/8A 8W00 1426 14-004/13,94X2,62 1394 2,62
G1/2A 8W00 18 26 14-004/17,86X2,62 1786 2,62
G3/4A 8W0023 26 14-004/23,47X2,62 2347 262
G1A 8W00 3035 14-004/29,74X3,53 2974 353 «C ,
G11/4A 8W00 38 35 14-004/37,7X3,53 3770 353
G11/2A 8W00 44 35 14-004/44,04X3,53 4404 353




Blegris ~ Couplings to ISO 8434-1/DIN 2353

Captive seals
for BSP and metric threads

F—,
1
D2

for thread & Bell code D D1 D2
M8x1 8W0156 00 15-004/6,5X9,9 1 99 65
M10x1 G1/8 8W016000 15-004/8,4X11,9 1 119 84
M12x1,5 8W016700 15-004/9,8X14,4 15 144 98
M14x15  G1/4 8W017100 15-004/11,6X16,5 15 165 11,6
M16x1,5 8W017500 15-004/13,8X18,9 15 189 138

G3/8 8W0117 00 15-004/14,7X18,9 15 189 147
M18x1,5 8W017800 15-004/15,7%X20,9 15 209 157
M20x1,5 8W018000 15-004/17,8X22,9 15 229 178

G1/2 8W012100 15-004/18,5X23,9 15 239 185
M22x1,5 8W018200 15-004/19,6X24,3 15 243 196
M26x15  G3/4 8W0189 00 15-004/23,9%29,2 15 292 239
M27x2 8W018900 15-004/23,9X29,2 15 292 239
M33x2 G1A 8W019100 15-004/29,7X35,7 2 357 297
M42x2 G1"1/4 8W0196 00 15-004/38,8X45,8 2 458 388 W
M48x2 G1"1/2 8W0198 00 15-004/44,7X50,7 2 507 447

FPM available upon request

Storage conditions

Couplings with elastomer seals must be stocked in keeping with the DIN 7716 standard. Components must be stored
in a cool place -maxi temperature of 25°C-, dry and free of dust. They must also be protected from direct exposure to
sunlight, intense artificial electric light and ozone..




Couplings to ISO 8434-1/DIN 2353 Blegris

Metal seal rings
for banjo couplings

5
D2

for thread & Bell code D1 D2 K
M10x1 G1/8 8W02 60 00 15/1-093/M10X1 4 10 4
M12x1,5 8W02 67 00 15/1-093/M12X1,5 17 12 5
M14x1,5 8W02 71 00 15/1-093/M14X1,5 19 14 5
M16x1,5 8W02 75 00 15/1-093/M16X1,5 21 16 5
M18x1,5 8W02 78 00 15/1-093/M18X1,5 23 18 5
M20x1,5 8W02 80 00 15/1-093/M20X1,5 2% 2 5
M22x1,5 802 82 00 15/1-093/M22X1,5 27 2 5
M26x1,5 8W02 89 00 15/1-093/M26X1,5 312 5
M27x2 8W02 86 00 15/1-093/M27X2 2 2 55
M33x2 8W02 91 00 15/1-093/M33X2 39 33 7

M42x2 G1"1/4 8W02 96 00 15/1-093/M42X2 9 2
M48x2 G1"1/2 8W02 98 00 15/1-093/M48X2 55 48 7
m G1/4 8W02 13 00 15/1-093/R1/4" 18 132 5
G3/8 8W02 17 00 15/1-093/R3/8" 22 168 5
G1/2 8W02 21 00 15/1-093/R1/2" % 2N 55
G172 8W02 2101 15/1-093/R1/2"S01 265 21 55
G3/4 8W02 27 00 15/1-093/R3/4" 32 25 55
G1 8W02 34 00 15/1-093/R1" 39 333 7




Blegrt ~ Couplings to SO 8434-1/DIN 2353

Composite seals

for adjustable banjos D3

for BSP and metric thread ! | K
! D2
D1

for thread A Bell code D1 D2 D3 K1 K2
M10x1 G1/8 8W03 60 00 _15/3-074/M10x1 149 10 18 4 15
M12x1,5 8W03 67 00 15/3-074/M12x1,5 179 12 22 5 2
M14x1,5 8W03 71 00 _15/3-074/M14x1,5 199 14 23 5 2
M16x1,5 8W03 75 00 15/3-074/M16x1,5 219 16 27 5 2
M18x1,5 8W03 78 00 _15/3-074/M18x1,5 229 18 28 5 25
M20x1,5 8W03 80 00 15/3-074/M20x1,5 %9 20 31 5 25
M22x1,5 8W03 82 00 15/3-074/M22x1,5 279 2 33 5 3
M26x1,5 8W03 89 00 _15/3-074/M26x1,5 31,9 2% 39 5 3
M27x2 8W03 86 00 15/3-074/M27x2 329 27 41 55 3
M33x2 G1 8W03 91 00 15/3-074/M33x2 399 333 46 71 3
M42x2 G1"1/4 8W03 96 00 15/3-074/M42x2 499 42 57 7 3
M48x2 G1"/2 8W03 98 00 _15/3-074/M48x2 559 48 64 7 3

G1/4 8W03 13 00 15/3-074/R1/4" 189 132 22 5 2 m

G3/8 8W03 17 00 15/3-074/R3/8" 29 167 27 5 25

G1/2 8W03 21 00 15/3-074/R1/2" 269 21 33 55 3

G3/4 8W03 27 00 15/3-074/R3/4" 329 265 41 55 3

Material : Steel/PTFE



